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1 [ 1) o 7 A4 HL 8 ) ) 1 e ol 3k v 4 ) 10KV R KI5 2% 1762.8 1732 w7, el (e o) w . el () /42 R4, B . R (e rh) B 7S, R () /814
2 ] 9 g 75 FL A ) ] o0 7 7 1l 4 B L e A ) 10KV IR G £k9 12K 5t 2k 4869. 6 5975. 4 7S, Sk i) w70, el Clekg) /42574, B 78, L sl Cleih) /#1328
3 ] g 75 FL A D ] o0 i 7 1l B B A 10KV 26 K5k 4680. 3 7049. 2 7S, S ik i) w70, il Clekd) /#2578, B 78, L sl Cleih) /#1324
4 ] 1 g 75 P A D ] o i 7 1l 4 B L e A ] LOKV g P 2k K hitt 2k 4430.8 6183.2 BE7S. JedEh Ol i) w70, el Clekd) /4274, B 76, L e sl Cleih) /#1364
5 [ 1) i 7 A3 HL 8 ) FE ] 1) e 7 kv 4 ) N ZEEE PN 2485.5 2598 7S, ek () B FS. ek (el ) /#2348, e e (W) /#1328
6 1) o 7 A3 HiL 8 ) ) [ e vl ik v 4 ) URPIA S N2 1523.9 1732 7S, ek () B AS. ek () /#2348, A el () /#1324
7 ] 1 g 75 FL A ) ] o0 7 7 1l 3 B A ] 10KVt 28 KAtk 5297.8 7049. 2 F7E. Sk i) w70, ikl Clekg) /4257, B 78, L sl Cleih) /#1328
8 ] I g 75 (P A D ] o0 i 7 1l B B A 10KV K2k K5k 5390. 6 7049. 2 7S, Sk i) w70, il Clekg) /#2574, B 78, L sl Cleih) /#1324
9 ] o0 i 78 kLA ] T o i e 7l L 8 ) LOKV I 3752k KMtk 1358. 1 1732 FIFS. ek (e P RE A, s () /#2578, B AS. el (el o) mE . s (e o) /#1248
10 [ 1) i 7 A4 HL 8 ) FE ) 1) e 7l kv 4 ) 10KV TGk K2k 3590.5 3464 m7. ek (e o) B . e () /42 48, BT, R (e b BE 7S, R (e ) /814
11 I g 75 FL A D ] 0 i 7 Tl B B L A 10KV S 2 K5t 2 2771.4 3810. 1 7S, S i) v 0. ikl Cleik) /#2148, v 7n. Ju il QR i) v 75, IRkl O sh) /#1124
12 ] ) g 7 A4 HL 8 ) ] o g 4 L ik A 7 10k VB AR £k 8525 9058. 4 7. K R 7S, KA /82 AR, B A KAl e A R A vl /43 AR
13 ] o0 7 78 kL A ] ] o e S L L 10K VR 2k 4872.2 4953.5 FIFE. RERIC TR 7S, R sk /2 78, 7S, R BRI TE I 78, Kokl b/ 43 148
14 ] o0 7 75k L ] ] o e S L L ] 10KV K 2k 4405.3 4953.5 FIFS. RERIG T 7S, R sk /278, 7S, R BRI T 78, Kokl b/ 43 48
15 ] o0 i 75 L L A ] ] o e S L L 10KV, T-PU 2 7915.3 7742 FIFE. RERIR BRI TS, Rk /42 78, 7S, R BRI S 78, Kokl b/ 43 148
16 ] o0 7 78 L L A ] ] o e S L e A ] 10kVE; T =2k 8195. 1 9058. 4 B 7S KRB B P 78, R BRI /22 1A%, P . R S04l w78, R S04 /83 32 48
17 [ ) g 7 A4 HL 8 ) ] o g 4 L ik A ) 10kVE,L T 11 2k 7724.2 7742 7. KA R 7S, KA /82 AR, B A, KAl R A R A /43 AR
18 ] o0 7 75 Rk L ] ] o e S L L ] 10kVEL T T £ 9956.5 9058. 4 FIFE. RERIR TR 70. R sk /2 178, 7S, R BRI SE I 78, Rkl b/ 43 1748
19 ] o0 7 75 L L ] ] X A Bz L A L A D 10KV B 2 0 6529. 6 35KV A Ll g 75, R (X Blg) /#1148
20 ] o0 i 78 L LA ] X A Bz L Al L A D 10KV 4 2k 0 6529. 6 35KV A L ol g 75, A (X BlE) /#1 14
21 ] 0 i 78 L L A ] ] o 43¢ g L e 0 ] 10K VA 52 2 0 6529. 6 35KV 2% st R 78, AN (B Ble) /#1328
22 [ ) g 7 A4 HL 8 ) ] 1 e vl 3k v 4 ) 10kVIg K2k 5223. 68 6529. 6 35KV A NS )/ 14 32 AR
23 ] 1 g 75 FL A ) P L B A ] 10KV 2 2 4907.7 4936.2 FIFS. Bk CEF L) REFS. BTl G L) /#2078, 7S, B il G 1) R 70, 9 i (L) /#1278
24 ] 1 g 75 FL A D P L B AR LOKVEE L K5t 4196. 4 4936.2 FIFE. Bk CE L) REFS. 3Tl G L) /#2728, 7S, B it G 1) R 78, 9l (G L) /#1248
25 ] 1 g 75 P A D Y L L AR TOKVEE 2 K5k 47217 4936.2 FFE. Bk CEF L) REFS. B il G L) /#2728, 7S, B ity G o) R 8. B i G L) /#1248
26 I 78 FL A D Y L B A 10K V% K 2k K12k 2476 3031 FFS. ik CEF L) RE 7S, BTl G L) /#2578, RIS, B it G o) R 70, B oo (L) /#1248
27 I g 75 H A D R L L AR TOK VS X2k KL 4805.9 4936.2 FAS. Bk CEF L) REFS. BTl G L) /#2578, 7S, B il G o) 0. i (L) /81 2
28 ] 1 g 75 4 FL A ) P L B A ] 10k VEE I 28 K5t 4412.9 4936.2 FFS. Bk CEF L) REFS. BTl G L) /#2788, 7S, B il G o) R 78, 9 i (G5 L) /#1278
29 ] o0 7 75 kLA ] ] o0 7 7 1l e P L A 10KV Iy BR2E KL 5772.3 6062 A G B TS, AL k8 1A, M AS. A R A L /a2 A
30 ] 1 g 75 FL A D ] o0 i 7 1l e P L A ] 10KV 5h 1y 2 K5 4976.3 6062 FIFS. L E R TS, AL k81 1A, M AS. A R AL L /a2 A
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31 il 4 g 75 A4 FL A D ] 4 i 7 11 e P L 24 ) 10KV FF 26 KA EL 4k 6204 8600 70, ke e, b Dk #2dA
32 ] o0 7 78 Rk L ] ] o0 i 7 1l e P L A ) 10kV ) 2 28 K5t 4k 5300. 6 6062 A L R TS, A Dk /81 1A, M AS. A . L /a2 A
33 ] 4 g 75 FL A D P L B AR 10KV B2k K Ik 4k 7186.5 7707. 4 FIFS. Tl CE L) R FS. T G ) /81 2
34 ] 1 g 75 P A D P L L AR 10KV b2k K5k %k 3862. 7 4936.2 FFS. Tl CE L) R 7S, T G ) /#1 E%
35 [E PR R FE LA w0 S A L 2 R H e L1OKV AU 28 K152k S 8950. 96 11188.7 110KV J 1Lt/ 14347, 110kV 5 J 1Lt/ 28348
36 [ P g e LA E] | 0 e 7 R L DR A s 10KV #A 28 KI5k % 8951 11188.7 7. WOl a2 AR, B R A
37 e /A N W 2 /A 197 R A S 10KV = 2k Kk S 8950. 96 11188.7 110KV 1Lt/ 1447, 110kV 5 1Lt/ 283 4%
38 R FE LA R | FE 0 A L 2 R B H e 10KV B — 2k Rk o 8951 11188.7 T, Tl 2 A, B A, R L AR
39 R FE AL A R FE 0 A L 2 AR A H e 0KV ol — 2 KLk 4k 8950. 96 11188.7 TIOKVTF e 1lisli/ 18 E4F, 110KV 2 1L/ 285 4
40 R A ] ) g 7 71 5 B e 2 ) 10KV IR 2 K2k S 8860. 6 11188.7 7S Wl a2 AR, B R A
41 B MRS AT | R 7S A A RSP A e e 10KV 7 2k KLk 4k 8950. 96 11188.7 110KV 1L 3t/ 18345, 110V 1L 3/ 28148
42 R FE LA R | FE 0 S A L 2 R R L e 10KV — 2k KLk S 9713.9 11188.7 AT, Tl 2 A, TS, R L AR
43 ] Y g 75 FL A D Y L AR 10KV P 28 K524 4k 3949 4936.2 FIFS. Tl CE L) R FS. T G ) /81 2%
44 R FE AL AR FE R A L 2 R H e 10KV ik K2k o 10306. 6 11188.7 T, Tl 2 A, B A, TR L AR
45 [ P pE e g A E] | 0 i 7 L E DR A 10KV 7] 28 K1k 4 8951 11188.7 7S Wl a2 AR, B R A
46 [ R e LA E] | 0 e 7 R L E D A 10KV 7] — 2k K1k 4 8951 11188.7 7. WOl a2 AR, B R A
47 ] o 7 78k HL 4 ] o0 7 1Ly L e A ] 10KV X2k KR 4k 4641.8 5802. 2 AT, TR CE L) P T, ik G L) /813278
48 R FE LA R | FE R A L 2 AR R f e 10KV — 28 KLk 53 9157.2 11188.7 . WL A, B A, R L AR
49 ] I 75 FL A D P L AR LOKVEFARZE KR 4k 3949 4936.2 FFS. Tl CE L) R AS. T A G ) /41 2%
50 I g 75 FL A D ] o i e 7l HhL 2 TOK VIR 15 2k K 1tk 4k 3399. 6 3464 78, MRSt (i ) w70, Rl (i o) /#1248, P 7. RSk st (g o) 9 78 R Sk et (g o) /823248
51 i I g 75 L A D ] o i e vl 1 e 2 10KV & 26 K5t %k 1926 1732 78, MRSt (i o) o 7. Rl (i o) /41 A%, 1 . R Sk sl (i o) i 7. R SR et (g o) /23248
52 ] 1 7 75 A4 FL A ) ] o i v 7l HhL 2 ] L1OK VIR 2k KA ER %k 1917.7 1732 FFS. R sk (e P I 78, R Ml (R ) /41 278, . MR il (il o) R 7. W vkt (il o) /23248
53 ] I g 75 FL A D ] o i e 7l L ] LOKVEAFE 2 K5t 4k 1543. 1 1732 FFS. MR ek (e P R 78, R Ml (e ) /#1278, R . MR il (il o) R 78 Wit (il o) /23248
54 ] 0 7 75 kL A ] ] X A Bz L A L A D 10KVB4% 2k AN 0 8781.2 VU1 ASCBIE DY 11 A Bl / A %, DU 11 ARz DY 1. A Bl / 2878 5%
55 ] o0 i 78 kL A ] ] o 43¢ g L bt 0 ] 10KV 45 2% AN 0 8781.2 VU AR DY 11 Al / 38 8%, DU 1T ASCBRz DY 1. A Bl / 2878 9%
56 ] o0 7 78 L L A ] ] o 43¢ Bl L e 2 ] 10KV Jfi 2k AN 0 11171. 4 G AR DU 11 ASC Bl / A %, DU 11 ARz DG 1. A Bl / 28728 s 5%
57 ] o] i 7 HL 4 ] T o 43¢ g L it 8 ] 10k VB i £k 4 0 11171. 4 U1 AR DU 11 A Bl / A FE 4%, DU 11 SRz G )11, A Bl / 287 s %
58 ] o0 7 7 Rk L ] ] X A Bz A3 L A D 10KkVBz K 2k AN 0 111714 O ASCBIE DY 11 A Bl / LA %, DU 11 SRz DG )11 A Bl / 287 i %
59 ] o0 7 75k L 4 ] ] X A Bz L A L A D 10KV S 2% AN 0 8781.2 VU ASCBIE DY 11 A Bl / A %, DU 1T ARz DY 1. A Bl / 28748 S 5%
60 ] o0 i 75 L L A ] ] X A Bz L Al L A D 10KVl bk 2k AN 0 11743 U1 ASCBIE DY 11 A Bl / A %, DU 11 ASCBlz DG )11 A Bl / 28748 %
61 ] 0 7 78 L L A ] o 43¢ g L e 0 ] 10K VBA= 2k AN 0 11743 G AR DU 11 Al / A %, DU 11 ARz DG )11, A Bl / 2874 s 5%
62 ] o] i 78 kL 4 ] ] o 43¢ g L et 28 ) 10KV HF2k AN 0 8365. 6 U1 ASCBIE DU 11 A Bl / LA %, DU 11 ARz G )11 A Bl / 287 i 4%
63 ] o0 7 78k L 2 ] il X A Bz A3 L A ) 10k VB 7= 2k AN 0 11240. 7 U1 ASCBIZ DY 11 A Bl / LA FE %, DU 11 ARz G )11, A Bl / 2878 i %
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64 il 4 g 75 A4 FL A D ] 0 i 7 1l e P L A LTOKVI T4k KAk 4k 3399.9 9560. 6 FFS. BT SRS, Sl 1k /82 1A, M AS. R T R A e /81 3
65 ] o0 7 78 Rk L ] ] o0 i 7 1l e P L A ) LOKVI 42k KAk 4 3399.9 9560. 6 2B AREY = b A AR VR S N2 W A B D B A R D
66 ] o0 i 78 kL ] ] o0 7 7 117 e P AL L A ] LOKVITRRZE KA 4k 3399.9 9560. 6 FIFS. BT ISR TS, Sl 1k /82 1A, M FS. R IR 7. JE 10/ 81324
67 ] 1 g 75 P A D ] P g 78 Tl e PR A 10KV THE 2 K5k 4 3399.9 9560. 6 BN AREY b A ARV S N2 W A B D E o A R DLV o
68 ] ) o 7 A3 HL 8 ) o 5 Bl B ik v A ) 10KV TF 2k & 6536. 6 10374. 7 TTOKVE T3/ 14728 FR %, 110KV EE [ T3t/ 24738 [ 2%
69 [ ) g 7 A3 HL 8 ) FE o 3 Bl ik v 4 ) 1OKVI T3 2k 53 8257.2 10374.7 TTOKVE [ ]3li/ 14748 FR 2%, 110KV )3k / 24748 [ 7%
70 ] o0 7 78k L ] ] o0 i 7 1l e P L A ) 10KV TYL 26 Kk 4k 3399.9 6062 2B AREY b A AR VYR S N W A W D B A R D '
71 ] 1 g 75 FL A D ] o0 7 7 117 e P AL L A ] 10KV THR 2 KLk 4k 3399.9 7153.2 FIFS. BT ISR TS, Sl 1k /82 1A, M FS. R TR 7. JE 18/ 813248
72 ] 1 g 75 FL A D ] 1 g 78 Tl e PR A 10KV T4 2 KI5k 4 3399.9 9560. 6 BN AREY= b A ARV S N2 W A B D B A R DL
73 il I g 75 FL A D ] o0 7 7 1l e P L A L1OKVI] 2k K32k 4k 3399.9 5456 BN AREYF A ARV VR S N W A B D B A R DLV E o
74 g 75 H A D ] o0 i 7 1l e P L A LOKVI T FhER KSR 4 3399.9 9560. 6 FIAS. BT BRI FE. Sl 1k /82 1A, M AS. I R A, R /81 34
75 ] 4 g 75 4 FL A ) ] o0 7 7 1l e P AL L A ] 10KV el 2k Ktk 4 3399.9 9560. 6 2B AREY = A ARV S N W A B D B A R D
76 ] Y g 75 FL A D ] o0 7 7 117 e P L A 10KV el =2k KAtk 4k 3399.9 11777.6 BN AREY = A ARV S N2 W A B D B A R D
i [ ) g 7 A4 HL 8 ) o 5 Bl S ik v 4 ) 10KVITTM% 2% s 8299.8 10374.7 L1OKVIEE ["J3t/ 1878 FE 2%, 110KV B "]t/ 28748 R 4%
78 [ ) i 7 A4 HL 8 ) o 3 Bl ik v 4 ) 10KVIT% 2k & 8299.8 10374. 7 TTOKVEE T3/ 14748 FE 2%, 110KV EE T3k / 2478 [ 2%
79 [ ) o 7 A3 HiL 8 ) ] 9 7 7 1 e PP AR el 4 ) 10kVK LR (FE7R) KLk 53 5520. 7 6062 70, IR 7S KR /1 AR, B KRR 7S K AR /2 A
80 ] o 7 78k HL 4 ] ] o0 7 7 1l e P L A ] 10KV BB 2k K132k %k 5139. 2 6062 A KRB TS, K Rk /81 1A, B 7S, K AR R AT, K Rt/ 42 1248
81 ] o0 7 78 Rk L A ] ] o0 7 7 1l e P AL L A L1OKVK 228 K3k 4k 4308.6 6062 A, KRB TS, K Rl /#1 1A, M 7S, K AR R 7T, K ARt/ 82 1248
82 ] I 75 FL A D ] 1 i 7 117 e AL L A ] 10KV AR 26 K5k 4k 5150. 1 5456 FIFS. KRB TS, KRk /81 1A, B 7S, K AR R AT, K ARt/ 82 324
83 I g 75 FL A D o 3 e L L A ] 10K VAR K28 K12k %k 4422.6 5386.5 FIFS. H DR G ) 70, B G 42) /42 1A%, B Tn. 4 bR G 20) FE TE. B G 20) /#1174
84 i I g 75 L A D ] o 3 2 EL L L A ] 10k VAR R 26 Kk %k 4969. 1 5386.5 P 7S, DR G ) v 0. B G 42) /H2 1R, P . 4 bR G 22) M G, B G 20) /#1124
85 ] 1 7 75 A4 FL A ) ] o 3 2 EL I L A ] LOKVAR T 28 K5tk %k 4904 5975. 4 FFS. Rk (G 22) FE TS, M DR G ) /#2178, MIAS. DRl G 20) rE 70, # DR ok (R %0) /#1748
86 ] I g 75 FL A D ] o 3 2 EL L A ] 10K VA Bf 26 KR 4k 5058. 7 5975. 4 FIFS. Rk (G 22) R TS, B DRI G ) /#2178, MIAS. DR G 20) rE 0. H D (R %0) /#1148
87 ] 1 g 75 FL A D ] o 2 e EL L ] LTOK VA [ 28 K hitt 2k 4k 5276.7 5386.5 FIFS. H Rk (G 2) M TS, M DR G ) /#2578, MIFS. DRl G 2) rE 0. # DTk (R 20) /#1248
88 I g 78 FL A D o 3 e L L A ] 10K VA s 2 4k 8504. 9 9578 FIFS. H bRk G i) B 70, B G 4e) /H2 1A%, P Tn. 4 bR G 20) FE C. B G 20) /#1148
89 A 78 FL A D ] o e S L el A ] 10KV B4k 4 2493.9 3031 FFE. PO (FE ) #E 70, P Oh il (R ) / # 1278, M 0. kMt (REH0) I 75. kbt (RE36) / #2348
90 ] o] i 7 HL 4 ] ] o e 0 L L A ] 10KV FE 2% 4k 4529.6 4953.5 P A kB (F ) 70, Bk Oh Il (R ) / # 1278, 0. kMhalionk (RE¥0) w75 kot (R 8) / # 23248
91 ] o0 7 7 Rk L ] ] o e S L L ) 10KV 24 # 2193.1 1974.5 FAFE. POl (7 0 R 70, B Oh il (R ) / # 1278, M 70, kMhdliok (REH0) M 75, Ekiholug (Ra 6) / #2348
92 ] 1 g 75 FL A D ] o e S L L 10KVt 2k 4k 3909. 6 3031 FFE. POl (7 0) HE 7S, e Oh il (R ) / # 12748, M TG, kMt (REH0) mI 75, kihdliog (R 38) / #23:4%
93 ] 1 g 75 P A D ] o0 i 7 1l B B L L A ] 10KV o 2k K5k AN 0 7049. 2 FIFE. Rk GEPR) RE 7S, &R (RadP) /#1278, B 7S, SRl (Radh) mE 78, & Xl (R PP /#2248
94 il I g 75 FL A D ] o 3 2 EL L L ] 10KV 6 2 K15 2% %k 5254.5 5975. 4 FIFS. iRk ) B 0. iRl GE%) /42148, P70, iRl %) 7S, SR GE2) /#1 1%
95 il 4 g 75 A4 FL A D ] o i e vl HhL 2 ] 10KV T 28 KA %k 3031.8 3637.2 FAS. BHEE (e b)) R 7S, S () /#1278, M 7S, st (Tl o) mE e, s (el o) /#2248
96 ] 1 7 75 P A D ] o i 0 L A L ] 10KV 2L R IER 4k 3828.8 4953.5 FIFE. Bk (P 0 FE 70, Pl () /#1728, 7S, $E Gl (R 0) R 0. B (R ) /#2274
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97 il 4 g 75 A4 FL A D ] o i 7 1l A Bk A ] 10KV #2k91 1R 15tk AN 0 2078. 1 FIAS. ARk (e PP) R 78, &R (R dP) /#1278, M 7S, Rl (RadP) mE 0. 4 Rl (R o) /#2248
98 ] 1 g 75 FL A ) ] o i e 7l L ] 10KV & 2k K5t 4k 1697. 6 1732 FIFS. SHEE (6 P FE 7S, S 30 () /#1278, B 7S, G st (Tl o) rE 78, sk (e o) /#2248
99 ] 4 g 75 FL A D ] o e S L L 10KV P4 2k K5k 4k 2858.5 3031 FIFE. Bk (P 0) R 70, P Al () /#1278, I 7S, 30 Gl (R 0) I 0. 3o (R 6) /#2248
100 ] 1 g 75 P A D ] o i e 7l L 2 ) 10KV 8 2k K5k 4k 3160. 6 3464 FFE. SHEE (e P REFS. Sl (el o) /#1278, B 7S, S8t (Tl o) mE 78, s (e o) /#2248
101 s I 78 FL A D ] o 3 2 EL L L A ] 10KV A7 2k913 K 151k 4k 5316. 4 5975. 4 A BiRE GE2) M 70, SIR U GE) /42178, M. SRl GE20) 0. G iRl (%) /#1174
102 g 75 H A D ] 0 i 7 Tl B B A 10KV 1 28 KR AN 0 7049. 2 FIAS. ARk (R PR) #E 70, &R (R ) /#1278, M 7S, SRl (R ) mE 0. 4 Rk (R /#2248
103 ] 1 g 75 4 FL A ) ] o i e 7l L ] 10k V4 B2k KAk %k 2724.9 2598 FFS. SHEE (e P RE 7S, S 30 () /#1278, B 7S, G sit (Tl o) rE 78, s (e o) /#2248
104 ] 1 g 75 FL A D ] o 2 o EL L ] 10KV IR 26 KR 4k 3129.8 3654.5 FIFS. SRk G2 M TS, IR U Gae) /2178, M AS. SRl G20 0. &Ik (%) /#1174
105 ] 1 g 75 FL A D ] o e S L L ) 10KV I 2k KMtk 4k 3326.6 3031 FIFE. Bk (P ) FE 7S, Pl (R 0) /#1578, M 7S, $4 Gli (R D) R 0. B4t (R 36) /#2274
106 R A FE ) 1) e 7 kv 4 ) 10KV 7K 2 KA 12 4 5099. 4 5496. 3 FFS. G HEG (led oh) B 70, B (o) /41 R4%, B 7a. Gl (e o) jE 7. G (e o) /#2124
107 g 75 H A D ] 0 3 2 EL L A ] 10KV 7K 28 KR 4k 7662. 4 9578 A SRk G2 W70, IR GE2) /4217, M. SRl GE20) 0. SRk (E %) /#1 1A
108 ] 4 g 75 4 FL A ) ] o4 g s L A L A D 10KV 7K k919K 2 4 4115.6 4953.5 FIFE. Bk (P 0) FE 70, Pl () /#1278, 7S, $E Gl (R 0) A 70, B (R 6) /#2122
109 ] Y g 75 FL A D ] o i e 7l L ] 10KV 2 R 12 %k 1180. 4 1299 FIFS. SHEE (e P R 7S, S 30 () /#1578, B 7S, S8t (Tl o) mE 78, sk (e o) /#2248
110 ] 1 g 75 FL A D ] o 2 2 EL kL A ] 10KV P2k Ktk 4k 5171.1 5975. 4 FIFS. SRk (G2 M TS, S IR GEa) /4278, M FS. SRl G %) 0. &Ik (%) /#1314
111 [ R A FE ) 1) e 7 kv 4 ) 10kV4: 1L 26 K2k S 4310.6 5196 BIFS. G HEG (led o) B 70, S0 (o) /#1 R 4%, B 7a. Gl (e o) B 7. G (e ) /#2124
112 g 75 P A D ] o e S L e A 10KV 2k KI5t 4k 2888.7 3031 FAS. Bk (FE0) FE 70, Pl () /#1178, IS, $EGl (R ) 0. B4t (R 36) /#2274
113 ] o 7 78k HL 4 ] o 175 78 B ik A ) 10KV 2 2 R 4k 3503. 46 4936.2 35KV FLAS LB 43 BH. AL o/ 183248

114 ] I g 75 P A D ] o i e 1l L 2 ] 10KV KL KB 12 %k 1788 1732 FIFE. SHEE (e P RE 7S, S 30 () /#1278, B 7S, S8t (Tl o) rE 8. 3k (e o) /#2248
115 ] I 75 FL A D ] o 2 2 EL ik L A ] 10kV4: K2k916 K151k 4k 3131.6 3654.5 FIFE. SRk (G2 M TS, IR Gae) /2178, M A, G0R 0l G20 8. &Ik (%) /#1174
116 I g 75 FL A D o 3 e L L A ] 10KV i) 2k K M2k %k 3150. 4 3654. 5 FIFS. SRk G2 M 70, IR U G /42178, M AS. SRl G20 0. &Ik (E%0) /#1174
117 i I g 75 L A D ] 0 i 7 Tl B B A 10KV 2k K5k AN 0 5456 A Rk PR R 70, &R (RaF) /#1578, M 7S, SRl (RaP) mE e, 4Rl (R PR /#2248
118 ] 1 7 75 A4 FL A ) ] o i 0 L A L A ] 10KV AR 2k KR %k 2686.9 3031 FFE. Bk (P 0) FE 70, P4l () /#1278, I 7S. $E Gl (R ) A 0. B (R 6) /#2122
119 ] I g 75 FL A D ] o0 7 7 1l B B L e A 10k V4126922 K 15tk AN 0 3031 FIFE. Rk G PP R 7S, &R (RadP) /#1278, M 7S, &Rl (RadP) mE 8. &R0k (R BP) /#2248
120 ] 1 g 75 FL A D ] o 2 e EL L ] 10KV /7 2k Ktk 4k 4513.5 5386.5 FIFS. SRk (G2 M 7S, IR U Gae) /42178, MIFS. SRl G %) 0. &Ik (%) /#1174
121 [ R A FE ] 1) e 7 ik v A ) 10KV HL Bl 28 K1 2k S 4648.8 5282. 6 7S, LR TS L /41 AR, A LR A L/ A

122 [ R A ) 1 e vl kv 4 ) 10KV EL# 26 K itk 53 7801.1 8333.9 (B0 L R R o RV S I S o R o

123 I g e A v 24 ) ] 1 e 7l 3k v 24 ) 10KV BT 28 K2k 53 6124.7 6460. 4 7. GRS LR /8 R, A L A, L /23

124 [P g e v 24 ) ) 1) e 7l ik v 24 ) 10KV R T2 K52k 53 5549. 7 6460. 4 7. GRS LR /8 R, F A LR TS, L /2 A

125 [ g e v 24 ) ) 1 e 7l ik v 4 ) 10kVHL T2 Ktk 53 6168.3 6460. 4 7. GRS LR/ B, i LR 7. L /23

126 [P e el v 4 | ) [ e 7l v 4 ) 10KV L5 2 K2k 53 5168. 32 6460. 4 7. GRS LR/ B, i LR 7. L /2 3

127 T 7 i 7 A4 i A ] ) 1) e 7 v 4 ) 10KV HL AR IU 28 K512k 4k 15496. 6 15917. 1 7S, LR TS L /41 A, A LR A L/ A

128 I g e A v 24 ) ] 1) e v 3k v 24 ) 10KV R 28 K5tk o 15197. 6 15917. 1 [ 2o L R LY T o R N e o e W L 2R e

129 [ g e A v 24 ) ] [ e 7l ik v 24 ) 10KV LR =2 K52k o 15723.4 15917. 1 7. GRS LR /8 R, F . LR 7. L /23
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130 I g e A v 24 ) ] 1) e v 3k v 24 ) 10KV R — 2k K52k S 15774.9 15917. 1 7. GRS LR /# B, A L E R A, L /2 3 A

131 ] 1 g 75 FL A ) ] o0 i 7 1l e P L A ) LOKVHS AL KI5 LL 4 4832.4 6062 FFS. #HUHEE R T) RE 7S, # TG /42 1A, R FS. TS (R 0F) M 0. s s/ 81 3248
132 ] 4 g 75 FL A D ] o0 7 7 117 e P AL L A ] OV J& 28 KAk 3 7929.4 9560. 6 FIFS. #HTHEE R PR) RE 7S, # TG /42 1A, M FS. A TS (R 0F) FE 0. st st/ 41 3248
133 ] 1 g 75 P A D ] o0 i 7 1l e P AL L A ] 10KV L 2 K5k 4k 7484.6 9560. 6 FFS. # ST (RRPR) RE TS, ¥ TG/ 42 1A, M AS. TS (R PR) M TG, Rt s/ 81 34
134 s I 78 FL A D ] o0 7 7 1l e P L A 0KV 57 2k K52k 4k 8856. 8 9560. 6 B 7S, AN (R 7 7. # T /42 1A, . # s R bF) B 78 8 st ok /1 32 48
135 R 7 B AT | R0 R 7 A ) I A TOKVIFE B 25 K Ik % 3048.3 3810.4 70, Ml (et 1) o 0. sl (e ) /41 4%, o . sty (o ) 1 7. sl (7o ) /2 1%
136 [ e LA || 0 e 7 L IR A e L0V 7K £ K5t 4% 3 3539.6 3810.4 FFS. Mk R P) RE 70, WSl (R ) /#1278, 7S, sl (o) I 70, WSt (R ) /42 12
137 ] 1 g 75 FL A D ] Y 3 2 L L A D LOK VIR FE 2R K2k 4k 3396.3 3810.4 FFS. M R PP) R 70, WSl (R ) /#1212 728, W78, WSl (R b) I 70, WSt (R ) /#2174
138 [ g e LA T | 0 7 L E IR A H o 10KV 25 125 K it 2k # 3434.8 3810. 4 FFS. M GRPR) R 70, WSl (R ) /#1278, 7S, WSl (o) I 0. WSt (R o) /#2274
139 RS A AT | R 7S e A RBP4 e e TOKVHEZRT 128 K152k %k 4575.2 5715.6 FFS. M (RRPR) R 70, WSl (R ) /#1278, 7S, WSl (o) 0. Mot (R o) /42 24
140 g 75 H A D Y 1 75 LY A D TOKVIFE X2k KR # 3393.4 3810. 4 FAS. M R PR) 70, WSl (R ) /#1278, W78, sl (o) i 0. St (R ) /42 17
141 [ P e LA E] | 0 e 7 R L 2 DR A H oo 10KV 2228 KR 4 2649. 1 2944. 4 FFS. Mk R PP) A 70, WSl (R ) /#1278, W78, sl (o) 70, WSl (R ) /42 172
142 ] Y g 75 FL A D ] X Bz L A L A D 10KV T4k AN 0 8781.2 TS Sk (1) B 78, Sk ((CB) /#1248

143 ] 1 g 75 FL A D ] X A Bz L A L A ) 10KV 12k AN 0 8365. 6 FFS. S () R 7S, SC s (I Ble) /#1748

144 [ ) i 7 A4 HL 8 ) ] o 7 7 1 e AR e A ) TOK VAR I 28 K hift 2 S 4747.8 6062 FIFS. AV TS AU /42 AR, BT AR B AS. AR /R A

145 [ ) o 7 A3 HiL 8 ) ] 9 7 7 1 e PP AR el 4 ) TOKVARB L KI5 2% 53 6954. 9 7153.2 . AW T AW /42 A, P A AR AS. AR /61 A

146 ] 4 g 75 FL A ) il X A Bz A o A ) 10KV A 2% AN 0 5594. 4 FFE. WLk ((CB) A 78, WE4R s (B /#2578, W75, W83k (1 Bfe) 7. 4R s (A Bl / #1128
147 ] I g 75 P A D ] o0 7 7 1l e P AL L A L1OKVAL & 2k K1tk 4k 5241.9 5456 FIFS. ARMBE TS, Wk /82 1A, M AS. AL FE A A /61 24

148 [ ) i 7 A4 FiL 8 ) ] o 7 78 7 e P AR e A ) TOKVARIR 2k K1t 2k 53 4780.3 5282.6 T, AR T AW /8254, A AR S 7S, AR /61 32 A

149 I g 75 FL A D o 43¢ g LA bt 2 ] LOKVA B 4 AN 0 4832.3 FFS. WS (1 B) A 78, WE4R s, (X Be) /#2578, R 78, W83k (1 Bfe) A 7. 4R s (A Ble) / #1148
150 i I g 75 L A D il X A Bz L A o A D 10KV ik 2% AN 0 6529. 6 FAS. WL ((CB) A 78, WE4R s (X Ble) /#2578, R 75, W83k (1 Bfe) i 7. 4R 3 (A Ble) / #1148
151 ] 1 7 75 A4 FL A ) ] o0 7 78 1l e P L A ] TOKVAL R 2k KI5k 4k 5130.9 6062 FIFS. ARG TS, Wk /62 1A, B FS. AL FE A R /61 3R

152 ] I g 75 FL A D ] X A B L L A D 10KV A 2k AN 0 8365. 6 FFE. WL ((CB) A 78, WE4R s (B /#2278, R 75, W83k (1 Bfe) 7. 4R 3 (A Ble) / #1148
153 ] 1 g 75 FL A D ] X A Bz L A L A D 10KV A6 2% AN 0 8781.2 FFS. WL ((CB) A 78, WE4R s (X BE) /#2578, R 75, W3k (1 Bfe) i 7. 4R s (A Ble) / #1274
154 I g 78 FL A D ] o 43¢ g L bt 0 ] 10KV 552k AN 0 5594. 4 FFS. WL (10 B) A 78, WE4R s (X Ble) /#2578, R 78, W83k (1 Bfe) 7. 4R 3 (A Bl / #1248
155 A 78 FL A D el X Bz L A o A ) 0KV 14 AN 0 6529. 6 FFE. WL ((CB) RE 78, WE4R s (X Be) /#2578, R 78, W83k (1 Bfe) 7. 4R s (A Ble) / #1148
156 EM i An | B R A BRAE G| 10kVIEIBELI19 R LL 53 8863. 5 8746.9 AT, PRI FE. PG L /81 A, P FS. VE LG 7S, o 1Lt/ 42 32 A

157 T 7 i 7 A4 FlL A ] ] ) g 7 7 5 B L 2 ) 10kVIG 28 K52k 3 7124.4 8746.9 T, PEILS R TS, PG L /81 A, P FS. PE LS 7S, 7H 1Lt/ 42 32 A

158 [ P LA E] | 0 7 L E D A i o LOKV P & 2k K2k 4k 8291.2 9578 A, PSR FE. 7 Lk /81 1A, M AS. P L R . oL /a2 3

159 [ o e LA E] | 0 R 7 R L IR A L e 10KV S 26 K5k 4k 7949.8 9578 FIFS. PSR TS, 7 Lk /81 A, B AS. P L . P L /a2 3

160 FERERM AT | FMFER A TR A 10KV KZRI29 KL S 7662. 4 9578 7S, VG L S U L /41 AR, . AL R A 7 Ll /2 A

161 T ) g 7 A3 b 4 ) L ) g 7 7 5 B A L 2 ) 10kVPE 7K 2% o 7662 9577.5 AT, PSR FE. UG L /81 A, T A, VE L 7S, P 1Lt/ 42 32 A

162 [ o e LA E] | o e 7 R L IR A L o LOKVIE B T 28 K12k 4t 8528.3 9578 A PSR TS, 4 Lk /41 1, B AS. P L . P L /62 3R
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163 R R e LA R | FE 0 A A L 2 R L e TOKVIHMFI 128 Ktk S 9662. 4 9578 AT, VLSRG FE. UG L /81 A, T A, VE L 7S, o 1Lt/ 42 32 A

164 [ e LA E] | o e 7 R L DR A L e 10KVt 2k KLk 4k 7889. 2 9578 A PSR TS, 4 Lk /81 1, B AS. P L . AL /62 1A

165 [ R R A E] | 0 7 L D A L 10KV 7ty — 2k KLk “k 7662. 4 9578 FIFS. PSR TS, 74 Lk /81 1A, M AS. P LS R . P L /a2 34

166 [ g e LA T | 0 R 7 L IR A L e 10KV K2k KMtk 4k 8033. 5 9578 FIFS. PSR TS, 7 Lk /41 A, B AS. P L . AL /a2 A

167 T 7 i 7 A4 el A ) ] ) i 7 71 3 B L 2 ) 10KV 5 — 28 K15tk 4k 8182.4 9578 7S, VG L 7. U L /41 AR, R, L R A 7 Ll /2 A

168 T 7 7 7 A3 el A ] ] ) g 7 7 5 B L 8 ) 10KVt 55— 28 K52k 4k 7651.8 9578 970, VG L S G L/ AR, R VL A G L /2 A

169 [ e LA || 0 e 7 L IR A e 10KVt = I £ K hif 2k 3 9208.8 9578 A PSR TS, 4 Lk /41 1, B AS. P L R . o L /a2 3R

170 [ g AL A E] | 0 7 L E D A H e 10KV [ £ Ktk 4k 8579.9 9578 A, PSR TS, 74 Lk /81 1A, M AS. P LR . AL /a2 3

171 ] 1 g 75 FL A D ] o e S L L ) 10KV EE JE 2931 K15 2k 4k 2327.8 2909. 8 FIFS. SR Feuh (R0 AE 7S, SL ek (REH0) /# 178, M 7S, JLFeuk (R ¥) mE 0. Sh g8 ol (RE ) /42 248
172 il I g 75 FL A D ] o i S L L A 10KV 52 4k 4258.5 4953.5 FFS. SLFeuh (R AE 70, Fhenk (REHE) /# L L7, M 7S, SR 983k (R ) mE 0. Sh e ol (RE ) /2 248
173 g 75 H A D ] o e S L L A ] 10KV EE Ak 4k 5165. 2 5681 FAS. SR Ik (R0 AE 7S, SRk (R0 /# L L, M9 7S. 3L Fedk (R ) M 0. Sk e sl (A #) /2 24K
174 ] 4 g 75 4 FL A ) ] o e 0 L A L A ] 10KV $E % 4k 4 4475.1 4953.5 FFS. 3L gk (R0 ME 7S, Fhenk (REH0) /# L L7, M 7S, 3L 9edk (R ) rE 0. Sk g8 sl (g i) /42 2%
175 ] Y g 75 FL A D ] o e S L L ] 10KV HiF 2k 4k 4669. 8 5681 FIFS. S Fenk (R0 AE 7S, Sk (REHE) /# L2728, M 7S, 3L 9edk (R ) mE 0. Jh e sl () /42 248
176 ] 1 g 75 FL A D ] o e S L L A 10KV P2k 4k 2832.9 2909. 8 FIFS. SR Ik (R0 RE 7S, SL ek (REHE) /# L L8, M 7S, 3L 9euk (R ) mE 0. Jh e ol (A ) /42 2%
177 sl I g 75 FL A D ] o i S L L A 10KV K2k 4k 2641. 2 2390. 2 FIFS. S geuh (R AE 70, Fhenk (REH0) /# L L7, M 7S, 3L 98k (R ) mE 0. Sh e ol (RE ) /2 148
178 [ ) o 7 A3 HiL 8 ) FEFE LB A TOKVE TG 28 K52k 53 9294.2 10045. 6 F7S. LR TS /4 A, A Bl R TS Bl /2 A

179 [ ) g 7 A4 HL 8 ) [ R L B A 10kVE B 2k 53 8036.5 10045. 6 TS E LT L /8 R, TS B L AL Ll /2 3 A

180 [ ) i 7 A4 FL 8 ) FEFRE L B A TOKVE 2 K52 53 10624. 1 10045. 6 TS LT L /8 A, TS B LR AL Lt /2 3 A

181 [ ) i 7 A4 FiL 8 ) I FE LB A 1OKVE IR 2 K2k 53 8536.3 10045. 6 T LR T E L /8 A, A B R A, Lt/ 2 3 A

182 [ 1) i 7 A4 HL 8 ) [ FRE L B A 10KV 7K 28 K hiit 2k S 8067 8919.8 7. LR TS E L /41 A, B B R TS Bl /2 A

183 ] 0 i 78 L L A ] o0 7 1Ly L ] 10K VE HEEL R & 8641 8919.8 7S LR TS /4 AR, A Bl R A Bl /2 A

184 [ ) g 7 A4 HL 8 ) [ R L B A 10kVE 2k 53 11682.9 11188.7 AT, E L 7S, L/ 23 A

185 [ ) i 7 A4 L 8 ) [ E L B AR LOKVE 128 K2k 53 8036.5 10045. 6 TS LT L /8 A, A B R A, Ll /23 A

186 ] 1 g 75 FL A D Y L B AR 10KV B2k Kk 4k 8916. 1 10565. 2 A E LB RTS8 1A, M A, E L R A /a2 3

187 R FE LA =] | FE 0 A A L 2 W B H e LOKVHI 8 28 K hi sk 5 24231.5 27712 VUL SRR DY 1. SRR/ 284 F %, DU 1. FRIE DO FRR /187 T 3%

188 [ P pE e LA E] | 0 7 R L E IR A s LTOK VIR 2k K ik 4 7662. 4 9578 VU U SRR DY 11, SRR/ 2678 FE 3%, DU 11 SR D0 1. SRV / 18728 s %

189 [ g g e L A ]| o e 7 R L 2 IR AR e LTOK V7K 26 K32k % 7899. 5 9578 VU U SRR DU 11, SRR/ 26748 FE 3%, DU 11 SR 00 1. SRV / 1848 s %

190 [ P e LA E] | 0 e 7 L E DA L s LOKVIRI — 2k Ktk % 7564. 6 9578 VU U SRR DY 11, SRR/ 2678 FE 3%, DU 11 SR 00 1. SRV / 18728 S %

191 [ P LA E] | 0 7 L E D A i o 10K VIR — 2k KI5k 53 24004. 7 27712 VU SRR DY 1. SRR/ 2478 FE 3%, DU 11 SR DY 1. SRV / 18748 %

192 [ o e LA E] | 0 R 7 R L IR A L e TOKVHIE 26 K5k 4k 8208. 8 9578 VU U SRR DY 11, SRR/ 2478 FE 3%, DU 11 SR 00 1. SRV / 18748 %

193 [ P pE e LA E] | 0 7 L A E D A LTOKVIHI B 26 K2k %k 9961. 3 9578 VU U SRR DU 11, SRR/ 2678 FE 3%, DU 11 SR 00 1. SRV / 18748 s %

194 R R e LA R | FE 0 A A L 2 R L e LOKVIHIFF 128 K 15k 4k 10157. 2 11188.7 VUL SR 11 SRR/ 284 F %, U N1 SR IO FRIR /1848 T 2%

195 R FE LA =] | FE 0 A L 2 R f e LOKVIRIIFIT2E Ktk 4k 10033.5 11188.7 VL. SRR DY 11 SR/ 284 F %, U N1 SR IO 1. FRR /187 T %
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196 [ ol g e L A ]| o e 7 R L 2 IR AR e LOKVIFIJFF £k K15k 4k 7662. 4 9578 VU U SRR D11, SRR/ 246748 FE 3%, DU 11 SR 00 1. SRV / 1828 4%

197 e /A N W e /A 197 R A S LOK VI 4 2k Kistk 4 7662. 4 9578 VL. SRR DY 11 SR/ 284 F %, U N1 SR IO FRIR /184 T %

198 [ R R A E] | 0 7 L D A L 10KV A — 2 KAk 53 7662. 4 9578 VU SRR DY 11, SRR/ 2678 FE 3%, DU 11 SR DY 1. SRV / 1848 %

199 ] 1 g 75 P A D ] P g 78 1l B B A 10kVIEZE 4k AN 0 9577.5 FIFS. KALBGRE TS, KAES /81 1A, B 7S, KL FE 7. JAEsl/ 423248

200 T 7 i 7 A4 el A ) ] ) i 7 71 3 B L 2 ) 10kVAE 2k A 0 9578 FIFT. KAEUGFE 7E. KAEUG/#1 EAE, B, KALU B 78, KAL U /42 24

201 [ A ] ) g 7 7 5 B L 8 ) 10kVAE R 2 KI5tk a 0 9578 AT, KAEHTI TR, KACH /81 EAE, P70, ARG 78, RAEN /42324

202 ] 1 g 75 4 FL A ) ] o g 78 1 B B L A LOKVAEFF = 22 K ik AN 0 11188.7 FIFS. KAEBGRE TS, KAESE /81 1A, B 7S, KAEHFE 7. AL sl /423248

203 ] 1 g 75 FL A D ] I g 78 1l B B Al A L10KVIETF =28 Kk AN 0 11188.7 FIFS. KAEBE TS, KAESE /81 1AF, B 7S, KAEHFE 7. JAEsl /42324

204 ] 1 g 75 FL A D ] I g 78 1l 3 B A 10KVAETF— k914 K152k AN 0 11188.7 FIFS. KALBGRE TS, KAESE /81 LAF, B 7S, KL FE 7. AL sl /42348

205 ] 0 7 78 L L A ] ] ) g 7 71 5 B e 2 ) 10k VAE fEl — 26 K2k A 0 11188.7 FIFS. KAEUGFE 7E. KAEUG /41 B4, B, KAEU B 78, KAL /42 24

206 g 75 H A D ] 0 i 7 Tl 3 B A 10kVAE e — £ K A5tk AN 0 9578 FIFS. KAEBE I 0. KAESE /81 1A, B 7S, KL 7. AL sl /423248

207 ] 4 g 75 4 FL A ) ] o g 78 1 34 B A 10kVAE & KAk AN 0 9578 FIFS. KAEBGRE TS, KAESE /81 1A, B 7S, KAEHFE 7. ALl /423248

208 ] Y g 75 FL A D ] I 78 1l B B A 10kVIE £ — 2 Rk AN 0 11188.7 FIFS. KAEBG TS, KAESE /81 1A, B 7S, KAEHFE 7. AAEsl /423248

209 [ g e LA T | 0 e 7 R L DR A L e OV 2k K Htt 2k 4k 4707.1 5802. 2 FIFS. PR R TS, R/ #2 1A, B AS. PR . IR /81 A

210 [E PR FE LA R | FE 0 A A L 2 R H e 1OKV™ 8 28 K2k S 7662. 4 9578 BTSSR FE. IR /42 AR, BT, IR B AS. IR /R A

211 [ R e LA E] | 0 e 7 R L E D A 0KV T 2 K5k 4k 5559. 4 5802. 2 FIAS. PR A, PR/ #2 1A, B AS. PR AL IR/ 81 A

212 [ P pE e B A E] | 0 i 7 L 2 IR A 0KV i 2k K32k %k 6838.6 7326.4 FIFS. PR FE. PR /82 1A, B FS. PR R . IR /81 AR

213 ] o0 7 78 Rk L A ] o0 7 L L L ] 10KV pie 2 A 0 10565. 2 10KV 2 445 H b g 70, S0 /23248, 110KV 228708 il g 7. 90k /81 4

214 ] o0 i 75 kL A ] FE o0 L Bl A ] 10kVIEELL A 0 10565. 2 10KV & %45 Hy bl B 70, S0 /23248, 110KV L3878 il g 75, L3800k /81 4

215 [ 1) i 7 A4 HL 8 ) [ FRE L B A 10KV K 25 N 0 10565. 2 110KV 5% %A% i bt i 78, 28 0t /#2 4%, 110KV 5% A% HiL il g 78, 28 480l /1 A8

216 [ 1) o 7 A3 HL 8 ) R E L B A 10kVZE H 2k s 0 10565. 2 110KV 5% %A% i 3l g 70, 28880l /#2 1A%, 110KV 5% A% i bl g 70, 2880l /1 148

217 [ g e A v 24 ) [ R L B A 10KV Bk N 0 10565. 2 110KV 5% %A% L 3t g 78, 28 80l /#2 1A%, 110KV 5% A% HHL il g 78, 280l /41 AR

218 [ g e v 24 ) [ E L B AR 10kVZE 2% a. 0 10565. 2 110KV 5% %A% H 3l g 78, 28 80l /#2 1A%, 110KV J% A% H il g 78, 280l /1 A8

219 [P g el v 4 ) FEFE LB A 10KV A 2k 4 0 10565. 2 110KV J% %A% H 3l g 78, 80l /#2 1A%, 110KV I 840 H il g 78, 28l /1 A8

220 I g 78 FL A D X ] o 7 R L A D 10KV Jo 2k K5tk 4k 2426. 2 2598 FIFS. Wk (e P RE 7S, Z AL () /#2578, B 7S, &Lk (el o) mE 0. 000 (el o) /#1228
221 [ R A ) 1 e vl kv 4 ) 10KV 74 26 K2k 53 3061.5 2598 B 7S, A (e o) B 70, Wk (o) /#2148, B e, 2 Ll (e v) e 7. & M0 (e o) /#1124
222 I g e A v 24 ) 94 i o vl 4t L A ] IUNERGEPN2 53 4686 4416.6 FAF. Ak (R ) 7. Ak (R ) /#2278, 978, & 003k (g ) R 78, & W0k (g o) /#1278
223 ] 1 g 75 FL A D Y L B AR 10KV W 26 K5k 4k 3417.3 4104.8 FIFS. ARk CEF L) REFS. S (B L) /#1278, B 7S, &l G L) RE 8. Akt (5 LL) /#2248
224 ] 1 g 75 FL A D ] oY ] o 7 3 L A D 10KV J7 £k Ktk 4k 3349.9 2598 F7E. Lk () B Fe. 2k (1 ) /#2748, R 7e. & L (e vh) 7. & s (o) /#1348
225 ] 1 g 75 P A D P L L AR 10kVE 5 2 K ik 4k 5032. 8 4936.2 FIFS. AR CE L) REFS. M G L) /#1278, BI7S. bl CB 1) mE 8. Akt CE L) /#2248
226 [ A ) 1) e 7 v 4 ) 10KV I 2 K2k [ 5087.8 5496. 3 FFT. A (R ) B 7. Ak (R ) /#2 12748, B 70, & 00k (R o) R 78, & 00k (R o) /#1748
227 I g e A v 24 ) ] 1) e v 3k v 24 ) 10KV 2 K2R o 4823.3 3637.2 FAF. Mk (R ) 7. Ak (R ) /#2248, 970, & 00k (g ) B 78, & W0k (g o) /#1278
228 [ o e LA E] | o e 7 R L IR A L o LOKV %3 i 2 K5 2% 4k 2533.7 8313.6 DU UL 3555 )01, 9595 / 24705 P
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229 [ ol g e L A ]| o e 7 R L 2 IR AR e 1OV AT 26 KI5k 4k 4641.8 5802. 2 U1 45 588 DU 11 48 80/ 344 FE A%, DU )11 40 0011, 4 / 28708 %

230 e /A N W e /A 197 R A S 10KV 2 2k K2k & 5153.3 9578 VO L. 345 1. A/ 3 %, DU ). 4 . 28 T

231 [ R R A E] | 0 7 L D A L 10KV 726 KAk 4k 5153.3 9578 U1 4 580 DU 11 4880/ 34708 FE %, DU 11 0 O )11, 4/ 288 %

232 ] 1 g 75 P A D ] o 2 2 EL L A ] 1OKVE 4R L KMtk 4k 3604 3654.5 A Bk GE2) M. B R G ) /41, A B R G20 . B Rl (%) /824
233 s I 78 FL A D ] o 3 2 EL L L A ] 10KV HE 4 KI5tk 4k 3829.3 3654.5 7S B Kk () B 7u. B R G ) /41 B4, B e, B K G 20) M 7. B 5K G 0) /#2124
234 g 75 H A D ] o i e vl L 2 10KV i £k K1k %k 3733.3 4416.6 W 7S B Sl (I rh) B 0. B SRl (i o) /#3124

235 ] 1 g 75 4 FL A ) ] o 3 2 EL kL ] LOKVE 28 KA ER %k 3377.2 3654.5 A B Rk (R M. B R G ) /417, A W R G20 e, B Kk (%) /#2 1
236 ] 1 g 75 FL A D ] o 2 o EL L ] 10KV i 2k K5k 4k 2975. 2 3654.5 A B Rk (R M. B R G) /417, A B R G20 M. B 5Kk (%) /#2174
237 ] 1 g 75 FL A D ] o 3 2 EL L A ] 10KV HE 28 K15k 4k 3020. 4 3654. 5 FIFS. B Rk GE2) M. B R G ) /417, MRS B R G20 . B Kk (%) /824
238 il I g 75 FL A D ] o 3 2 L L A ] 10KVE ik Ktk 4k 4753.4 5040. 1 7S B Kk () B 7u. B G 4e) /41 B4R, B e, B K G 20) FE 7. B 5K G 0) /#2124
239 g 75 H A D ] o i v vl HhL 2 10kVE L2 R 4k 5202. 6 5369. 2 W 7S B Sl (I rh) B 0. B SRl (i o) /#3 1A

240 ] 4 g 75 4 FL A ) ] o 3 2 EL kL A ] 10KV 5K 26 K3tk 4 4841.2 5040. 1 A Bk GE2) M. W R G ) /41 L7, M. W R G20 TR, B Kk (%) /#2 1
241 ] Y g 75 FL A D ] o i e 7l L ] 10KV 26 KAk 4k 2736. 4 2996. 4 FIFE. B R (6 ) R 78, B M (1 ) /#3248

242 ] 1 g 75 FL A D ] o 2 2 EL kL A ] 10KV B £k KMtk 4k 3428.8 3654.5 A B Rk (R M. B R G ) /417, A B R G20 . B Kk (%) /824
243 sl I g 75 FL A D ] o 3 2 L L A ] 10KV A2k Kk 4k 3140. 1 3654.5 7S B Kk () B 7e. B G 4e) /41 B4, B e, B Kl G 20) 7. B 5K G 0) /#2124
244 g 75 P A D ] 0 3 2 EL L ] 10KV eh 28 K3 EL 4k 3580.5 3654. 5 7. B K G ) M 0. B G 4) /#1 B4, B . B R G 2) M 7. B 5K G 0) /#2124
245 [ ) g 7 A4 HL 8 ) [ R L B A 10k VAR 2k 53 4041.7 4936.2 FATT. GoKuk CE LD 78, Skl CEF L) /#2748

246 [ ) i 7 A4 FL 8 ) FEFRE L B A 10k VAR 2k 53 4371.6 4936.2 FAFT. GoKuk CE LD B 78, Skt CE L) /#2748

247 [ ) i 7 A4 FiL 8 ) I FE LB A L1OKVER DS 2L KL 53 4797.8 5456 FFE. Gkl CE LD B 78, Skt CE L) /#2378

248 [ 1) i 7 A4 HL 8 ) P 5 Bl ik v 24 ) 10kVA7 2k N 0 6529. 6 B 7S, 3Lk () B 78, 32l (B) /#1348

249 i I g 75 L A D ] o 43¢ g L e 8 ] 10kVA7 B £ AN 0 3775.8 70, Lk (Bl B 78, 32k (B) /#2348

250 ] 1 7 75 A4 FL A ) ] o 43¢ g L Hht 2 ) 10KVAL 2% AN 0 4832.3 B 70, ALk (1) B 78, 3Lk ((CB) /#1348

251 ] I g 75 FL A D T o 43¢ g L it 0 ] 10kVAZ %2k AN 0 3949 FAFS. 3Lk (BCB) B 78, 3Ll (B /#1928

252 [ ) g 7 A4 HL 8 ] FE PR 5 Bl 4 ik v 4 ) 10kVAZ 2% A 0 4832.3 FAFE. Sk (ABE) B 78, 7k (A Be) /#2378

253 [ 1) i 7 A4 HL 8 ) ] % i 7 L ik A ) 10k VAE 7K 28 & 3760 4700 BIFS. WRHENE (R B TS, RHEL (R ) /#1 E A

254 [ ) i 7 A4 HL 8 ) ] o i 7 S i A ) LOKVAE WL 2% & 3760 4700 FFS. WRHENG (R B 7T, KL (R ) /#1 R4

255 il 4 g 75 A4 FL A ) ] o i 7 1l e P L A ) L10KVAT $2k913 K 151k 4 0 8746.9 7S FEl GRiPE) B e, AR G R / # 11

256 ] 1 g 75 FL A D T o i e 7l L 0 ] L1OKVA & 26 KR 4k 2614.6 2944. 4 FIFS. Ak (e p) RE 7S, Akl (il o) /#2728, 7S, A el (el o) R 78, et (il o) /#1228
257 ] 1 g 75 FL A D ] 0 7 7 1l 3 B kL A ) LOKVAT IR 2914 K 151k AN 0 2425 A A B (RPD) M e, Al PR / # 1248

258 ] 1 g 75 P A D ] o0 i 7 1l B B L L A ] 10KVAT #rk AN 0 7326.4 FIFS. ARl (R b0 mE e, Al PR /#1248

259 [ ) i 7 A4 HL 8 ) ) 1) e 7 v 4 ) LOKVAT #7126 KA 2% [ 3892.9 4416.6 7S, A e (e o) B 70, it (i o) /42 4%, B 7. A el (g o) 1 7. A sl (g o) /1 24
260 il 4 g 75 A4 FL A D ] o i e vl HhL 2 ] 10KV A 2 28 KR %k 2620. 7 2944. 4 FAS. Ak (e ) R 7S, A el (il ) /#2572, 7S, A el (el o) 0. et (il o) /#1272
261 ] 1 7 75 P A D ] o i 7 1l 3 B L L A ] 10kVAT 2% AN 0 7326.4 FIFS. iRl (R P B 7e. AR G bp) /# 124
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262 il 4 g 75 A4 FL A D ] o i e vl HhL 2 ] LOKV Al 26 KI5k 4k 5796. 3 6529. 6 FFS. Ak (e ) R 7S, A el (il ) /#2572, 7S, A el (el o) 0. et (il o) /#1272
263 ] 1 g 75 FL A ) ] o e 0 L L ] L1OK VA 5 2k # 3808.9 4468. 6 FFS. Ak (P 0 R 7S, AL () /#1578, M 7S, ALl (R 0) mE 70, At sl (R 36) /#2248
264 ] 4 g 75 FL A D ] o e S L L 10KVAFEHZE 4k 4148.1 4953.5 FIFS. Ak (P 0) R 7S, AL () /#1578, mIAS. S el (R 0) mE7a. sk (R ¥6) /#2248
265 ] 1 g 75 P A D ] o e S L L 10KVATBELE 4k 3051.3 3031 FFS. Ak (P 0) R 7S, AR (R ) /#1578, mIAS. S Ll (R 0) mE 0. st (R ) /#2248
266 s I 78 FL A D ] o i S L L A ] 10kVEEE 2L # 3533. 1 4953.5 B 7S, Ak (R ) w 7a. A ek () /#1 R 4%, B 7a. AR (R #6) #E 7. A0 (P ) /#2124
267 g 75 H A D ] o i S L L A ] 10KV 4k # 4578.6 4953.5 7S, Sk () o . A Sl (R ) /41 %, W . Rl () 1 7. e (R ) /42 14
268 ] 1 g 75 4 FL A ) ] o e 0 L A L ] 10K VA; I 2% 4k 3930. 2 4953.5 FFS. Ak (P 0 RE 7S, AL () /#1278, M 7S, ALl (R 0) rE 70, At sl (R 36) /#2248
269 ] 1 g 75 FL A D ] o e S L L 10kVAE P2 4k 4116.8 4953.5 FIFS. Ak (P 0) M 70, AL () /#1578, M 7S, S el (R 0) mE7a. s (R 36) /#2248
270 ] 1 g 75 FL A D FE o0 Ly B e A ] 10KVIS H{ZE K5k 4k 4063.9 4936.2 FIFS. Pk G5 L) RE 7S, Feglnl G L) /#1278, 7S, B3l G (L) mE 78, Bo3lkat (5 1L) /#2248
271 R A B LBt H A 10kVEE 22 (o) RIE S 4639. 4 4936. 2 . P ek CE L) B 7. B gl CE L) /#1178, B 70, B plnl G5 1) R 70, B ploanl; G 1) /#2178
272 g 75 H A D W L A AR 10kVES Z 2 KI5t 4k 3949 4936.2 FIFS. ARk CEF L) RE 7S, A G L) /#1278, B 7S, MRl G 1) pE 0. Akt (G LL) /#2248
273 [ g e v 24 ) FEWE L2 gt H A TOKVER £ KI5tk S 5167.9 5456 AT, ¥ el CE L) P 7. B gl CE L) /#1278, B 70, BBl G5 1) I 70, B Bl G 1) /#2178
274 [ %) g 7 A4 L 8 ) FEFE L B A 10kVI% 28 K2k 53 4520.9 4936.2 T Y el CE LD B 7. B gl CE L) /#1278, B9 70, BBl G571 I 70, B Bl G571 /#2748
275 ] 1 g 75 FL A D ] o e S L L A 10kVE Hi%k 4k 2729.1 3810.4 FIFS. Lk (R0 rE 7S, L5k (R0 /8278, M 78, L5k (M) rE 7. L5k ol (A ) / # 1248
276 sl I g 75 FL A D ] o i S L L A 10KV F 24k Kk 4k 3912.2 4953.5 B 7S 5Kk (R HE) B 8. £ 5K (R ) /#2048, B 7S, £ 50 (B0 B9 78, £ 5Kk (B9 ) / # 1 14
277 g 75 P A D ] o e S L e A 10kVEH££913 %k 4176.6 4953.5 7S Sk (R ) . £ 5Kl (R ) /#2048, B 7S, £ 5000 () M 70, £ 5Kk (9 / # 1 14
278 ] 4 g 75 FL A ) ] o i 0 L A L A ) 10KV F & 4 23 2712.8 2909. 8 FIFS. Lk (R0 AE 7S, 50k (R0 /#2178, W78, L5k () rE 8. L5kl (A ) / # 11248
279 ] I g 75 P A D ] o e S L L 10kVE K2k %k 2254.3 2840.5 A L (R RE 7S, L5k (R0 /#2578, M 78, L5k (M) rE 7. L5k ol (R / # 1248
280 ] I 75 FL A D P L AR LOKVHE 28 K1tk AN 0 4104.8 FFS. Bk G L) I 7S, AR (L) /#4278

281 I g 75 FL A D Y L B A TOKVHE B 2k K 12k a 0 5802. 2 7S B BRI CE L) R 78, Bl (1) /a4 48

282 i I g 75 L A D R L L AR 10K VAR K2k KI5k AN 0 4936. 2 7S BRI CE L) R 78 R BRl (1) /#4248

283 ] 1 7 75 A4 FL A ) ] o0 7 78 1l e P L A ] TOKVAH I 26 K152k 4k 3944.8 6062 FFE. M Lk GEgP) A 7S, Ll (R ) /#1278, 7S, MLl G b0) R 70, R L (R ) /#2228
284 ] I g 75 FL A D ] o0 7 7 117 e P L A LOKVAH B2k Kk 4k 4772.7 6062 FFE. M Lk GEPP) R 7S, Ll (R ) /#1278, 7S, MLl (R b) R 70, R L (R ) /42 14
285 ] 1 g 75 FL A D ] o0 i 7 117 e P L A D 10KV 2k K5k 4k 4364.8 5456 FIFS. M Lk GEP) R 7S, Ll (R ) /#1278, 7S, MLl (R b0) R 70, R L (R ) /#2124
286 I g 78 FL A D ] o0 i 7 1l e P L A TOKVIH A7 28 KI5k 4 5573.4 6062 FFS. M Lk GERP) R 78, Ll (R ) /#1278, 7S, MLl (R 0) mE 70, Lot R ) /#2248
287 A 78 FL A D ] o0 i 7 1l e P L A TOKVIE A7 — 2k K152k 4 4439 5456 FFS. M Lk e P) 70, Ll (R ) /#1278, 7S, MLl (R b0) rE 0. MR Ll R ) /#2228
288 il 4 g 75 A4 FL A ) ] o i 7 1l e P L A ) TOKVAH B 26 K32k 4 4518.5 5456 FFS. M Lk GEgP) 70, Ll (R ) /#1278, W78, MLl G 0) 0. R Lo (R ) /#2122
289 ] 1 g 75 FL A D ] o0 7 7 1l e P AL L A ] LTOK VIR — 2k K12k 4k 5573. 4 5282.6 FFS. M Lk GERP) R 7S, Ll (R ) /#1278, 7S, MLl (R b0) R 70, R Lo (R ) /#2172
290 ] 1 g 75 FL A D ] o0 7 7 1l e P L A L0V 5 £k K524 4 5573.4 5456 FFS. M Lk GEP) R 70, Ll (R ) /#1278, 7S, MLl (R b) R 70, R Lo () /#2248
291 ] 1 g 75 P A D P L L AR 10KV K HELLE KB4k 4k 4299.5 4936.2 FIFS. S Kk CEF L) R 7S, R Al G L) /41 22728, 7S, 2 Al G L) R 8. 2okl (G LL) /#2274
292 [ ) i 7 A4 HL 8 ) [ R E L B A IUNDRIRE PN [ 4366.3 4104.8 FFS. Al CE L) B e, Bkt CEF L) /41 8, B 7. Bkl CERLL) 8. Rl L) /#2124
293 [ ) g 7 A4 HL 8 ) [ R L B A L1OKV KA 2R KA ER o 3531.3 4104.8 T, Bk CE LD 7. 2 Kl CER LD /#1278, 978, J2 Kl CGEF LD B 78, J2 Kkl CEF L) /#2728
294 ] 1 7 75 P A D P L B A ] 10KV K -E 2k KLk 4k 4736.8 4936.2 FIFE. S Kk CEF L) R 7S, 2 Kl G L) /#1278, 7S, A2 Kl G L) R 7. 2okl (L) /#2272
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295 [ S A T | 7S A8 A RSP A v 10KV B 1L K itk 4 2576.9 9578 P A PRIR T F0. IRk /82 1A, M AS. TRIR A SRR /81 A

296 e /A N W e /A 197 R A S LOKVIR AT 128 KMtk 53 2576.9 9578 FATT. FRIRN T T0. BRI /82 A, P TS, SRR T 7S, TRIR /61 3

297 S A AT | R 7S A RSP A 10KVIZ JT 12 K it 2k 3 2576.9 9578 FAFS. IR 70, SR uh /42 1A, BT HRIRS HIR/HLTEA

298 RSB AT | R 7S A A RSP A e 10KVIRFF 112 K itk 3 2576.9 9578 FFS. PRIR I FO. R /82 1A, M AS. PRI A SRR /81 A

299 ] o0 i 78 L L A ] ] o g 7 L il A ) 10KV 2k & 2564. 2 2840.5 7S XS 7S X SRV /3 AR, T . SRV b . SR /1 A A

300 g 75 H A D ] Y g i L Y T A D 10KV ik 4 2547.6 2840.5 P A ARV A0 X S /43 A, P A I T S B R/ H A

301 ] 1 g 75 4 FL A ) ] o4 g S L A R A D 10KV 5 4% 3 4567.8 5681 FFS. IR TS X S /3, A R I T S R R/ H1

302 ] 1 g 75 FL A D ] Y g L A L A D 10KV i £ 23 4897.3 5681 FFS. VB S R S /3, P A R ST S R R /1

303 ] 1 g 75 FL A D ] Y g i L Y R A D 10K VI 7k 2k 4 2484.2 2840.5 FFS. RIS R /43, A R SR A R R/ H1 EA

304 [ ) i 7 A4 HL 8 ) ] o i 7 L i A ) 10KV AR 2L S 3372.7 2840. 5 70 XS 7S X SRV /3 AT, T . SRV b . R SR 1 A

305 ] 0 i 75 kL A 7] ] o o 7 S ik A 7 10K VI %2k # 5090. 6 5681 70 X SRV 7S X SRV /3 AR, T . SRV e . A SR /1 A

306 ] 4 g 75 4 FL A ) ] o4 g s L A L A D 10KV R 2% 4 5279. 1 5681 FFS. I TS X S /3, P RS R I T S R R/ H1

307 ] Y g 75 FL A D ] o g 78 1l e PR A A D 10KV G2 28 KR 4k 7648.5 9560. 6 FAFE. FL A e T F0. LA /L R, P A MM T A A /2

308 ] o0 i 75 kL A ] ] o 7 78 17 e AR el A ) 10KV 2k K2k o 14505. 5 9560. 6 FAT. U s R 7. s Hh /#1242 32 AR

309 ] 7 g 75 14 Hh 2 ) ] 7 7 75 i e A el A ) 1OKViEIF 2% 4 8951 11188.7 B 7S, M TS A /1 AR, T TR s G R . s s /e AR

310 [ 00 7 75 A1 HhL 2 ] ] 100 7 75 1l e P 2 ) L0k VBT — 2RIk 4k 18872. 2 22516 7S Ml S A/ AR, P . s e . s T /2 A A

311 ] 4 g 75 FL A ) ] o g 78 1l e PR A A LTOKVHEJF T 28 K1 2k %k 17523.9 17320 FAFE. fL A W T 70 A P /L R, P A A M T A M /2

312 ] I g 75 P A D ] o g 78 1l e PR A A 10KVt ] — 28 KAtk %k 10508. 4 9560. 6 FFE. FL A e T 70, A P /L R, P A MM T A A /2 A

313 ] I 75 FL A D ] P g 78 Tl e PR A R A 10k Vit el — £ K A5k “k 11957.8 9560. 6 FAFE. AL e T F0. T /R T, P A MM T A A v /2

314 [ 1) i 7 A4 HL 8 ) [ FRE L B A JUNGEIREE S 4364.8 5456 7S, YK CE L) B 78, WK CE L) /#2248, B 7. T /K CEF L) R 8. T 7K CEF L) /#1824
315 i I g 75 L A D R L L AR 10KV Bk KI5t 4 2713.8 3083 FAS. WKk CEF L) RE 7S, 7K G L) /#2578, 7S, S /Kl CBY L) rE 8. 17K (B LL) /#1248
316 ] 1 7 75 A4 FL A ) P L B A ] 10KVIl £ 2k (k) R 4 3974 4936.2 FIFE. ARk CEF L) REFS. A (B L) /#1278, R 7S, &l G 1) RE 78, Akl (5 LL) /#2248
317 ] I g 75 FL A D Y L AR 1OV V5 26 K5tk 4 4402.6 4936.2 FFE. WKk CEF L) REFS. 7K G L) /#2728, R 7S, S /Kl CBY L) RE 7R, 17K (G5 LL) /#1248
318 ] 1 g 75 FL A D Y L B AR 10KV FL 2 K5k “ 5979. 3 6997. 3 FIFE. Kk CE L) REFS. 7K G L) /#2578, I 7S. /Kl CEY L) REFR. 7K CELl) /#1248
319 I g 78 FL A D Y L B AR 10KV A 2k Ktk 4 3804 4104.8 FFS. WKk CEF L) RE 7S, 7K G L) /#2578, R 7S J/K s CBY 1L RE 78, 17K (B LL) /#1248
320 [ ) i 7 A4 HL 8 ) [ FRE L B A 10KViF X2 53 4498.8 5456 7S, YH K CE L) B 78, K CEF L) /42 4%, B e, T /K CEF L) R 8. T /K CEF L) /#1824
321 ] o] i 7 HL 4 ] ] o i 7 1l e P L A ) TOK VI IR — 28 K5t 2k s 8951 11188.7 T10KVARHEAS Hi 3l 1 32 4%, 110k VARG AR B w2 3 A%

322 ] o0 7 7 Rk L ] ] o0 7 7 1l e P AL L A ] 10K VIV — 2k KLk 3 8951 11188.7 T10KVARHEAS ALl 1 32 4%, 110KV ARIGAR H Sl 148

323 ] o0 7 75k L 4 ] ] o0 7 7 1l e P L A 10K VifEFh — 28 KI5 EL 4k 8951 11188.7 T1OKVI AL L2 1A

324 ] o0 i 75 L L A ] ] o0 i 7 1l e P AL L A ] 10KV Fh— £ R ABHER 4 8951 11188.7 TTOKVAHE AL Ll 3248, 110KV AKifEAR i w2 32 48

325 ] 0 7 78 L L A ] el o0 g 78 7 e PR A R A 10K VifiE el — 25 K2k 4 8951 11188.7 T1OKVARIEAE ki1 3248, 110kV AR 2 3 48

326 ] o] i 78 kL 4 ] [l o0 g 78 7 e PR A R A 10K Vi el — 2 K2k 4 8951 11188.7 T1OKVARHEAZ ki1 3248, 110kVAKIEAS a2 3 48

327 [ ) g 7 A4 FL 8 ) [ o0 g 78 7 e PR A R A 10K Vil HE 2L KR @ 8951 11188.7 T1OKVA AR i1 1A
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328 il 4 g 75 A4 FL A D ] o i e vl HhL 2 ] L10KVHEFT 26 K5tk 4k 3231.4 2961.7 FAS. vk Lk (e v A 70, kLl (il ) /41 22728, w7, bty el o) 7. kLo (Gl o) /#2228
329 ] 1 g 75 FL A ) ] o i e 7l L ] 10KV 2k K ik 4k 4073.9 4416.6 FFS. vk Lk (e ) RE 7S, kLl (il o) /41 22728, R 7. Loty (el o) R 7. kLo (Gl o) /#2228
330 [P g e v 4 ) L 90 i o vl L A ] 10kVHLIZ £ K52 53 5084.5 5196 FFE. Pk (i o) B 7. Pl () /#1248, B 78, 3ot (g o) g 7a. 3k ok (g o) /#232748
331 ] 1 g 75 P A D ] o i e 7l L 2 ) 10KV TGk KMtk 4k 4832.2 5196 FFE. Wk Lk (e v REFS. Ll (il o) /41 22728, R 7S, kbt (el o) R 7R, kLot (il o) /#2248
332 [E PR R FE LA w0 S A L 2 R H e TOKVIR B — 28 K5tk & 10306. 6 9578 70, T L TC A AR /4 AR, BT I AR R 7S T AR /2 A

333 [ P g e LA E] | 0 e 7 R L DR A s 10KV AR — R K ABER %k 10306. 6 9578 A 7 AR A0 R /8 A, I AS. T SR . T AR /62 A

334 [ e LA || 0 e 7 L IR A e 10KV iE 2k KAk %k 9631.4 11188.7 FFS. 5 R EFE. TR /8 L, R AS. TR . T AR /62 A

335 R FE LA R | FE 0 A L 2 R B H e LOKV AR 74 125 K2k o 9105.7 9578 FATC. R R T0. T A /#1 EAE, TS, i R T A i R /2 A A

336 E M pE R g A T | B R R AR A E P G| 10KV PE 1128923 K15k 4k 9847.9 9578 FTC. R R T, /81 A, PO, W R A i R /2 A

337 [ R e LA E] | 0 i 7 R L E DR A s 10KV AR IF T2 K itk %k 10306. 6 20784 70, VL TS AR /41 AR, B . I AR R TS T AR /2 A

338 e 2 /A N T 2 A /A 197 R LR G R TOKVIR FFIT2E KAk 53 10306. 6 20784 70, T L S VA AR /4 AR, P . I AR 7S AR /2 A

339 [ P e LA E] | 0 e 7 R L 2 DR A H oo 10KV 28 K3 2L 4 8590. 2 9578 FFE.  AR A T FE. IR /8 LA, R AS. T AR . T AR /62 A

340 [ P pg LA E] | 0 7 L E DA H 10KV BEZE KL 4k 9311.9 9578 FFS. i AR TS, W /8 LA, RIAS. T R . G AR /62

341 R FE AL AR FE R A L 2 R H e TOKVAR LR K52k o 7662. 4 9578 TATC. R R T, /81 A, P A, W R T A T R /2 A

342 [ P pE e g A E] | 0 i 7 L E DR A 10KV AR T2k K itk 4k 8827.3 9578 70, T L TC AR /41 AR, R I AR R A T AR /2 A

343 e 2R /A N 2 A /A 197 R L G S L0kVIR A 1128 KMk S 8940.7 9578 70, T S TS VAR /4 AR, P . AR 7S T AR /2 A

344 [ P pE e B A E] | 0 i 7 L 2 IR A 10K VAR A 28 KAk 4k 7662. 4 9578 FFE. i R T FE. TR /8 L, R AS. T SR . T AR /62

345 [ P pE e gL A E] | 0 7 L E DA H 10K VAR — 2 Rk 4k 7662. 4 9578 FFS. 5 R TS, TRk /8L LA, R AS. TR . G AR /62 A

346 ] I 75 FL A D ] o e S L L 10K VI 482k 4k 4953.9 5715.6 A VA 2R3k (i 50) T 7. T A%l (R ) /#1728, R 7. T ARl (R ) i 7. VT 5 (R ) /#2128
347 I g 75 FL A D ] o i S L L A 10K VIR i 2k 4k 2524 2857.8 P A V0] 253k () T 7. T A%l (R ) /#1278, R 7S T ARl (R ) i 7. VT 5 (Rl ) /#2124
348 i I g 75 L A D ] o e S L el A ] 10KV Kk 2 4k 3038.6 2857.8 7S, TR AR 3 (i ) . Y 2t () /41 A%, e . YT Rl (P ) e 7. T R (D) /2
349 ] 1 7 75 A4 FL A ) ] o i 0 L A L A ] 10KV 2k 4k 2138.9 2390. 2 A V0] 253k (i 50) T 7. T ARl (R ) /#1728, W 7. il ARl (g ) i 7. ¥ 25 (i ) /#2228
350 ] I g 75 FL A D ] o e S L L ] LOK VAT i — 2k 4k 6500. 3 5715.6 A V0] 253k (i 50) T 7. T A%l (R 0) /#1278, R 7. il ARl (R ) i 7. ¥ 2 (Rl ) /#2148
351 ] 0 7 75 kL A ] ) 1) e 7l ik v 4 ) 10KV A7 26 KR o 4167. 96 5369. 2 FATT. Yok (R ) B 78, Y03k (R ) /#1748

352 [ 1) i 7 A4 HL 8 ) FE ] 1) e 7 ik v A ) 10kVID ST K2k S 3408. 56 4260.7 7S, VI (e ) B 7S, ViR () /#1324

353 e e A =1 M W B T2 3 A [ e e 10kVIT 2k & 8600. 5 9578 T RTT NG 78, SR/ #1324

354 [E R p e LA w0 A A L 2 W B H e JUNGPIN 2 PN2 53 7982 9578 T MR 78, TRV /#1324

355 ] 1 g 75 FL A D T o i e 7l L 0 ] LOK VYT #B 2k Kk 4k 5073. 1 5542. 4 FFS. LRIk (6 ) RE 7S, YL R (o) /#2578, R 7S, YL gl (Tl o) rE 78, YR ol (el o) /#1228
356 [ P LA E] | 0 7 L E D A i o LOKVIL P [ 22k itiek 4k 7982 9578 B 7S, SEVL S R T SR/ #1EA

357 R T R | FE 0 A L 2 AR A L e TOKVYL P 1125 K132k 4k 7878.9 9578 T HETL NG 7S, TR/ H2 3 A

358 e /A N W e e /A 197 R G WY 10K VYT 20 28 K2k [ 7992.3 9578 7S, VRV B 7. VLG /#2424

359 il 4 g 75 A4 FL A D oY ] o v g3 A D 10K VYL — £k KI5k 4k 5718.6 6529. 6 FAS. VLR k (e ) B 78, YL R () /#2578, 7S, YL gl (Tl o) 7. YR o (il o) /#1228
360 ] 1 7 75 P A D ] o i e 7l L 0 ) LOKVYT i — 2% K2k %k 7088. 8 6928 FFS. VLRI (6 P RE 7S, YL RS (o) /#2578, B 7S, YL gl (Tl o) rE 78, VLR ol (el o) /#1228
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361 [ ol g e L A ]| o e 7 R L 2 IR AR e 10KV 48 £ K ABHER 4 8363. 4 9578 P 7S AERT 3 o 7 AT /2 AR

362 [ e LA E] | o e 7 R L DR A L e 10K VYL Z8 — 2k Kk %k 8074.7 9578 T 7 RT3 A L /4 1 AR

363 R PR FE LA R | FE 0 A L 2 R B H e LOKVYLJik — 2k Kk o 8435.6 9578 . AL G 7S, AL/ H23: A

364 [ g e LA T | 0 R 7 L IR A L e TOKVIL R — 26 KI5k 4k 8229. 4 9578 B 7S, SEVL N R T SR/ #1 A

365 [E PR R FE LA w0 S A L 2 R H e TOKVYL IR TR K2R S 9002. 6 9578 T RTT N 7S, SR/ 137

366 e 2 A /A N = 2 A /A 197 R LR G R TOKVYT ST T28 KAk S 8982 9578 7S VRV P . VRV /824 A

367 ] 1 g 75 4 FL A ) ] o i e 7l L ] LOKVYL 26 K3tk 4k 5516. 4 5542. 4 FIFS. VLRI k (6 P RE 7S, YL RS () /#2578, B 7S, YL gl (Tl o) rE 78, VLR ol (el o) /#1228
368 [ g AL A E] | 0 7 L E D A H e TOKVYLAFE 28 KAk 4k 8662. 4 9578 B 7S, VL R T IRV #1 A

369 R FE AL A R FE 0 A L 2 AR A H e 1OKVIT P 125 K2k S 8435.6 9578 T LN 78, TRV /132

370 [E PR FE LA w0 A A L 2 R H e TOKVYT T TR Kk & 8744.8 9578 T IETT NG 7S, IRV /23 A

371 e 2 /A N T 2 A /A 197 R LR G R LOKVYT [ — £ Rt 2k S 10260. 3 11188.7 7S VRV P . VRV /8244

372 R FE LA R | FE 0 S A L 2 R R L e TOK VYT [ T 128 KAk S 8239.7 9578 7S, VL R e, RV /#1424

373 [P FE LA R | FE 0 A L R R r e LOKVYL A 128 K 12k 3 8858. 2 9578 T ETL NG 78, TR/ #1324

374 [ g e LA T | 0 e 7 R L DR A L e 10KVIL B 1125 K itk 4k 8384 9578 B 7S, SEVL N R AL SRV #2FA

375 [ R A FE ) 1) e 7 kv 4 ) TOKVIT W2k K2k S 3476.8 3637.2 7S, VLR (e o) w70, VLR (i o) /42 4%, B 7. YR ol (g o) 1 7. YL ol (g o) /%1 2
376 [ R A ) 1 e ol 3k v 4 ) JUNPIWIIEEPN 2 53 3291.2 3637.2 T 70, VL 3 (e o) i 7. VI 3t (Il o) /42 4%, e . YRl (i o) 1 7. T i (g ) /1
377 [ P pE e B A E] | 0 i 7 L 2 IR A TOKVYLAR IT 2K hif e 4 8847.9 9578 T 7S RT3 A 7 R /2 AR

378 R FE LA R | FE R A L 2 AR R f e TOKVITAX T 28 K1k 3 8724.2 9578 T ETL N 78, VL / 132

379 [ P e LA T | 0 e 7 L E D A L e L1OKVIL A 11 2k itk 4k 8528.3 9578 B 70, SEVL N R T SRV #24A

380 R FE LA R | FE 0 A A L 2 R H e TOKVIT AT T 28 K5tk S 8342.8 9578 B 7S VL R AT VRV #1 A

381 [E PR p e A w1 A A L 2 R H e LOKVIL =12 KLk & 10971. 6 9578 70 VRV P . VRV /#1 44

382 R FE LA R | FE 0 A L 2 R A L e LOKVYL =112k KMift2k S 9291.2 9578 7S, VL R e, VLG /#2448

383 ] I g 75 FL A D ] X A B L L A D 10kV7K 4% AN 0 3775.8 FFE. Ak SRk (BCBE) R 78, 7K ARl ((Ble) /#2728, 78 7K il ({3 B) 7. Ak S (A BE) /#1248
384 ] 1 g 75 FL A D ] X A Bz L A L A D 10KV BE 2k AN 0 3949 FIFE. A SRk (BUBE) R 78, 7K ARl ((Blz) /#2578, W78 7K il ({3 B) 7. Ak Sl (I BE) /#1248
385 I g 78 FL A D ] o 43¢ g L bt 0 ] 10kVAK 2k AN 0 8365. 6 B 7S, K Rk ((CBlE) B 78, Kk SRk (B /#2 4%, B 78, 7k A il (A BE) 7 7. 7K A s (AL BE) /41 24
386 A 78 FL A D ] o 43¢ Bl L e 2 ] 10kV7K 34k AN 0 6529. 6 7S, K Rl (1Bl B 78, Kk SRk (B /#2 4%, B 78, 7k Al (A BE) 7 7. 7K Ak i (L BlE) /%1 A%
387 il 4 g 75 A4 FL A ) T o 43¢ g L it 8 ] 10KV 4k 4 0 8365. 6 FAS. Ak Rk (BCBE) 78, 7K ARl ((CBle) /#2278, W78 7K il ({3 B) 7 8. Ak Sl (A BE) /#1228
388 [P g e v 24 ) [ o0 3 22 Lk A ) 10kVIE i 2k 53 6864 8088. 4 7S IEYENE GE%) B7e. IEVRLS GEZ) /#1174

389 [ g e v 24 ) [ o0 3 22 L ik A ) 10kVIEEE 2k 53 6941.9 8600 7S YRS GE4) B7S. IEVRLS GE%) /#1148

390 T o 7 7 A3 Hh 8 ) ] o 3 2 EL L A ] 10kVIES7 2% S 8978.9 9578 7S IEENE GEZ) B7S. IEVRYS GEZ) /#2148

391 il I g 75 FL A D Y 7 75 Ll A D 10K VHENS £ %k 4491.9 4763 7S MR (V6 75) B 0. BBt (76 78) /41 4%, w7, AR i (V8 7)1 7. AR i (P 70) /42 1%
392 I g e A v 24 ) FE o 76 75 B ik A ) 10KV TS 2 o 5094. 1 6148.6 T, MR (P 75) F 70, MR E (PE7S) /#1748

393 ] 1 7 75 P A D ] Y 7 75 L L A D 10K VAREHLL 4k 4947.6 5906. 1 FFS. ARk (P 70) RE 70, MLRES (P 78) /#1278, 7S, MLl (76 75) rE 70, B S (P 70) /#2228
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394 il 4 g 75 A4 FL A D ] o 8 75 L L A ] 10KV 2% 4k 4244 4763 FAS. Ak (P 70) 0. MR (P 78) /#1278, W 7S, MLl (6 75) 0. BB S (P 70) /#2272

395 ] 1 g 75 FL A ) ] o 8 75 L L ] 10KV A2k %k 3269. 6 3464 FFS. ARk (P 70) RE 70, MLRESE (P 75) /#1278, 7S, MLl (76 75) rE 70, BB S (P 70) /#2228

396 ] 4 g 75 FL A D ] o 8 75 L L ] 10KV 1 4k 4127.7 4763 FFS. B (P 70) R 70, MRS (F 78) /#1278, 7S, MLl (P 75) mE 0. BB S (P 70) /#2248

397 ] 1 g 75 P A D ] o 8 75 Lk L A ] 10k VER#E 2k 4k 6139.4 7326.4 FFE. Ak (P 70) RE 70, ARl (F 75) /#2578, 7S, Al (P 75) R 0. AW ot (P 70) /#1248
398 s I 78 FL A D ] o 7 75 L L A ] 10k VAR 2k 4k 5820. 6 7326.4 FFS. Ak (P 70) R 70, ARl (P 78) /#2578, M 7S Al (76 75) R 0. AW o (P 70) /#1248

399 g 75 H A D o 8 75 L A ] 10KVERI —2 4k 6386.9 7326.4 FAS. Ak (P 70) R 70, ARl (F 78) /#2178, 7S, At (7 75) 0. A ot (P 70) /#1248
400 ] 1 g 75 4 FL A ) Y 7 75 L Y L A D 10k VAFH 2% 4k 6294. 1 7326.4 FFE. Ak (P 70) FE 70, ARl (F 78) /#2728, M 7S, Al (76 75) RE 70, Aot (B 70) /#1228

401 ] 1 g 75 FL A D ] o 8 75 L L ] 10kVER 34k 4k 7108.5 7326.4 FIFS. Ak (P 70) R 70, ARl (P 78) /#2278, M 7S, Al (P 75) R 0. Aot (P 70) /#1248
402 ] 1 g 75 FL A D ] o 8 75 L L ] 10kVERTK — 2k %k 6196.7 7326.4 FFE. ARk (P 70) RE 70, ARl (P 78) /#2578, R 7S, Al (P 75) R 0. AW ot (P 70) /#1248

403 il I g 75 FL A D ] o 8 75 Lk L A ] 10kVERTK —2k 4k 7211.6 7326.4 FFS. Ak (P 70) RE 70, ARl (P 78) /#2578, M 7S Al (76 75) R 0. AW o (B 70) /#1248
404 g 75 H A D o 8 75 L L A ] 10k VER i 2% 4k 6108.5 7326.4 FAS. Ak (P 70) HE 70, ARl (P 78) /#2728, 7S, At (B 75) 0. A ot (P 70) /#1274

405 ] 4 g 75 4 FL A ) ] o 8 75 L e A ] 10kVERfb — 2k %k 5832. 4 7326.4 FFE. Ak (P 70) RE 70, AR (H 78) /#2728, I 7S. Al (B 75) RE 70, Aok (P 70) /#1228

406 ] Y g 75 FL A D ] Y 7 75 L Y A D 10kVAEAL — 2k 4k 5801.9 7326.4 FIFS. Ak (P 70) R 70, ARl (P 78) /#2278, M 7S, Al (P 75) R 0. Aot (P 70) /#1248
407 ] 1 g 75 FL A D ] o 8 75 L L ] 10kVAR i — 2k %k 6819.9 7326.4 FFS. Ak (P 70) RE 70, ARl (F 75) /#2578, 7S, Al (P 75) mE 0. Aot (B 70) /#1248

408 sl I g 75 FL A D ] o 7 75 L L A ] 10kVERAA—2k 4k 6603. 4 7326.4 FFS. ARk (P 70) RE 70, ARl (P 78) /#2578, M 7S Al (76 75) R 70, A ot (P 70) /#1248
409 e 2R /A N 2 A /A 197 R L G S L1OK V228 K3k 53 5864 7330 35KV HL 335KV AU ATrH1 32 48

410 [ P pE e B A E] | 0 i 7 L 2 IR A TOK VA fi] 28 K432k 23 4640 5800 35KV L L 335k V UHF#1 1A%

411 I g e e v 24 ) ) 1) e 7l ik v 4 ) 10KV 4 — 28 K2k 53 8464.7 10374.7 T FEA S T 70, AR AR, /82 A, T 70, AT AR 6 T 7S, A AR /41 32 A

412 ] I 75 FL A D ] Y ] o 7 g4 L A D 10K VA G2k KLk 4k 8330.5 10374. 7 A AT AR T 70, AR /62 1A, R FS. M AR AL AR /61 3

413 ] 00 i 78 L L A ] FE ] 1) e 7l kv A ) 1Ok VA i — 28 K5tk 4 13428.5 10374. 7 70, KB 7S KR /42 A%, P . A A 7S AR /1 A

414 [ R A ) 1) e vl ik v 4 ) 1Ok VA ifE— 28 K52k 53 10743 10374.7 70, KB 7S KB /42 A%, P . A A 7S A /1 A

415 ] 1 7 75 A4 FL A ) o4 ] o v g4 L A D 10KV 26 K5tk # 3972.2 6529. 6 FFE. BRAE Lk (e P I 78, BEAE L3t (e ) /#1278, . e Lk (i ) R 78, Bk AE 1L 3k (el o) /23248
416 ] I g 75 FL A D ] oY ] o 7 3 L A D 10KV % 2k K ik 4k 6387.8 6928 P FE. BRAE Lk (e P I 78, BEAE L3t (e o) /#1278, . RAE Lk () R 78, Bk AE 1L 3k (el o) /23248
417 ] 1 g 75 FL A D ] oY ] o 7 g3 L A D LOK VA FH 2k K hit 2k 4k 5419.6 6529. 6 FFE. HRAE Lk (e ) I 78, BEAE Lt (e o) /#1278, 7. A AE Lk (i o) R 78, BkAE 1Lk (il o) /23248
1418 I g 78 FL A D X ] o 7 R L A D L1OKVAkHEZE KMtk 4k 6202. 2 6928 FFE. HRAE L3k (e P I 78, BEAE L3k (e o) /#1278, FE 8. BRAE Lk (R ) R 78, Bk AE 1L 3k (el o) /23228
419 A 78 FL A D el X ] o 7 R L A D 10k VB 52 28 KI5tk 4 5934. 2 6928 FFS. BRAE Lk (e P R 78, BEAE L3t (e o) /#1278, R 8. B AE sk (R ) R 78, Bk AE 1L 3k (el o) /23228
420 il 4 g 75 A4 FL A ) il oY ] o A4 L A D 10KVl 5 — 2 KAtk 4k 6284.7 6928 P FS. BRAE Lk (e P R 78, BEAE L3t (e v) /#1278, i 7. e Lk (i ) w78, Bk AE 1Lk (il o) /23248
421 ] 1 g 75 FL A D ] oY ] o 7 4 L A D 10KV K 26 K5k 4k 6150. 6 6928 FFE. BRAE Lk (e P I 78, BEAE Lt (e o) /#1278, R . e Lk (i o) R 78, Bk AE 1L 3k (el o) /23248
422 ] 1 g 75 FL A D ] oY ] o 7 3 L A D LOK VAL 2k K itk 4k 6048. 4 6529. 6 FFE. HRAE L3k (e ) I 78, BEAE L3t (e o) /#1278, 7. ke Lk (o) R 78, Bk AE 1Lk (el o) /23248
423 T o 7 7 A3 Hh 8 ) ] o 3 2 EL L A ] 10KV 2k S 7780 8088. 4 T, AEAENG S 7S, AL/ #1324

424 [ A [ o0 32 22 B A TOKVAEFR 2R K2k S 5732.5 5975. 4 B 7S, HEAEU 7S, HEAESG /41 1A, . AL R 7S, REAE /2 A

425 I g e A v 24 ) ] o0 3 22 LIk A ) TOKVHET 28 K A5 2% S 4986.5 5975. 4 . FEAES I 0. REAESN /81 A, T 7S REAE N S 7S, RETE N /423248

426 ] 1 7 75 P A D ] o0 i 7 1l e P L A ] LOKVEETT 28 K5t 4t 8554.5 9560. 6 FIFS. REAEBG I TS, REAENE /81 1A, B AS. REIE N P T, R AL B /62124
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427 [ ) g 7 A4 HL 8 ) ] o0 3 22 LIk A ) 10kVHEHT 2% S 5386. 3 5975. 4 . FEAES I F0. REAES, /81 A, T 7S, REAE N S 7S, RETE N /423248

428 ] 1 g 75 FL A ) ] o 3 2 EL kL ] 10KV el U 28 K15t 2k 4k 5076. 4 5975. 4 FIFS. EEAEBG O, REAENE /81 1A, M AS. REIE N FE T, R AL B /62 12

429 [ ) o 7 A4 FL 8 ) [ o0 3 22 Lk A ) 10kVEEE — 2925 o 5017.4 5975. 4 T, HEAE R F0. REAES, /81 LA, P70, AEAE NG 7S, RETE N /42324

430 ] 1 g 75 P A D ] o 2 2 EL L A ] 10KV el = 25 K 4k 4k 7935 5975. 4 FIFS. EEALB O, AT /81 1A, M AS. REAE N P A R AL B /42 A

431 ] o0 i 78 L L A ] [ o0 3 22 Bk A T0KVEEFd 28 K52k & 7449.8 5975. 4 B 7S, HEAEU 7S, HEAE S /41 1A, B TR, AL B 7S, REAE U /2 A

432 [ ) g 7 A3 HL 8 ) [ o7 3 22 B A TOKVHEFIZE K152k 53 5582. 7 5386. 5 W70, HEAE U 7S, HEAE /41 AR, P . AL B 7S, REAE /2 A

433 [ ) i 7 A4 L 8 ) [ o0 3 22 Lk A ) JIURYERETS P4 S 7109.6 8088. 4 T, FEAES R F0. REAE N, /81 B, P70, REAE NG S 70, RETEN /423248

434 ] 1 g 75 FL A D ] o 2 o EL L ] LOKVAI I 26 K Hit 2k 4k 2923.6 3654.5 FIFS. Mk G 22) R 70, Mkl G /#2708, 7S, st G 22) mE 70, Wt (2 20) /#1248
435 ] 1 g 75 FL A D T o 43¢ g L it 8 ) L10KVHII T2k AN 0 8781.2 FFE. WIHESE (BCBE) 70, I (3 Blz) /#1278, R 78, WIS ((CB) mE 8. MVHESS (1 BE) /#2548
436 il I g 75 FL A D ] o 43¢ g L bt 0 ) 10KV £k A 0 8833.2 7S, MR ((CBlz) B 78, MR (B /#1 E4%, B 0. MISIEss (1 BE) e 7. IS (1 Be) /4214
437 g 75 H A D T o 43¢ g L e 2 ] L1OKVAIFK 2% AN 0 6529. 6 A WIHESE (BCBE) 7 70, I ((Ble) /#1748, W 78, WIS ((CB) e 0. MDRES: (1 B) /#2248
438 ] 4 g 75 4 FL A ) ] o 3 2 EL kL A ] LOKVHIZZE91 K 1k 4 3047.3 3654. 5 FFS. Mk G 22) FE 7S, Mkl G ) /#2178, 7S, et G 22) R 70, WDt (2 20) /#1248
439 ] Y g 75 FL A D ] o 2 2 EL L ] LOKVAIIAT 26 K3 ER 4k 3377.2 3654.5 FIFS. Mk G 22) RE 7S, Mkl G ) /#2728, 7S, sl G 22) rE 70, WDt (2 20) /#1248
440 ] 1 g 75 FL A D ] o 2 2 EL kL A ] LOK VA2 K Mtk 4k 3387.5 3654.5 FFE. Mk G 22) RE 7S, Mkl G ) /#2728, 7S, sl G 20) rE 70, WDt (2 20) /#1248
441 sl I g 75 FL A D ] o 3 2 L L A ] LOKVAI# 2k K 1t 2k 4k 4855. 2 5040. 1 B 7S, M (i) B 0. i G 42) /42 4%, B 0. MDEsl G 22) 7 G, WIS G 20) /#1124
442 g 75 P A D ] 0 3 2 EL L ] LORVAIHT £ K5t 4k 3047.3 3654. 5 7S, MG G 2) o 0. M G 42) /42 4%, v 7a. M0l G 22) v 7c. MMl G 0) /#1124
443 ] 4 g 75 FL A ) ] o 43¢ Bl L 2 ) 10KV B 2% AN 0 3775.8 FFE. WIHESE (BCBE) 7 78, I ((Ble) /#1728, R 78, IS ({3 B) /78, MVHESS (1 BE) /#2248
444 ] I g 75 P A D ] o 3 2 EL i L ] LOKVAIH- 26 K32k 4k 3254.7 3654. 5 FIFS. Mk G 22) R 70, Ikl G ) /#2708, M 7S, el G 22) rE 70, WDt (2 20) /#1248
445 ] I 75 FL A D ] o 2 2 EL ik L A ] LOKVHI R 2k K5k 4k 3356.6 3654.5 FFS. Mk G 22) R 70, Mkl G ) /#2708, 7S, sl G 20) I 70, Wt (2 20) /#1278
146 I g 75 FL A D o 43¢ g LA bt 2 ] 10KV R 2% AN 0 3775.8 7S, MR () B 78, MVHE (X B) /#1 E4%, B 0. WIS, (1 BE) e 7. I8 (1 Be) /#2548
447 i I g 75 L A D ] o 43¢ g L e 8 ] 10KV S 2% AN 0 3083 70, MR (Bl P 70, MDHES (B /#1 E4%, v 0. WIS (1 BE) e 7. MIBE s (1 Ble) /4254
448 ] 1 7 75 A4 FL A ) ] o i v 7l HhL 2 ] OV 2k K5k 4k 2574.1 2598 FFE. AHENE (6 ) B 7S, A (il o) /#1278, 7S, APt (el o) R 78, M (el o) /#2248
449 ] I g 75 FL A D ] o i e 7l L ] 10K VAT K2k KR 4k 3387.2 4416.6 FFE. AHENE (6 P B 7S, MBS (il o) /#1278, 7S, APt (el o) R 78, A (el o) /#2248
450 ] 1 g 75 FL A D ] o i e 1l L ] LOK VA1 426 KMtk 4k 4124.8 4416.6 FFE. ATHENE (e P R 7S, MBS (il o) /#1278, 7S, APt (el o) mE 78, MRS (el o) /#2248
451 I g 78 FL A D ] o8 i e 7l HhL 2 ] TOK VAT FE 28 Kk 4k 2593.9 2598 7S, ARG (e o) B 78, MHEG (i o) /#1248, B 0. A (e ) e 7. A (e o) /#2548
452 A 78 FL A D ] o i e vl e 2 ] TOK VA1 28 K M2k 4 2458.6 2944. 4 7S, AHEG (e o) B 70, AEHES (i o) /#1248, B e, ARSI (e v 1 7. A (e ) /#2148
453 il 4 g 75 A4 FL A ) ] o i e 7l HL 2 ] LTOKVHI#R 2k K15tk 4k 2657.7 3637.2 P FS. AHENE (6 ) 70, A (il o) /41 22728, R 7S, APt (el o) i 0. M (el o) /#2228
454 ] 1 g 75 FL A D T o i e 7l L 0 ] LOK VAT B 28 Kk 4k 3701.7 3637.2 FFE. AHENE (e P B 7S, MBS (il o) /#1278, R 7S, APt (el o) R 78, M (e o) /#2248
455 ] 1 g 75 FL A D ] o i e 1l L 2 ] LOK VA1 2k K Mtt2k 4k 2285 2598 FIFE. ACTHENE (e P R 7S, A (il o) /#1278, 7S, At (el o) rE 78, MHESS (el o) /#2248
456 ] 1 g 75 P A D ] o i e 7l L 2 ) T0KVHI 22 2 K5k 4k 2309. 2 2598 FFE. AHENS (e P B 7S, A (il o) /41 22728, R 7S, At (el o) R 70, MAHESS (el o) /#2248
457 [ ) i 7 A4 HL 8 ) [ R E L B A TOKVART 28 K i 2k S 6165.9 7707. 4 . AR FE 75, WU/ 41327

458 [ ) g 7 A4 HL 8 ) [ R L B A 10kVARZK 28 K15 2% S 6165.9 7707. 4 . URRG FE 75, XUAR /413248

459 ] o0 7 78k L 2 ] o0 7 1Ly L L ] 10KVHR I £ o 6526.7 7707. 4 T, ARG FE 78, WO/ 413278
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460 [ ) g 7 A4 HL 8 ) [ R L B A 1OKVAR X 2k S 6537.1 7707. 4 . URRG FE 75, XUAR /413248

461 ] 1 g 75 FL A ) P L B A ] 10kVAK £ 2 K5t 4k 5930 7361 B 70 MUK R T, RO /#1424

162 ] 4 g 75 FL A D ] o 8 75 L L ] 10KV & 4% 4k 6665. 2 7326.4 FIFE. M F AU TS A F Mk /2, B A M FE RS 7S, M R Mk /1

1463 ] 1 g 75 P A D ] o 8 75 Lk L A ] 10k VA7 2k 4k 4807. 4 5906. 1 FIFE. M AR TS M F Mk /2, B RS M FE RS S M M/ H1 A

464 s I 78 FL A D ] o 7 75 L L A ] 10kVAZHi 2k 4k 6946. 7 7326.4 FI7S. BF MU P 78, MM /42 1A, P . M KAl v . W M /1 A AR

465 g 75 H A D o 8 75 L A ] 10KV A7 i — 2k 4k 5861. 1 7326.4 FFS. M F A TS A F M /2, B MRS 8. M R M/ #1 A

466 ] o0 7 78k L ] o8 176 75 B ik A ) 10kVH# e — 28 4 7850. 8 7326. 4 T M F AR T A MU/ 42278, B TS M F A 7S, M /61 32

467 ] 1 g 75 FL A D ] o 8 75 L L ] 10KV A7 el — £k 4k 6840.5 7326.4 FIFE. M A TS. A F Mk /2, B A MRS S M R Mk /1 A

168 ] 1 g 75 FL A D ] o 8 75 L L ] 10kVH% i 2k 4k 4544.8 5681 FIFE. AR TS. M F Mok /2, B A MRS 7S M R M/ 1 A

469 il I g 75 FL A D ] 0 i 7 1l A B L A 10KV 2k A 0 5975. 4 B 7S, ARk (e B B 70, 2RI (R b /#2148, B 7n. 2RVl oy ) v 7. 200 o BF) /#1124
470 g 75 H A D ] 0 i 7 Tl 3 B A 10KV — 2k AN 0 5975. 4 FFS. ARk (R PR) M 70, 25Ul (R ) /#2078, I AS. 2l (R b0) mE 0. 20Uk R o) /#1274
471 ] 4 g 75 4 FL A ) ] o0 7 7 1l 3 B ke A ) INES2724 AN 0 5975. 4 FIFS. ARk G PP) FE 70, 2RIl (R dP) /#2078, 7S, 2l (o) mE 70, 2R U0k R o) /#1248
472 [N AR L ) i 7 11 5 B L 2 ) JUNFNIEE A 0 9577.5 T, AL TR, A Lk /82 A, P A AR LR 7S, SR Ll /4332 A

473 ] 1 g 75 FL A D ] 0 i 7 1l 3 B L L A ] 10KVAIE 2k AN 0 11188.7 A ARSI FE. ALk /82 1A, B AS. AR LRI A, ARl Bl /43 34

474 sl I g 75 FL A D ] 0 7 7 1l A B L A 10KVZR 7% — £ K ABHER AN 0 9578 A ALBEREFE. ALk /82 1A, B AS. RS FE 7. Al sl /4334

475 g 75 P A D ] 0 i 7 1l B B A 10KVZR 7% — £ K ABER AN 0 11188.7 B 7S ALl 7S Al /42 AR, B ARl R 7S ARl /3 A

476 ] 4 g 75 FL A ) ] o0 7 7 1l 3 B A ] 10KV 2k AN 0 11188.7 A ARSI FE. ALk /82 1A, B FS. AR LS FE T, ALt/ #3348

477 ] I g 75 P A D ] o0 i 7 1l B B A 10KV —2k AN 0 11188.7 FIFS. RS FE. ALk /82 1A, M FS. RIS FE T, ARl sl /4334

478 ] I 75 FL A D ] o i 7 1l 3 B L e A ] 10KV H 2 Rk AN 0 11188.7 A ARSI, ALk /82 1A, B FS. AR LRI A, ARl dl /#3348

479 I g 75 FL A D ] 00 7 7 1l A B L A 10KV H 28 Kk a 0 11188.7 FI7S. AL 7S A /42 AR, BT ARl R 7S ALl i/ H3 A

480 i I g 75 L A D ] 0 i 7 Tl B B A 10KVAHEZE AN 0 11188.7 B 7S AL TS At/ 42 AR, B ARl R 7S ARl i/ H3 A

481 ] 1 7 75 A4 FL A ) ] o0 7 7 1l 3 Bk e A 10KkVARAR 2RISR AN 0 11188.7 A ARSI TS, ALk /82 1A, B FS. AR LRI T, ALt/ #3348

482 ] I g 75 FL A D ] o0 7 7 1l B B L e A 10KV AR — 2R Rk AN 0 11188.7 A RS REFE. ALk /82 1A, B FS. AR LS FE T, ARl dl /#3348

483 ] 1 g 75 FL A D ] 0 i 7 1l 3 Bk L A ) 10KV L2 K5k AN 0 8746.9 FIFS. RS REFE. ALk /82 1A, M AS. AR ISR T, ARl sl /#3348

484 I g 78 FL A D ] o0 i 7 1l A B A 10KVAAT 2k AN 0 9577.5 A ARLBE R TS, ALk /82 1A, MIFS. AR LS FE 7. LBt /43348

485 T 7 i 7 A4 L A ] ] ) g 7 1 5 B L 8 ) TOKVA U — 28 K52k . 0 11188.7 FI7S. ALl 7S ALl /42 AR, BT ARl R 7S, ALl /43 A

486 il 4 g 75 A4 FL A ) ] o i 7 1l 3 Bk e A ) 10KV e —£R K ABHER 4 0 8746.9 A ARSI S, ALk /82 1A, M AS. AR A, ARl /#3348

487 ] 1 g 75 FL A D ] 00 7 7 1l 3 B L e A ] L1OKVARFLZL K IiEL 4k 7662 9577.5 A ARSI FE. ALk /82 1A, B FS. AR LRI T, ARl / #3348

488 ] 1 g 75 FL A D ] 0 7 7 1l 3 B kL A ) 10kVZRHLLk AN 0 9577.5 A LB FE. ALk /82 1A, M AS. AR LR A, ARl dl /#3348

489 ] 1 g 75 P A D ] o e S L L ] 10KVA K2 # 3900. 1 2840.5 P A Ak (7 56) 70, Al (R ) /#2578, R 7. ARl (R ) i 0. A st (Rl ) /#1248
490 il I g 75 FL A D ] o e S L L A ] 10KVAHHZE %k 4171.3 3585. 2 7S, RAC G (R 0 P 0. R (R 36 /#2148, B 7. A il (R #6) 7 G, ARAC S (P D) /%1
491 il 4 g 75 A4 FL A D ] o e 0 L L A ) 10KVACH 4% 4k 3390. 1 4278 A Ak (i 358) 7 70, Al (R ) /#2728, W 7S ARl (R ) i 0. A 3 (i ) /#1272
492 ] 1 7 75 P A D ] o i 0 L A L ] L1OKVACH £ 4k 4847.5 5057. 4 FFE. Ak (P 56) 70, Al (R 0) /#2728, R 7S ARl (R ) i 70, A 3 (Rl ) /#1228
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493 il 4 g 75 A4 FL A D ] o e 0 L L A ) 10KVAC 44 4k 3496.5 4278 A Ak (i 58) 7 70, Al (R ) /#2578, W 7S ARl (R i) 7 0. A s (i ) /#1274
494 ] 1 g 75 FL A ) ] o e 0 L L ] 10kVA 2% # 5695. 2 5057. 4 FFE. Ak (P 6) 70, Al (R ) /#2728, R 7S ARl (R ) i 70, A s (i ) /#1228
195 ] 4 g 75 FL A D ] o e S L L 10KVA 14k 4k 3225.3 3481.3 FFE. Ak (P 50) 70, Al (R ) /#2578, 7S ARl (R ) 0. At (R ) /#1248
196 ] 1 g 75 P A D ] o e S L L 10KVA =2k 4k 2702.3 2840.5 P A A (i 56) T 70, Al (R ) /#2578, R 7S ARl (R ) i 0. A i (R ) /#1248
497 s I 78 FL A D ] o0 7 7 1l e P L A 10KVEE e — 28 K52k 4 8030 9560. 6 FIFS. A T, S /62 1, R AS. S . /61 A

498 g 75 H A D ] o0 i 7 1l e P L A D 10KV E P —ZZ KAk 2k 4k 7440.9 8746.9 FAS. HA A, S /62 1A, I AS. A . /61 A

499 [ ) i 7 A4 L 8 ) ] o0 i 7 1l e P L A ) 10KVEH YR 2% 23 8951 11188.7 T SRR . I /42 A, FEAS. SR T AS. St /61 A

500 ] 1 g 75 FL A D ] 4 g 78 1l e PR A A LOKVEYT. 2 Kk 4k 8586. 7 9560. 6 FIFS. BB . S /62 1A, R AS. B . /6 A

501 ] 1 g 75 FL A D ] o0 i 7 1l e P L A ] 1OKVEYL— 2k Kk 4k 8700. 1 9560. 6 FIFS. U T, S /62 1A, R AS. S . /61

502 il I g 75 FL A D ] o0 7 7 1l e P L A 10KV Jili — £ K A5HER 4k 10411. 4 9560. 6 FFS. AR T, S /62 1A, R AS. SR . /61 A

503 g 75 H A D ] o0 i 7 1l e P L A 10KV ER i — 2k KI5tk 4 9678.9 9560. 6 FAS. HA A, S /62 1A, I AS. A . /61 A

504 ] 4 g 75 4 FL A ) ] o g 78 1 e PR A A 10K VEE b 28 KLk 4 7874.2 9560. 6 FIFS. ARG TS, S /62 1, I AS. S . /81 A

505 ] Y g 75 FL A D ] o0 7 7 117 e P L A 10K VE Fh— 2k KA EL 4k 8328.9 9560. 6 FIFS. BB T, S /62 1, I AS. S . /6 A

506 ] 1 g 75 FL A D ] o0 i 7 1l e P AL L A ] 10KVEE SE 2k K5k 4k 9184.6 9560. 6 FFS. B . S /62 1A, R AS. B . S /6

507 sl I g 75 FL A D ] o 3 2 L L A ] 10KVHE Rk AN 0 11240. 7 FIFS. FRWES T 70, ARG /62 1A, M AS. AR R . R /81 3

508 [ ) o 7 A3 HiL 8 ) FE o 5 Bl ik v 24 ) 10kVEFHR 2K s 0 6529. 6 . MRS T 70, AR, /42 F A, T 70, ARV T 70, AR /41 3 A

509 ] 4 g 75 FL A ) ] o 43¢ Bl L 2 ) 10KV R 2k AN 0 11743 FIFS. ARWEB T F0. AR /62 1, M FS. AR IR . AR /81 A

510 ] I g 75 P A D ] o 43¢ Bl L it 8 ] 10KV P2k AN 0 8781.2 FIFS. AR TS, AR /82 1A, M AS. AR IR . AR /61 1A

511 ] I 75 FL A D T o 43¢ g L it 8 ) 10KV 2k AN 0 8781.2 FIFS. AR F0. ARG /62 1A, M FS. AR IR R A, AR /61 2

512 I g 75 FL A D o 43¢ g LA bt 2 ] 10KVARIR 2k AN 0 6529. 6 70, AR 78, ARG /42 1 AE, P 0. AR IR B 78, AR Ul /61 A

513 i I g 75 L A D ] o 43¢ g L e 8 ] 10kVEFIR 4k AN 0 9785.8 FAS. AR T A0, ARG /62 1A, M AS. AR IR . AR /61 3

514 ] 1 7 75 A4 FL A ) ] o 43¢ g L Hht 2 ) 10KV 4% AN 0 13284. 4 FIFS. AR F0. AR /62 1, M FS. AR IR T, AR /61 A

515 ] I g 75 FL A D T o 43¢ g L it 0 ] 10KV 4% AN 0 8781.2 FIFS. AR FO. AR /62 1A, M FS. AR IR A, AR /61 A

516 ] 1 g 75 FL A D ] o 43¢ g L bt 8 ] 10KV L2k AN 0 9785.8 FIFS. MR FO. ARG /62 1A, M AS. AR R . AR /61 2

517 I g 78 FL A D ] o 43¢ g L bt 0 ] 10KV 11 2% AN 0 11743 FIFS. FRWES T F0. ARG /82 1A, M FS. AR NE S FE A, R /81 3

518 A 78 FL A D ] o 43¢ Bl L e 2 ] 10KV H 145 AN 0 11743 FIFS. MRS F0. ARG /62 1A, M AS. AR IR . R /61 3

519 il 4 g 75 A4 FL A ) T o 43¢ g L it 8 ] 10KV B 4k 4 0 6529. 6 FFS. FRWED 0. AR /82 1A, M AS. AR IR A, AR /81 A

520 ] 1 g 75 FL A D T o 43¢ g L it 8 ] 10KV i 2 AN 0 111714 FIFS. AR FE. AR /62 1A, B AS. AR IR FE T, AR /61 1A

521 ] 1 g 75 FL A D T o 43¢ g L it 8 ] 10KV 5 4% AN 0 10374. 7 FIFS. AR T F0. ARG /62 1A, M AS. AR IR A, AR /61 2

522 ] 1 g 75 P A D ] o 43¢ g L it 1 ) 10KV 2k AN 0 11067. 5 FIFS. ARWEB E FO. ARG /62 1A, M AS. AR IR A, AR /61 A

523 il I g 75 FL A D o 43¢ g L e 0 ] JUREERENY AN 0 6529. 6 FIFS. FRWEB T F0. ARG /62 1A, B AS. AR IR . AR /61 3

524 il 4 g 75 A4 FL A D ] o 43¢ g L et 28 ) 10kVEA= 2k AN 0 11743 70, AR 7S, ARG /42 AR, R A AR 7S, AR /R A

525 [ o e LA E] | o e 7 R L IR A L o 10kVELH 2RIk %k 9456. 2 9578 A HAEE TS TR /8 1, B A, FLR W A R /82 A




Fs WA AR BAR LK REELIR TSR LiPip: €53 HERER LHER

526 R R e LA R | FE 0 A A L 2 R L e 10KV H — 2R K5tk S 11064. 4 9578 . R, R /8 R, A RN A, HUR /2 A

527 [ e LA E] | o e 7 R L DR A L e 10KVE G526 KAk 4k 8373.7 9578 A HAEE TS TR /8 1, B A, FLR W A R /82 A

528 [ R R A E] | 0 7 L D A L 10KV 2 B T2 K itk 4k 7662. 4 9578 A KA. TR /# T, A RN T R/ e2

529 [ g e LA T | 0 R 7 L IR A L e 10KV A2 F 1125 K itk 4k 8899. 5 9578 A KRR TS, TR /# T, A, LR R A R /82

530 [E PR R FE LA w0 S A L 2 R H e 10KV — 28 K5tk & 8507.7 9578 7S TR TS TR /41 R4, B . TR MR 78, TR /42 1A

531 e 2 A /A N = 2 A /A 197 R LR G R 10KV — 2R KI5tk [ 9806. 7 9578 . R T TR /8 R, A, TR S A, TR /2 A

532 [ e LA || 0 e 7 L IR A e 10KV A 3L 4 KAk 4k 8322.2 9578 A HAEE TS, TR /8 1, B A, FLR B A /82

533 [ g AL A E] | 0 7 L E D A H e 10KVE 30— 20 Rk 4k 9435.6 9578 A KR TR /# T, A, RN T R /82

534 R FE AL A R FE 0 A L 2 AR A H e 10KV IR K T28 Ktek S 8982 9578 . FR T, TR/ B, A TR A, FUR /2 A

535 [E PR FE LA w0 A A L 2 R H e 10KV KTTZE Kk & 7683 9578 7. TR TS, TR /41 R4, B . TR 7S, TR /42 A

536 [ g e LA E] | e 7 R e 2 DR A s 10KV 7 1 £ K tif ke 4k 9105.7 9578 A MR . TR /# T, WA, HLR S A R/ e2 A

537 [ A ]| 0 i 7 A L 2 ] IR AL i oo 10kVEL R T 28 Rk 4 11012.9 9578 TS, FR T, R /81 R, TS, HUR N A, HUR N/ H2 A

538 [P FE LA R | FE 0 A L R R r e TOKVEAX T 2 K1k o 8827.3 9578 . FR T R /8 AR, A, TR SRS A, FUR /2 3

539 R FE AL AR FE R A L 2 R H e LOKVAE X T 128 Ktk o 8497.4 9578 . FR T TR /81 R, A TR NS A, FUR /2 A

540 [E PR FE LA R | FE 0 A A L 2 R H e 10KV i 28 K5tk & 8507.7 9578 7S TR TS, TR /41 R4, B . TR 8. TR /42 1A

541 e 2R /A N 2 A /A 197 R L G S 10KV i — 2 K5t 2k & 8920. 1 9578 A TR S TUR /41 R4, d . TR 78, TR /42 2

542 [ P pE e B A E] | 0 i 7 L 2 IR A 10KV A fH 28 KAk %k 7662. 4 9578 A MRS, FUR N /# 1E, B, FLR MR T R /82 A

543 ] I g 75 P A D ] o 43¢ Bl L it 8 ] 10kVH 2k AN 0 8365. 6 FIFE. H ek () RE 7S, H 2l ((Ble) /#2578, B 7S, H 2l () mE7e. H sk (IXB) /#1248
544 ] I 75 FL A D T o 43¢ g L it 8 ) 10kVH #E 4k AN 0 8365. 6 FIFE. H ek () RE 7S, H 2l (Ble) /#2578, B 7S, H 2l () rE e, H sk (1XB) /#1248
545 I g 75 FL A D o 43¢ g LA bt 2 ] 10kVH 22 AN 0 6529. 6 BIFE. Ml ((Ble) 78 %k (B /#2548, B 7n. F 2%k (B) B 78, F 8 (1 Be) /#1148
546 i I g 75 L A D ] o 43¢ g L e 8 ] 10kVH 2k AN 0 8365. 6 B 7S Ml ((CBle) w70 %k (B /#2148, w7, F %l (IB) #E 78, F s (1 Be) /#1124
547 ] 1 7 75 A4 FL A ) ] o 43¢ g L Hht 2 ) 10kVH A%k AN 0 8365. 6 FIFE. H ek () RE 7S, H 2l ((Ble) /#2578, B 7S, H 2l (i) mE e, H sk (IXB) /#1248
548 ] I g 75 FL A D T o 43¢ g L it 0 ] 10KV H #52k AN 0 6529. 6 FIFE. H ek () RE 7S, H 2l ((Ble) /#2578, B 7S, H 2l ((Bi) rE e, H sk (IXB) /#1248
549 ] 1 g 75 FL A D ] o 43¢ g L bt 8 ] 10KV H X2k AN 0 8365. 6 FIFE. H ek () R 7S, H 2l ((Ble) /#2578, M 7S, H 2l () mE e, H ik (IXB) /#1248
550 [ R A FEME LBt R A 10KV 128922 K 5t 2% a 0 4936. 2 7S, BT RE 78 vpi CEF L) R 70, 00 i G 1) /41 3278, RIS, T 42788 v G L) R 70, 0 il G ) /428
551 A 78 FL A D ] o 7 75 L L A ] 10KV — 2 4 7148.4 7326.4 7S, T TS R /42 A, R T R AT /R A

552 il 4 g 75 A4 FL A ) ] o 8 75 L Hh A ] 10KVl — 2 4k 8428. 1 7326.4 FFS. B A /82 1, I AS. O A /6 A

553 ] 1 g 75 FL A D Y L B AR 10KV 1k 2k AN 0 4104.8 7. B 3748 sk G LD RE 78, T i G L) /81 22788, 7S, M 7 it L) P 7. R ik () /4232
554 ] 1 g 75 FL A D ] o 8 75 L L ] 10KV ik =2k 4k 7273.5 7326.4 FIFS. B A, T/ H2 1E, M AS. T A /61 A

555 ] 1 g 75 P A D ] o 8 75 Lk L A ] 10KV Ib— 2k 4k 8191 7326.4 FFS. BT, /62 1A, M AS. O . R/ 6

556 [ A B LBt H A 10K VHT [ £6913 Ktk a 0 4104.8 175, BT RG S7A vsah CEF 1L) F 7. 90 S G 1L1) /61 3278, T 78, TR 73 v G 1 L) m 7. 00 S 1) /423278
557 [ ) g 7 A4 HL 8 ) ] o g 4 L ik A ) 10KV J 2k S 2708.7 2909. 8 AT PRk, BT RN A

558 [ ) g 7 A4 FL 8 ) ] ) g 4 L ik v 4 ) 10KV ££924 o 4254.9 4468. 6 T PRl LA, BT RN AR
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559 [ ) g 7 A4 HL 8 ) ] o g 4 L ik A ) 10kVHRINZE S 6894. 1 7742 AT PRk, BT RN A

560 ] 1 g 75 FL A ) ] o i e 7l L ] 10KV I8 A= 2 K5t 4k 2237.7 2598 FFS. R E (e rp) RE 7S, B (o) /#1278, R 7S, Bt (el o) rE 70, R (il o) /#2228
561 ] 4 g 75 FL A D ] o i e 1l L ] 10KV B 26 K5k 4k 2450.3 2598 FFS. AR (e rp) RE 7S, R (o) /#1278, I 7e. Bt (el o) rE e, SRt (il o) /#2228
562 ] 1 g 75 P A D ] o e S L L L1OKVIEALZE K ik 4k 2599. 6 2598 FFS. AR (e ) RE 7S, R (il o) /#1278, 7S, MKt (el o) A 78, SR (il o) /#2248
563 ] o0 i 78 L L A ] ) 1) e 7 kv 4 ) 10KV K il 2k 4k 2170.6 2598 B 7S, R (e o) m e, SRR (i o) /41 4%, m . JE s (g v) 1 7. B (g o) /42 14
564 g 75 H A D ] o i e vl L 2 10KV IE 7 26 KAk %k 2611.2 2598 FAS. AR (e rh) RE 7S, S () /#1278, 7S, SVt (el o) e 7. R ARt (il o) /42 24
565 ] 1 g 75 4 FL A ) ] o i e 7l L ] 10k VIR B2 KLk # 2132.3 2598 FFS. Rk (e rp) RE 7S, B (o) /#1278, R 7s. Bt (el o) rE 70, Rt (il o) /#2228
566 ] 1 g 75 FL A D ] o i e 1l L 0 10KV AL L KL 4k 2534. 4 2598 FIFS. AR (e rp) R 7S, B (o) /#1278, i 7s. Bl (el o) rE e, R At (il o) /#2228
567 [ ) i 7 A4 FL 8 ) ) 1) e 7l ik v A ) 10KV T 28 KAk 53 4680. 7 5490 PO\ 2878 TR 2%

568 il I g 75 FL A D ] o 3 2 L L A ] 10KVER B 4k KI5tk 4k 3109. 2 3654.5 FIFS. AR IRk () 0. AR G 42) /41 BA%, B 0. AR Kl G 20) FE 8. RS (G 20) /#2124
569 g 75 H A D ] 0 3 2 EL L A ] 1Ok VAR B 28 KA ER 4k 3424.5 3654.5 A R G2 7S RE G ) /#1178, M. IR GE20) 0. R ol (%) /#2574
570 ] 4 g 75 4 FL A ) ] o 3 2 EL kL A ] 10K VAR T 2k KAk 4 3346.3 3654. 5 FIFS. Rk G2 TS, RE G ) /#1178, MIAS. IRl G 20) 70, AR Kol (%0) /#2278
571 ] Y g 75 FL A D ] o 2 2 EL L ] LOKVAR XS 26 KA EL 4k 5463. 1 5975. 4 FIFS. SRk G2 7S, RE G ae) /#1178, MIAS. MRl G20 8. kol (%) /#2174
572 ] 1 g 75 FL A D ] o 2 2 EL kL A ] LOK VAR i 2k Ktk 4k 5305.5 5975. 4 FIFS. R (G2 TS, R GEe) /4178, MIAS. IRl G20 8. fR kol (%0) /#2748
573 sl I g 75 FL A D ] o 3 2 L L A ] LOKVER A4k KI5tk 4k 5415.9 5975. 4 BIFS. AR IRk () 0. AR G 42) /41 1A%, I 70, AR Kl G 20) FE T7E. RS (G 20) /#2148
574 g 75 P A D ] 0 3 2 EL L ] L1OKVAR 5K 2k KA ER 4k 5756. 6 5975. 4 FIFS. AR IR () P 0. AR G 42) /#1 1A%, P 7n. AR Kl G 22) HE G, RS (G 20) /#2174
575 ] 4 g 75 FL A ) ] o 43¢ Bl L 2 ) 10kVik 4k AN 0 6529. 6 70, KA B (1B B 78, Sk A0k ((XB) /#1348

576 ] I g 75 P A D ] o 43¢ Bl L it 8 ] 10kVik B 2k AN 0 6529. 6 7S, Tk A (1) B 78, Tk A uE ((BR) /#1348

577 ] I 75 FL A D T o 43¢ g L it 8 ) 10KV 42k AN 0 6529. 6 FIFS. SR A NS (B R 7S, Tk A S () /#1348

578 I g 75 FL A D o 43¢ g LA bt 2 ] 10kVik =2k AN 0 6529. 6 FI7S. TR A () B 78, Tk Ak (B /#1348

579 [ 1) o 7 A3 HL 8 ) ] % o 7 L i A ) 10KV 2k 53 4306.9 4953.5 7S, Al (R ) P 7S, Nt (R ) /#1324

580 ] 1 7 75 A4 FL A ) ] o i 0 L A L A ] 10KV £k 4k 3227.4 3585. 2 R FE. ek () P 7S, ANk () /#2EA

581 ] I g 75 FL A D ] o e S L L ] 10KV Bk 4k 3334.2 2840.5 70, ek () B 7S, ANk (R ) /#1348

582 ] 1 g 75 FL A D ] o e S L L 10KV PU £ 4k 2267.5 2840.5 70, ek () B 7S, ANk (R ) /#2E

583 [ 1) i 7 A4 HL 8 ) ] % i 7 L ik A ) 10KV AZ 2% S 3524.4 3810.4 FIFS. Ak () P 7S, @k () /#1324

584 A 78 FL A D ] o e S L el A ] 10KV S 4k 4 4179.1 4953.5 FIFS. A () P 7S, @k () /#1324

585 il 4 g 75 A4 FL A ) ] o e 0 L L A ] 10KV 14k 4k 5095. 5 4953.5 70, ek (R ) B 7S, ANk () /#23A

586 [ ) i 7 A4 FL 8 ] ] ) g 4 L ik v 4 ) 10kVEE =2k 3 4108.7 4953.5 FTT. f 2k (FE ) B 70, |l (RE ) /#2 A8

587 [ ) g 7 A4 HL 8 ) R FRE L B A 10k Vil i 2k 53 4641. 76 5802. 2 35KV L B 336 7 75 KRG L3 CEF L) /41 148

588 ] 1 g 75 P A D ] o i e 7l L 2 ) 10KV 1 2k K5k 4k 3841.4 3637.2 FFS. ARATBEREFS. ZR I /2 2, P A, AR ST S T AS. R /43

589 ] 0 7 78 L L A ] ) 1) e 7 v 4 ) TOKVJH A 28 K152 4k 2644. 2 2944. 4 B 7S, AT R I P 7S R R /2 A, P . AR R S . R e /3 AR

590 il 4 g 75 A4 FL A D ] o i e vl HhL 2 ] TOK VIR R 2k KI5 ER %k 2984. 4 2944. 4 PFS. ARAT B 70, 50T /2 R, P RS AR A T A0 2 /43

591 [ ) g 7 A4 FL 8 ) [ R L B A 10k VI K2k 53 4641. 76 5802. 2 35KV L B 336 7 78 R C L3t CEF L) /41 18
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592 il 4 g 75 A4 FL A D ] o i e vl HhL 2 ] 10K Vi3 2k KLk 4k 7860 8781.2 PAS. ARAT G0 70, 50T /2 R, P RS AR A T A0 2 /43

593 ] 1 g 75 FL A ) ] o i e 7l L ] 10KV ¥ — 2k KLk 4k 9488. 9 8781.2 FFS. AT FS. Z5 0k /2 7, P A, AR T R S T 7S 5 /43

594 ] 4 g 75 FL A D ] o i e 1l L ] OV X2k KA 4k 2853.6 2944. 4 FIFS. AT SR FS. A3k /2, P A AR T RS T FS. A5 /43

595 R FE LA R | FE i A L 2 AR H e TOK V7 IR 2 K1 2k 53 9188. 1 9578 T, BT, KA /81 A, F . B A, R /2 A

596 T 7 i 7 A4 el A ) ] ) i 7 71 3 B L 2 ) TOKVH7 PR I 28 K151 2% 4k 14012. 8 11188.7 [0 ST R SV I S T e S 2 o

597 ] 0 i 78 kL A ] ] ) g 7 7 5 B L 8 ) 10k Vit R 2 Rk 4k 10353. 1 9578 7S A TS /41 A, B, R S R /2 R

598 ] g e A v 2 ) ] ) g 7 7 5 B L 2 ) TOKVAHY R =2k K5t 2k 23 10208. 8 9578 . AT, A4 A, F A, B A, R/ 2 A

599 T o i 7 A4 Hh 8 ] L ) i 7 11 5 B L 2 ) TOKVAHT FR— 28 K5t 2k 4k 10682. 9 11188.7 T, BT, Bk /a1 A, IS, B A, R/ 2 3

600 [ g e LA T | 0 7 L E IR A H o 10KV 78 11 £ K hif ke 4k 9208. 7 11188.7 A B . KAk /# 1A, M. B R A B/ a2

601 [ R e LA E] | 0 i 7 R L E DR A s 10KV 7t [ 2R K itk 4k 9404. 6 11188.7 [0 ST R SV S I S L e S 7 o

602 [ g e LA E] | e 7 R e 2 DR A s L0V 85 11 28 K132k 4 8549 9578 A R . /4L 1A, M. R A R/ e2 3

603 [ P e LA E] | 0 e 7 R L 2 DR A H oo 10KV i T2 K it 2k 4 9394.3 9578 A B . Bk /411, M. B A B /421

604 [ P pg LA E] | 0 7 L E DA H 10KV L2k KA ER 4k 5742. 4 6495 A EW . Bk /41 1A, A, B A E /a2

605 [ g e LA T | 0 e 7 R L DR A L e 10KV Hi 2 K15k 4k 7668. 4 9578 A B KAk /#L 1A, M. AR A B/ a2

606 [E PR FE LA R | FE 0 A A L 2 R H e 1Ok VA7 2k K i 2k S 7662. 4 9578 [0 S Y R SV NI S e S 2 o

607 [ R e LA E] | 0 e 7 R L E D A 10KV A% 2k KR 4k 7899.5 9578 7S A TS /41 A, B R . R /2 R

608 [ P pE e B A E] | 0 i 7 L 2 IR A 10kViy B £k K5t 4k 8559.3 9578 A B . /41 1, M. B A B /421

609 R FE LA R | FE R A L 2 AR R f e 10KV i 128 K If2k S 9909. 7 11188.7 . EAr T, B /81 A, F . B TS, R/ 23

610 R FE LA R | FE 0 A L 2 AR H e TOKVAHY T T2k K52k 53 11301.5 11188.7 . BT, B /41 A, F A, B A, R/ 2 3

611 R FE LA R | FE 0 A A L 2 R H e TOK VA7 26 K i 2k 4k 8167.5 9578 [0 ST R SV I S T e S 2 o

612 e e A =i A W B 2 S A [ e s 10k VA Fd — 2% Ktk 5 7662. 4 9578 [0 S Y R SV I S T e S 7 o

613 [ P e LA ]| 0 e 7 R L 2 DR A e 10k V7 ] — R K A5ER 4k 7755.2 9578 A B . /41 1, M. A A B/ 423

614 ] I g 75 FL A D ] Y 3 2 L LA D 10KV 2k Kk 4k 3810. 2 3654.5 M. Bk GE20) M. ERu: GEse) /#1157, 7. Ekul G20 . Eevl (%) /#2124
615 ] 1 g 75 FL A D ] o 2 e EL L ] L1OKVIE 5 2k Ktk 4k 3357.5 3654.5 A Bk (R0 M. Bk G /#1578, 7. Ebulh G20 M. Bl (%20 /#2148
616 I g 78 FL A D Y 3 2 L L A D 10k VI SE2E Kk 4k 2975. 2 3654.5 M. Bk GE20) M. B G /41 178, A, Eousl G20 M. Bl (%) /#2148
617 A 78 FL A D ] o 3 2 EL L L A ] 10KV 2R KR 4 3356.6 3654.5 WA Bk GE20) M. B GEs) /#1178, M. Bl G20 M. Bl (%) /#2174
618 il 4 g 75 A4 FL A ) ] Y 3 2 B HE A D 10K VI R 2k Kk 4k 5217 5386.5 M. Bk GE20) w7, B GEoe) /#1178, 7. Bkul G20 . Eoevl (%) /#2148
619 ] 1 g 75 FL A D ] o 3 2 EL ik L ] 10kVE B4k 4k 7734.5 9578 M. Bk G20 M. ERu: Gse) /#1578, 7. Bkl G20 e, Eeul (%) /#2148
620 ] 1 g 75 FL A D ] Y 3 2 EL A D 10KV 2 2k Kk 4k 5391.3 5975. 4 A Bk G20 M. Bl G /#1578, 7. Ebul G20 M. Bl (%) /#2148
621 ] 1 g 75 P A D P L L AR TOKV 135 £ K15 2 (% 1) 3 3977.9 4936. 2 FIFE. Bk CEF L) REFS. B il G L) /#2728, 7S, B ity G o) R 8. 9 i (L) /#1248
622 [ ) i 7 A4 HL 8 ) [ R E L B A NI PN [ 6958. 7 5802. 2 7S, ) 7S )1 /43 AR, B TR, UF | B 7S 1 k2 A

623 il 4 g 75 A4 FL A D P L B A ] 10KV 1| 5 2 4 7805.9 8919.8 70, 3 A )13 /43 A, R A )| A /2 A

624 ] 1 7 75 P A D P L B A ] 10kV) 1|44k 4k 8861. 2 10045. 6 B FE. ) A )13 /43 R, R AR, )| R A /2
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625 [ ) g 7 A4 HL 8 ) ] o0 3 22 LIk A ) 10KVIITKER R KD o 3810. 48 4763. 1 7S, ) 7S )1 /43 22, B . U 1|l 7. 1l /2 A
626 ] 1 g 75 FL A ) P L B A ] WP PN 2 4k 7023.2 5802. 2 B FE. I A )13 /43 R, R AR, )| R A B /2
627 ] 4 g 75 FL A D P L B AR 10kV) 1134k 3 9909 8919.8 B FE. )13 A )13 /43 A, R AR )| R A B /2 A
628 ] 1 g 75 P A D P L L AR 10kV)1 52k 4k 10057. 1 10045. 6 FIFS. BF ISl A 70, 7 )13k /83 1A%, R 7S, OF || R 7. OF )1 il /2 3248
629 ] ) o 7 A3 HL 8 ) [ FRE L B A 10KV 02 53 9438.5 10045. 6 FAF. DRI FIFE. 7 )11k /43 R4, P70, F )|l g 75, F )11k /42 32 A
630 g 75 H A D R L A AR 10kV) 1| Bk 4 11327.5 10680 FFS. BF Sl 70, 7 )13k /83 1A%, 7S, OF || 7. OF )1l /2 3248
631 ] 1 g 75 4 FL A ) P L B A ] 10KV 1|4 4% 4k 9417.9 10045. 6 B F0. I A )13 /43 A, R AR, )| R 7S /2
632 [ ) g 72 A4 FL 8 ) R FE LB A 10kV)II .2 &% 9880.9 10045. 6 FAFT. DF)IS R 70, BF )11k /43 4, P70, F )|l g 75, F )11k /42 324
633 ] 1 g 75 FL A D P L A 10KV)I1 352k 4 9690.9 10045. 6 FIFS. BF ISl Fe. )13k /83 1A%, B 7S, OF || R 7. OF )1l /2 3248
634 [ ) i 7 A4 HL 8 ) [ R E L B A 10KV [ 2% S 11269.9 10045. 6 FF. DRI FIF0. BF )11 /43 R4, R 70, F )|l g 75, F )11t /42 32 A
635 g 75 H A D W L A AR 10kV) 1A 4k 10129. 3 10045. 6 FFS. BF Sl 70, 7 )13k /83 1A%, 7S, OF )| 7. OF )1l /2 3248
636 ] 4 g 75 4 FL A ) ] o0 7 7 1l 3 B ke A ) 10K Vide i 28 K132k AN 0 7326.4 FFS. SCWEBEREFE. SOk /82 1A, R FS. SOV FE 7. SO /61 32 AF
637 ] Y g 75 FL A D ] o0 i 7 1l B B L A 10K VIGRY — 2 K2k AN 0 8746.9 FIFS. SCWEBE R TS, SOk /82 1A, R FS. SOV FE 7. SO /61 324
638 ] 1 g 75 FL A D ] 0 i 7 1l 3 B L L A ] 10K VI RS — 28 KAk AN 0 8746.9 FFS. SCWEBRE TS, SOk /82 1A, RIFS. SOV FE 7. SO /81 324
639 [ R A ] ) g 7 71 3 B e 2 ) JUNICSTIEE PNE5 s 0 7326.4 FF. SCWRSE R TR, SO, /42 A, P70, SO TG 78, SC U /41 32 A
640 [ R A ] ) o 7 7l 5 B e 2 ) 10KV 7K 25 s 0 7635. 8 T, SCWESE T 70, SO /82 A, T 70, SOV TS 7S, SC U/ 41 32
641 ] 4 g 75 FL A ) ] o0 7 7 1l 3 B A ] 10KV fH 2 K52k AN 0 7326. 4 70, SO R A SO /H2 AR, R AR, SO 7S, SO /H1 A
642 ] I g 75 P A D ] o0 i 7 1l B B A LOKVIe 3 28 K132k AN 0 11188.7 FIFS. SCWEBE R FE. SOk /82 1A, RIFS. SO 7. SO /81 3248
643 [ ) i 7 A4 FiL 8 ) ) 1) e 7l ik v 4 ) 10KV F 2k 53 5676. 22 7326.4 35kVAS R LA 15 A

644 [ 1) i 7 A4 HL 8 ) FE ] 1) e 7l kv A ) 10KV M2k S 5843. 12 7326.4 35KVEY K LI AZ HL k1 5 AR

645 [ 1) o 7 A3 HL 8 ) o7 76 75 B i A 10K VIR nt 2 @& 4933.3 6547 F7S. U R . U/ #2 e AR

646 ] 1 7 75 A4 FL A ) ] o i v 7l HhL 2 ] 10K VIR 75 28 KI5k %k 3596. 4 3637.2 FFE. KAk 3k (8 ) R 78, K Sl (T vh) /1 3248

647 ] I g 75 FL A D ] o 8 75 L L A ] 10KVI4 45 2 4k 5185. 1 6547 A ISR 7S, ik /52 A

648 ] 0 7 75 kL A ] o 176 78 B ik A ) 10kVIG 2k o 5288.9 6547 FIFS. USSR e, U /42 AR

649 [ 1) i 7 A4 HL 8 ) FE ] 1) e 7 ik v A ) 10k VI S 26 K i 2k S 4972.9 5282. 6 7. K ARE S () FE 70, KAk 08, (il ) /1 # 3278

650 [ ) i 7 A4 HL 8 ) ) 1 e vl kv 4 ) 10KV 5 2 A5t 53 3200.9 3637.2 7. KA () FE 70, KAk 08 (il ) /1 # 32748

651 il 4 g 75 A4 FL A ) ] o i e 7l HL 2 ] 10KVU& ¥ 26 K15k 4 4208.3 5196 7S, KAk () W 70, K ARG ol () /1 # 4

652 ] 1 g 75 FL A D T o i e 7l L 0 ] L1OKVI& it 28 K152k 23 5203. 7 6529. 6 FFE. K ARk (8 ) B 78, K Sl (e ) /1 3248

653 ] 1 g 75 FL A D ] o 8 75 L L ] 10KVI& % 4 4k 4821.2 6547 FIFS. RSB 7S, Ak H2A

654 ] o0 i 75 L L A ] o 7 78 B i A ) 10KV 22k S 4691.2 6547 BIFS. USSR T, U /#2 3 AR

655 [ ) i 7 A4 HL 8 ) ] o g 7 B i A ) 10kV=F K ££926 [ 3048 3810. 1 VU NI Jp e384 I 3%, DU R HESp28A 1 3%

656 o g 78 A FL 23 ] 14 g i B B A ) 10kV=F G2k 23 5464 6495 VY. Jpte=p3ss IR s, DU JpaEyous i as

657 ] 1 7 75 P A D ] o i 7 1l 3 B L L A ] 10KV BIZEO 1 LR 2k 3 1535.2 6183.2 FIFS. Gk k) ma7e. &l Ol / 248




Fs WA AR BAR LK REELIR TSR LiPip: €53 HERER LHER

658 il 4 g 75 A4 FL A D ] o i 7 1l A Bk A ] 10KV P 26 K5k 4k 1535.2 6183.2 FAS. G Csh) ma7e. 4wk Oleil) / 248

659 ] 1 g 75 FL A ) ] o 7 7 1l 3 Bk v A ] 10KV S 28 KL 4k 1535.2 7049. 2 FIFS. Gk k) ma7e. & sl Ol / B4

660 ] 4 g 75 FL A D ] 0 7 7 1l 3 Bk L A 10KV =2k912 K154k 4k 1535.2 7361 FIFS. G Csh) m7e. &l Ol / 248

661 ] 1 g 75 P A D ] o e S L L 10KV 2k 4k 6182.2 6598.9 FFE. K3k (P 30) 70, s Kl (R ) /#2278, 7S s /Kl (R ) i 7. 2 7K i (i) /#1248
662 s I 78 FL A D ] o i S L L A ] 10kVsE K2k # 3370.6 3481.3 FFE. Kk (P 0) R 70, s Kl (R ) /#2728, 7S S8 /Kl (R ) 8. 2 7K ol (R 8) /#1278
663 g 75 H A D ] o i S L L A ] 10KkVsE K2k RIHEL %k 3609. 8 2909. 8 FAS. Kk (F 0) T 78, S Kl (R ) /#2728, W 7S S8 /Kl (R i) i 0. 2 7K i (R ) /#1248
664 ] 1 g 75 4 FL A ) ] o e 0 L A L ] L10KVE R 2k 4k 2232.8 2909. 8 FE7E. Kk (R ) R Fe. Kk (R ) /#2748, B A, s /K (R ) R 7G. S8 7K (R ) /#1 A
665 ] 1 g 75 FL A D ] o e S L L L10KViE R 4k 4k 2958. 4 3481.3 B 7S, Kk (R ) B Fe. Kk (R ) /#2748, R A, s /K (R ) R 7G58 /K (R ) /#1248
666 ] 1 g 75 FL A D ] o e S L L ) 10K VSE P42k KMtk 4k 2478.1 2909. 8 FFE. K3k (P 0) R 70, s Kl (R ) /#2578, 7S s /Kl (R ) 7. 2 7Kl (i ) /#1228
667 il I g 75 FL A D ] 0 i 7 1l A B L A 10KV 2RI 1 1R 1512k 3 3878. 96 6183.2 A 2Pk PR RE 70, 22 Pl (RabF) /#2578, B 7S, 2Pl (RobP) mE 8. 22 Pl (R PR /#1248
668 g 75 H A D ] 0 i 7 Tl 3 B A 10KV B 28 KR 4k 4116. 66 7049. 2 B7E. 2k (e B B 70, 2 Pk (RibE) /42 1748, B e, 2Pl G bR) e 76, 40Pl (R BP) /#1148
669 ] 4 g 75 4 FL A ) ] o0 7 7 1l 3 B ke A ) 10K V22 A7 28 KR 4 5207. 76 7049. 2 A 2Tk G PR RE 7S, 22 Pl (RadP) /#2578, M 7S, 2Pl (RadP) mE 8. 22 Folk o) /#1248
670 T 7 i 7 A4 L 8 ) ) 1 e 7l ik v 4 ) 10KV i 28 Kk o 4378.3 6211.3 FAFE. 7K 22k (R H) B 78, 7K 2230k (R ) /#1748

671 ] 1 g 75 FL A D ] 0 i 7 1l 3 B L L A ] 10KV22 i 2 K5k 4k 4746. 86 6183.2 A 2Pk GPR) RE 7S, 2 Pl (RadP) /#2578, B 7S, 2Pl (Radh) mE 8. 2 P ol (R dp) /#1248
672 T 7 i 7 A4 L A ] ] ) g 7 71 3 B e 2 ) 10KV 352 K2k & 4460. 26 6183.2 BI7S. 2Pl (e BP) B 78, 221l (R k) /42 148, I 7n. 22 ul G bF) 8. 22 P o G BF) /#1124
673 ] o0 i 75 L A ] ) 1 e ol 3k v 4 ) 10k V42 5 28 KR 4 5125.3 6211.3 78, Kk (i HR) B 78, Ak ek (T ) /#1348

674 [ g e A v 24 ) ] [ e 7l kv 24 ) 10kVZ2 3728 KI5tk & 4676.6 5282. 6 FATT. 7K 223k (R ) B 78, 7K 2230k (R ) /#1748

675 I g e e v 24 ) ) 1) e 7l ik v 4 ) L0V I 2R Kk 53 24650 25980 PO AR PO UL GRge/ 18 s, PO AR 5= PO 1), AR5/ 2878 i 3%

676 T 7 i 76 A4 HlL A ] ) 1) e 7l ik v 4 ) 10KV IF =2k Kk 4k 23769.9 25980 VUL AR PO R/ 18 FR 2, DU AR5 DU 1. AR5/ 2878 3%

677 I g 75 FL A D ] o i e 7l HhL 2 10KV 25 KLk %k 22886. 8 25980 PO AR DU AR T/ AR R3S, DU AR5 DO ). AR5/ 2878 FE 2%

678 [ R A ) 1) e vl ik v 4 ) 10KV fREE KI5 2L & 8951 11188.7 PUNL AR TP, AR5/ 1878 e 3%

679 ] 1 7 75 A4 FL A ) o4 1 75 LAY A D IVAPN: 24 4k 4735.2 6096. 6 FIFS. Ak (P 70) R 78, RSPl (H8 78) /#2578, M 7S, APl (B 75) mE 8. Aol (P 78) /#1248
680 ] I g 75 FL A D ] o 8 75 L L A ] L10KVA R 2% 4k 2449. 4 3394.7 A ATk (P 70) R 70, APl (F 78) /#2578, M 7e. APl (P 70) mE 8. Aol (P 70) /#1248
681 ] 1 g 75 FL A D ] Y 7 75 L Y e A D 10KV HFE 4k 3636. 6 4763 FIFE. ATk (F70) R 70, APl (F 78) /#2578, mi7e. APl (B 75) mE 8. Aol (B 70) /#1248
682 I g 78 FL A D o 8 75 L L A ] 10KV R 2k %k 3181.7 4763 A APk (B 70) R 70, KSP3 (F 78) /#2578, M 7S, APl (B8 75) mE 8. Aol (B 70) /#1248
683 A 78 FL A D ] o e S L el A ] 10KVA 4k 4 4105. 4 5542.4 A Ak (B 70) R 70, KF3 (F8 78) /#2728, B 7S, APl (B8 75) mE 8. Aol (B 70) /#1548
684 il 4 g 75 A4 FL A ) ] o 8 75 L Hh A ] 10KVA 4k 4k 4246.8 5681 A ATk (P 70) #E 70 RSPl (B 78) /#2578, 7S, APl (B 78) 0. Aol (P 70) /#1248
685 ] 1 g 75 FL A D ] Y 7 75 L A D 10KV A2 4k 3922 6096. 6 A ATk (P 70) RE 70, APl (F 78) /#2178, M 78, APl (P 75) mE 8. AT (B 70) /#1278
686 ] 1 g 75 FL A D ] 0 7 7 1l 3 B kL A ) 10KV 2 26 K5k AN 0 3810.4 B 7S, Kk (e B B 70, Il (RiEE) /42 R 748, e Fe. SOl G bR) jE 78, K (R BF) /#1E 48
687 ] 1 g 75 P A D ] o0 i 7 1l B B L L A ] 10KV HE 2L K5k AN 0 4503. 2 FIFS. KOk GEPP) R 7S, il (Rad¥) /#2578, B 7S, sl (Ra ) mE e, KImsh (PP /#1248
688 il I g 75 FL A D ] 0 i 7 Tl B B A TOKVIR Bl 28 KI5 AN 0 4503. 2 A KOk (R PR) RE 78, s (Rab¥) /#2578, M7, sl (Ro ) mE 0. Il (PR /#1148
689 il 4 g 75 A4 FL A D ] o i 7 1l A Bk e A TOKVIR M 2L K32k AN 0 3810.4 FAS. KOk (R PP) #E 78, Rl (RaP) /#2578, M 7S, Rk (R bP) mE 0. KImsk (o) /#1548
690 ] 1 7 75 P A D ] o i 7 1l 3 B L L A ] L10KVA M2k %k 2424.8 3031 FIFS. KOk G PP) R 78, Rl (RdP) /#2578, M 7S, Rk (R ) mE e, iyl (Rop) /#1248
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691 il 4 g 75 A4 FL A D ] o i 7 1l A Bk A ] JAPN NG 27 AN 0 3810.4 FAS. KOk (R PP) #E 70, Rl (RaP) /#2578, M AS. SRk (R P) mE 0. Il (Rdp) /#1548
692 ] 1 g 75 FL A ) ] o g 78 1 34 B Al L A 10KV R 2 K5t AN 0 7049. 2 FIFS. KOk G PP) R 78, il (Rd¥) /#2578, B 7S, sl (RodP) rE e, Kilsk PP /#1248
693 ] 4 g 75 FL A D ] 1 g 78 1l B B A 10KV — 2k K5k AN 0 7049. 2 B 7S, Kk (e ) B 70, Il (iR /42 R 748, e Fe. SOl (R bR) jE 75, K s (R BF) /#1548
694 ] o0 i 75 kL A ] o 76 7 B il A ) 10kVE 42k 4 3820.4 4797.6 35KVE PRAR 3 75, 24k (P 78) /#2748, 35kVE AR HLdli1 5 228 AR R 2%

695 [ A FE 1o 76 75 B i A 10kVZ JF 2% & 7565. 2 8348.2 35KV HRAR N 7S, L4k (T8 70) /#2 78, 35kVE HRAR A1 5 32 A8 R AR R 2%

696 [ A FE o7 175 75 B i A 7 10kVE R 2% 53 2929.3 3464 35KV HRAS N T 7S, ki (P 70) /#2178, 35KV kARl 5 32 A8 R AR R 2%

697 ] 1 g 75 4 FL A ) ] o g 78 1 B B L A 10K VIE £k 2912 K 15tk AN 0 7361 VU1 S DY 1. D/ LA FE 8%, DU 11 U3 G 1. U3/ 2878 %

698 ] 1 g 75 FL A D ] I g 78 1l B B Al A 10K VIE #5 26 K1k AN 0 11188.7 VU U S DY 1. P/ LA R %, DU 11 U3 DY 1. U3/ 2878 %

699 ] 1 g 75 FL A D ] I g 78 1l 3 B A OV I 2k K5 1 2% AN 0 11188.7 VU U S VY 1. P/ LA R %, DU 11 U3 DY 1. 5038/ 2878 %

700 il I g 75 FL A D ] 0 i 7 1l A B L A LOKVIH M2k KI5tk A 0 11188.7 U1 S DU 11 P/ LA 3%, DU 11 U3 G 1. U3/ 2878 S %

701 g 75 H A D ] 0 i 7 Tl 3 B A NG/ LT PN 2 AN 0 11188.7 VU1 S DU 11 P/ LA R %, DU 11 U3 G 1. U3 / 2878 S 9%

702 ] 4 g 75 4 FL A ) ] o g 78 1 34 B A LORVIH 1 £ K5t AN 0 11188.7 VU1 S DY 1. P/ LA FE 3%, DU 11 UG 1. U3 / 2878 %

703 ] o0 7 78 kLA ] ] A i 7 117 e P L A ) LOKVES i 26 KAk o 8951 11188.7 TS, AESE T, /81 R, T . (RSN AL (B /2 3 A

704 [ ) g 7 A4 HL 8 ) ] o 7 78 17 e AR el A ) TOKVES9IE 2k K it 2k 53 8992.2 11188.7 TS, ISR, /81 R, TS, AR AT, B /2 A

705 sl I g 75 FL A D ] o0 7 7 1l e P AL L A 10K VIS 526 KL 4 7757.5 9560. 6 TS ISR TS /41 AR, B R TS /2 A

706 g 75 P A D ] o0 i 7 1l e P L A L1OKVIERLZE K A5EL 4 8951 11188.7 A (ISR . IS /#L TR, M. (RS R . (/a2 A

707 ] 4 g 75 FL A ) ] o0 7 7 1l e P L A ] 10KV H1.26922 K 1512k 4k 7648.5 9560. 6 A ISR TS I /#11E, M. AR R TS (A /e2 1A

708 ] o0 7 78 Rk L A ] ] o0 7 7 1l e P AL L A 10KVES G 28 KI5tk 3 6997. 6 8746.9 TS, ST, /81 AR, TS, (RN AT (/2 A

709 ] I 75 FL A D ] P g 78 Tl e PR A R A 10KV g 28 Kk “k 8951 11188.7 A ISR TS A /#L 1E, M. AR R T (/a2 A

710 I g 75 FL A D ] o0 7 7 1l e P L A TOK VIS IR 26 KI5 %k 7648.5 9560. 6 TS ISR TS /41 AR, B B R TS /2 A

711 i I g 75 L A D ] o0 i 7 1l e P L A 0KV — 28 K152k 4k 4869. 6 6062 A (ISR A, /8 1, M. (RS . (/a2 3

712 ] 1 7 75 A4 FL A ) ] o0 7 78 1l e P L A ] 10KV — 25 K52k %k 7648.5 9560. 6 A ISR T A /H 1E, M. (AR R T (/a2 3

713 ] I g 75 FL A D ] o0 7 7 117 e P L A LOKVES A 24 K5t 4k 5172.7 6062 A ISR . A /#L 1E, M. AR R TS (s /e2

714 [ g e LA E] | 0 7 R L E DA L e LOK VIR & 2k KMtk 4k 8579.9 9578 T FE. YA T FE. Sk /62 1A, R FS. A A A /61 A

715 el e A =i I W B o S A [ e R TOKVIR, I 26 KAtk 5 9198.4 11188.7 70, SR TS SR /42 AR, B . YT 7S S /R A

716 A 78 FL A D el X ] o 7 R L A D TOK VR 78 2k K 12k 4 8326.9 8333.9 FFE. Sk (e ) 70, A (il o) /41 2728, R 7S AT (il o) i 7. 3t (il o) /42 228
717 [ g g e L A ]| o e 7 R L 2 IR AR e OV 2k K15k 4k 9744.8 11188.7 A YT T A0 3 /82 1A, T AS. A A AT /61 AR

718 ] 1 g 75 FL A D ] o 8 75 L L ] 10KVI#EZL 4k 3985. 6 4763 FIFS. Ak (P 70) RE 70, SR (P 78) /#1278, 7S, SRl (P 70) A 0. S o (P 70) /42 2
719 ] 1 g 75 FL A D ] X A Bz L A L A D 10kVIR 2 2k AN 0 8781.2 FIFE. Sk (UBE) R 7S, S dils ((Ble) /#1278, R 7S, Gxdint; (W) rE 78, &3t (1B /#2248
720 ] 1 g 75 P A D ] o 3 2 EL L A ] TOKVIR 48 26 K15k 4k 5811.2 5975. 4 FIFS. S G 20) R TS, IR G ) /41 78, M AS. R G 2) rE TR, I il (%0 /422
721 il I g 75 FL A D ] o 3 2 EL L L ] 10KV, R 2% K54k %k 5619. 7 5040. 1 FIFS. WAk (G 20) M 7S, SR G ) /#1178, BIAS. SRR G 20) rE 0. Il (X %0) /82 2
722 EME AR AT | EME R GEEA R RPG G| TOKVIRIE 917K Rk 4 8487. 1 9578 A YT T A0 3k /62 A, T AS. A AL A /61 A

723 ] 1 7 75 P A D ] o 3 2 EL kL A ] 10KV 2k %k 11513. 1 11015.5 FIFS. Ak (G 20) P TS, IR G ) /41 78, M AS. A G 20) RE 0. I i (R %0) /42 2
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724 il 4 g 75 A4 FL A D ] o 3 2 EL kL A ] 10KV — 2k KI5k 4k 7205. 6 5975. 4 FAS. Sk (G 22) M FS. SR G ) /#1278, M AS. R G 20) M 0. I il (R %0) /2 2 A
725 [ e LA E] | o e 7 R L DR A L e 10KV 78 2k K15tk 4k 7868. 6 9578 P FE. YRR T FE. 3k /82 1A, R FS. A . AN /61 AR

726 ] 4 g 75 FL A D ] o i e 1l L ] LTOK VAR 28 KAk 4k 5903. 2 6928 FFE. Sk (e ) 7S, A0 (Il o) /41 22728, W 7S S A0t (Tl o) i 7. st (il o) /#2228
727 ] 1 g 75 P A D ] o i e 7l L 2 ) TOK VR 28 K 1tk 4k 6459.9 6928 P FE. Sk e ) 7S, A (il o) /41 22728, R 7. ATt (el o) i 8. st (il o) /#2248
728 s I 78 FL A D ] o 7 75 L L A ] 10KV 35t 2k %k 4807.9 5455.8 B 7S, Sk (VG 75) w70, SRt (6 70) /41 A%, B 7. Y o (P8 7)1 e, R s (P 70) /#2124
729 g 75 H A D o 8 75 L A ] 10KVIR 2k 4k 6871.4 7326.4 7S, Sk 3 (G 70) P . e 3t (106 70) /41 A%, P . Y (V8 7)1 . e s (U 70) /#2 1
730 ] 1 g 75 4 FL A ) ] o 3 2 EL kL ] LTOKVIRIF 26 K5tk 4k 5080. 7 5975. 4 FIFS. Ak (G 20) R TS, IR G ) /#1178, M AS. R G 20) rE 0. I il (2 %0) /42 2
731 ] 1 g 75 FL A D ] o 8 75 L L ] 10KVIRIT 2k 4k 6819.9 7326.4 FIFS. Ak (P 70) R 7S, SR (P 70) /#1278, 7S, Sl (P 70) A 0. S i (P 70) /42 4
732 EMERMER AT | EMER SR A TR 0KV 2926 K12k 4k 8858.2 9578 P FE. R R F0. 3k /62 1A, I FS. A AL A /61 A

733 il I g 75 FL A D ] o 8 75 Lk L A ] 10K VIR T.2% %k 5512 6477.7 B 7S, Sk (VG 75) w70, Sm i (6 70) /41 A%, B 7. Y o (8 7)1 e, R s (P 70) /#2124
734 g 75 H A D ] o i v vl HhL 2 10KV 2 2k K5k 4k 7182.6 8333.9 70, SRk e o) 7. SRt (Il o) /41 4%, e . 30l (e o) 1 7. A i (g vf) /42 14
735 ] 4 g 75 4 FL A ) ] o 3 2 EL kL A ] 10KV 22 26 K5k 4 9909. 8 9578 FIFS. Ak (G 20) M 7S, IR G ) /#1178, M AS. Al G 20) rE 70, I il (X %0) /#2278
736 ERmE AT | EREE A A TR G| 10KVIR K 22923 KL o 11357.8 11188.7 T SRR T F0. IR /82 A, T FS. AR T 7S, IR /61 A

737 ] 1 g 75 FL A D ] o i e 7l L 2 ) LTOK VIR 2k K 1tk 4k 2788.8 2996. 4 FFE. Sk e ) R 70, A (il o) /41 22728, R 7S AT (el o) 78, St (il o) /#2248
738 sl I g 75 FL A D ] o 3 2 L L A ] 10k V3K 25921 %k 6048. 4 5975. 4 B 7S, Sk G ) B 0. IR G 4e) /41 R AE, B 0. Y G 20) HE TE. IR o G 20) /#2124
739 g 75 P A D ] o 8 7 L e A ] 10KV e — 2k 4k 5861. 1 7326.4 7S, Sk 3 (G 70) P . e 3t (176 70) /41 %, e . Y i (P8 7)1 . e i (P 70) /42 14
740 ] 4 g 75 FL A ) ] o 8 75 L L A ] 10KV el — 2k 4k 7191 7326.4 FIFS. Sk (P 70) FE 70, SR (P 78) /#1278, 7S, SRl (P 75) mE 70, S o (P 70) /#2272
741 ] I g 75 P A D ] o 43¢ Bl L it 8 ] 10KV U 2% AN 0 5594. 4 FIFE. Sk (IUBE) R 7S, Sxdils ((Ble) /#1278, B 7S, Grdiant; (W) rE 78, &3t (1XB) /#2248
742 ] I 75 FL A D ] o i e 7l L 2 ) LOK VA 75 2k K itk 4k 7406. 4 8781.2 FFE. Sk (el ) 7S, A0 (il o) /41 22728, R 7S S A0t (il o) i 7. st (il o) /#2248
743 I g 75 FL A D o 3 e L L A ] 0KV — 28 Ktk 4k 10229. 4 9578 B 7S, Sk G ) B 0. IR G 42) /41 R AE, B TR, Y G 20) #E TE. R o G 20) /#2124
744 i I g 75 L A D ] o 3 2 EL L L A ] 10KV — 26 KI5tk 4k 9528. 3 9578 7S, Skl G ) w0, S i G 42) /41 AR, P . Y G 22) G, R o G 0) /#2 1
745 ] 1 7 75 A4 FL A ) ] o i v 7l HhL 2 ] 0KV ity 26 K5k 4k 4156.8 5196 FFE. Sk (el r) 7S, A0 (Il ) /#1278, W78 ATk (Tl o) 7. s (il o) /#2128
746 ] I g 75 FL A D T o 43¢ g L it 0 ] L1OKVIR XL 2k AN 0 3083 FIFE. B3k (UBE) RE 7S, S dils ((Ble) /#1278, I 7S, it (W) rE 78, &3t (1XB) /#2248
747 ] 1 g 75 FL A D ] o 8 75 L L A ] 10KV 5 2% 4k 3501. 1 4763 FIFS. Sk (P 70) FE 7S, SRl (F 70) /#1278, 7S, Sl (P 70) I 0. S o (P 70) /42 A
748 I g 78 FL A D ] o8 i e 7l HhL 2 ] TOK VIR e 2k Kk 4k 7907. 4 8660 7S, SRRk (e o) B 70, SRk (il o) /41 2%, B 7. 30 (e vh) 1 7. A 3 (g o) /#2124
749 A 78 FL A D ] o 43¢ Bl L e 2 ] 10KV PE 2% AN 0 3775.8 FFS. ek ((CBlE) B 78, 3t (B /#1 E4%, B 7a. Gl (I BE) e 7. G (1 Be) /#2148
750 il 4 g 75 A4 FL A ) ] o 8 75 L Hh A ] 10KVl AL 2k %k 7434 7326.4 FAS. Sk (P 70) A0, SR (P 78) /#1278, WS Sl (1 75) i 0. S o (P ) /42 A
751 ] 1 g 75 FL A D ] o 8 75 L L ] 10KV ik —2k 4k 5948. 5 7326.4 FIFS. Ak (P 70) RE 70, SR (P 78) /#1278, 7S, SRl (P 70) A 0. S o (P 70) /42 2
752 [ P LA E] | 0 7 L E D A i o LOKVIRBLZE KL 4k 8992. 3 9578 FFS. YR T 70, 3k /62 1A, R FS. A A A /61 A

753 ] 1 g 75 P A D ] o 3 2 EL L A ] TOKVIR R — 2 K2k 4k 9105.7 9578 FIFS. S G 20) R TS, IR G ) /41 78, M AS. R G 2) rE TR, I il (%0 /422
754 il I g 75 FL A D ] o 3 2 EL L L ] 10KV R — R K A5 LR 4k 8965. 3 9578 B 7S, Sl G ) B 0. IR o G 42) /#1 R AE, B 0. R G 22) i E. IR o G 0) /#2124
755 il 4 g 75 A4 FL A D ] o 3 2 EL i L A ] OV I 26 K15k 4k 5238.3 5040. 1 FAS. Sk G 22) M FS. SR G ) /#1278, M AS. R G 20) mE 0. I i (%) /2 2
756 R FE LA =] | FE 0 A L 2 R f e 10KV . 1T 28 K1kt 2k 53 7878.9 9578 TATC. SR T F0. IR /82 A, P A, YRR T 7S, IR /61 A
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757 [ ol g e L A ]| o e 7 R L 2 IR AR e LOKVIFL T 28 K5k 4 9033.5 9578 A YT T A0 3k /62 A, T AS. A i AL AT /61 A

758 ] 1 g 75 FL A ) ] o i e 7l L ] 10KV £ K5t 4% 4k 8060. 9 9560. 6 FFE. Sk e ) 70, A0 (Il o) /#1728, R 7. S A0t (Tl o) i 7. st (il o) /#2128
759 ] 4 g 75 FL A D ] o i e 1l L ] LTOKVIR AR 26 K I3k 4k 6449. 6 6928 FFE. Sk (e ) 7S, A0 (Il o) /41 22728, W 7S S A0t (Tl o) i 7. st (il o) /#2228
760 ] 1 g 75 P A D ] o 2 2 EL L A ] 10KV 45 k925 K 15 2% 4k 8250 9578 FIFS. SR (G 20) R TS, IR G ) /#1278, M AS. o G 20) mE 0. I ol (R %0) /42 2
761 s I 78 FL A D ] o i S L L A ] 10K VHE R 2% 4k 7355.7 7742 70, ACHE U 7S, ACHE NG /41 AR, R . ALK R 7S, ALK /2 A

762 [ ) g 7 A3 HL 8 ) ] o o 7 L ik A 7 10K VHE I 2k 53 7560. 7 7742 . A T, AL /81 R, F A, A A, A /42 3 A

763 [ ) i 7 A4 L 8 ) ] o g 7 L ik L 4 ) 10K VHEMF 2k S 7585.4 7742 T, A R T AL, /81 A, F A, A 7S, A /42 32 A

764 [ ) g 72 A4 FL 8 ) ] ) g 0 L ik A ) 1O0KVHET. — 2% &% 6688.5 7742 T, A T AR, /#1 A, T A A 7S, A /2 32 A

765 ] o0 i 78 kL A ] ] ) g 7 L ik A ) 1OKVHE T.— %k 4k 9485. 5 7742 . AR T AL /#1 EA, F A A R 7S, A /42 3 A

766 [ ) i 7 A4 HL 8 ) ] o i 7 L i A ) LOKVHE 22 28 K2k S 8410. 1 7742 70, ACHE U 7S, ACHE NG /41 R AR, P . ALK 7S, AR /42 A

767 g 75 H A D ] o e S L L A ] 10KVHEfb 2% 4k 9597.2 9058. 4 FAS. ACHER S, AL, /41 1A, B AS. AU A /62 A

768 [ ) g 7 A4 L 8 ) ] o g 7 L ik A ) 10KVEF 2L S 4411.3 4953.5 FAFE. K Ik (FE ) M 7. KPPl (R ) /#1178, B 70, KIPuE (R0 I 7a. K3 (R0 /#2178
769 ] o0 7 78 kLA ] ] o g 7 L ik A 7 1OKVIFRk 2L o 3452.3 3810. 4 T, KPPk (FE ) M 7. KPPl (R ) /#1178, B 70, KIPuE (R0 M 70, KIPuh (R ) /#2748
770 ] 1 g 75 FL A D ] o e S L L A 10KVIF P2k 4k 3712.3 4278 FFE. KIPb (P 0) R 70, KPPl () /#1578, M 7S, KPPl () mE 0. Pl (R ) /#2248
771 sl I g 75 FL A D ] o i S L L A L1OKVEEfhi2k 4k 3360.5 3810.4 B 7S KPPk () w70 KHPul (R #) /#1 R 4%, B 7a. KPP (RS #6) #E 78, KPR (P ) /#2248
772 [ ) o 7 A3 HiL 8 ) ] o o 7 L ik A 7 10KV A 2% 53 3255.7 3810.4 7S KB (R ) w70 KHP s (R 3 /41 4%, w7 KPPl () 1 7. KPR (P ) /#2124
773 [ ) g 7 A4 HL 8 ) ] o g 4 L ik A ) 1OKVEF AR 2k 53 3226.2 3585.2 FAFE. KEPuk (FE ) M 7. KPPk (FE ) /#1178, B 70, KIPuE (R0 I 7a. K3 (R D) /#2178
774 ] o0 7 78 Rk L A ] ] ) i 4 L ik L A ) LOKVIE 28 3 3944.3 4953.5 FF. KPPk (R ) B 7. KPPl (R ) /#1278, B 70, KIPuE (R0 M 70, KIPuh (R0 /#2148
775 ] I 75 FL A D ] o e S L L 10KV 2k 4k 3721.1 3810.4 FFE. Ik (P 30) R 70, KPPl () /#1278, 7S, KPPl (i) mE 0. Pl (R /#2248
776 [ 1) i 7 A4 HL 8 ) P 5 Bl ik v 24 ) 10KV #2 N 0 8781.2 FTT. TR TR, M /43 A, P FS. R AT R /42 3 A

777 [ 1) o 7 A3 HL 8 ) PR 5 Bl ik v 4 ) 10KV 2k s 0 6529. 6 FATC. TR T T, M /43 A, P AS. R A, R /42 3 A

778 ] 1 7 75 A4 FL A ) ] o 43¢ g L Hht 2 ) 10KV 4% AN 0 3775.8 FIFS. FE TS, w83 1A, M AS. P . /62 A

779 ] I g 75 FL A D T o 43¢ g L it 0 ] 10KV 42 4% AN 0 3775.8 FIFS. R TS, w83 1A, M AS. T R . R /62 1A

780 ] 1 g 75 FL A D ] o 43¢ g L bt 8 ] 10KV 47 2% AN 0 8365. 6 FIFS. R FE. wn /#3 1A, M AS. T . R /62 A

781 I g 78 FL A D ] o 43¢ g L bt 0 ] 10KVIE I 2k AN 0 8781.2 7S, MR () B 78, MVHE (X B) /#1 E4%, B e, 0SS, (1 BE) e 7. I8 (1 Be) /4214
782 [ ) i 7 A4 HL 8 ) P 5 Bl 2 ik v 4 ) 10KV 2k s 0 4676.4 FTT. R 7S, T/ 2 3A

783 il 4 g 75 A4 FL A ) T o 43¢ g L it 8 ] 10KV 54 4% 4 0 8781.2 BT TR R T G/ #2A

784 [ ) i 7 A4 FL 8 ] o8 5 Bl 4 ik v 24 ) 10KV i 2% A 0 6529.6 TS, E I R TS, b /43 AR, B TS, e R TS e /H2 AR

785 ] 1 g 75 FL A D T o 43¢ g L it 8 ] 10KV 2 AN 0 8642.7 FIFS. R TS, wkh /#3 1A, M AS. T . R /e A

786 [ ) i 7 A3 FL 8 ] ) 5 Bl 4 ik v 4 ) 10KV M 2k 4 0 6529. 6 A, w42 A

787 [ ) i 7 A4 HL 8 ) P 5 Bl ik v 4 ) 10KV SR 2k s 0 6529. 6 FATT. TR FE. R /43 A, P FS. R AT, RO /42 3 A

788 ] o] i 78 kL 4 ] ] o g 4 L ik A ) 1OKVIIAS 28 o 9038.9 10305. 4 FATS. T 7S, B I/ #1348, BT B S T A 3 K /62 32 A

789 ] 1 7 75 P A D ] o i 0 L A L ] 10KV PR 2% 4k 8430.7 7742 FFS. BRI EFS. I/ L, B A SR 8. BRIk /2
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790 ] o] i 78 kL 4 ] ] o g 4 L ik A ) TOKVIIEL 2% o 6853. 4 7742 FATS. PO A, B I/ #1348, B, B S T A, 3 K I /62 3 A

791 ] 1 g 75 FL A ) ] o e 0 L L ] 10KV EL — 2k 4k 7317.3 7742 FFS. BRI EFS. FEF I/ L, B A BRI 7S, BRIk /42

792 ] 4 g 75 FL A D ] o e S L L 10KV £k “k 6296.5 7742 FIFS. B NG TS, B/ 1 L, B A BRI 70, BRIk /2

793 ] 1 g 75 P A D ] o e S L L 10KVHIAR L 4k 6193.6 7742 FFS. BN FS. B/ 41 L, B A BRI S BRIk /2 A

794 s I 78 FL A D ] o i S L L A ] 10KV — 2k 4 8813.7 9058. 4 FFS. BRI F0. FOFIE /41 L, B A RIS 78, BRIk /2 A

795 g 75 H A D ] o i S L L A ] LOKVIL i 2 4 9143.6 9058. 4 PAS. B AN S B/ L, A BRI 8. BRIk /2 A

796 ] 1 g 75 4 FL A ) ] o e 0 L A L ] 1OKVHLHT 2k 4k 7746. 1 7742 FFS. BRI EFS. FOF I/ L, B A SR 78, BRIk /2

797 ] 0 7 78 kL ] ] ) g 0 L ik A ) TOKVILHE — 2% o 7698. 8 7742 FAT. PO T, B I/ 41 AR, BT PO T A, 9 K /2 32 A

798 ] 1 g 75 FL A D ] o e S L L ) 1OKVHLH — 2k 4k 6899. 4 7742 FFS. B AN FS. SOG4 L, B A SF I S BRIk /2 A

799 [ ) i 7 A4 HL 8 ) ] o i 7 L i A ) 1OKVIIE 2k S 7317.3 7742 AT, TEF IO T B I/ 41 A48, BT PO T A, K I /62 3 A

800 g 75 H A D ] o e S L L A ] 10K VHIE — 2k 4 8482.3 7742 PAS. B AN S B /R L, A BRI 8. BRIk /2 A

801 ] 4 g 75 4 FL A ) ] o e 0 L A L A ] 10KV 32 2% 4 3474 4278 FFS. B R ANGE IS, FEF I/ 1L, B A BRI 78, BRIk /42

802 ] Y g 75 FL A D ] o 43¢ g L it 8 ] 10kV--4i4k AN 0 6529. 6 FIFS. T3 (BCB) R 7S, T3 ((Ble) /#2278, 7S, h 1l () rE e, 07Tk (AXB) /#1248
803 ] 1 g 75 FL A D T o 43¢ g L it 8 ) 10KV 4k AN 0 5594. 4 FIFS. 113 (AB) R 7S, T3l (3 Ble) /#2578, R 7s. L1l (W) rE 7. i Tk (A B) /#1248
804 sl I g 75 FL A D ] o 43¢ g L bt 2 ] 10kV-ok4k AN 0 5594. 4 B 7S, Tk (i) B 7a. Tk (B /42 A%, BT, 1T () B . LT (1 Be) /%1 R4
805 g 75 P A D ] o 43¢ g L e 2 ] 10kVAKg 2k AN 0 6529. 6 7S, kTl (1Bl w7, T3k (B /#2 A%, w1 (BE) e 7. T (1 Be) /%1 R4
806 ] 4 g 75 FL A ) ] o 43¢ Bl L 2 ) 10KV [ 2 AN 0 6529. 6 FIFS. T3k (BB) R FE. 113l (3 Ble) /#2728, R 7S, L1l (3 Be) A 7. i 1 (X BE) /#1272
807 ] I g 75 P A D Y L B AR LOK VIl 28 KAk AN 0 4936. 2 FIFS. ek CEF L) REFS. [0l G 1) /#2578, R 7S [0l G 1) R 78, [0l G5 LL) /#1248
808 ] I 75 FL A D P L AR LOKVIi 48 2k KMtk AN 0 4104.8 FFS. sk CEF L) REFS. [0l G 1) /#2578, R 7S, Il el G 1) R 78, [l G5 L) /#1248
809 I g 75 FL A D Y L B A 10KV a7k 2k K 5% a 0 6997.3 FFS. ek CEF L) REFS. [l sl G 1) /#2578, R 7S, Iml sl G o) R 7. [l G LL) /#1248
810 i I g 75 L A D R L L AR OVl 728 KAk AN 0 4936. 2 B 7S, [k CE L) w 7a. et CE L) /42 4%, w7, [l gl CEF L) R e, (DR CEF L) /#1124
811 ] 1 7 75 A4 FL A ) ] o0 7 7 1l 3 Bk e A 10KV 74 B8 KR AN 0 5196 FIFS. 2k G PP ME 7S, # 20l (RadP) /#2178, Wi 7S, & 220l (RadP) mE 70, 3 2ok R b) /#1248
812 ] I g 75 FL A D ] o0 7 7 1l B B L e A 10KV I 2k K5k AN 0 5456 FIFS. ek G PR RE 7S, & 20l (RadP) /#2078, M 7S, 3 220l (RadP) mE 0. 3 2ol R o) /#1248
813 ] 1 g 75 FL A D ] 0 i 7 1l 3 Bk L A ) 10KV B2k K5k AN 0 5196 FIFS. ek G PP M 70, 7 20l (RadP) /#2578, M 7S, & 220l (Radh) mE 0. 3 2ok o) /#1248
814 I g 78 FL A D ] o0 i 7 1l A B A 10KV WLk K5tk AN 0 3031 A ek (EUPR) RE 70, 7 20l (RabP) /#2578, M 7S, 5 220l (Ro ) mE 0. 3 2o R bp) /#1148
815 A 78 FL A D ] 00 7 7 1l B B A 10KV HE 2L R4 AN 0 7049. 2 FIFS. 2l (e bP) B 70, i el (R bP) /#2148, I 7n. & 22l G bP) s e, & 200 G BP) /#1124
816 il 4 g 75 A4 FL A ) ] o i 7 1l 3 Bk e A ) 10KV i £k K524 4 0 3810.4 FIAS. Ak G Pr) M 70, & 20l (RadP) /#2078, Wi AS. & 220l (R ) pE 0. o 2ol R b) /#1278
817 ] 1 g 75 FL A D Y L B AR LOKVIF 8 26 K5k 4k 5855. 6 6997. 3 FIFS. Bk CE L) REFS. B G L) /#1278, R 7S. Sl CB 1) pE 8. 2k (5 1L) /#2248
818 ] 1 g 75 FL A D P L B AR LOK VI8 KA ER 4k 5700.9 6997. 3 FIFE. 3k CE L) R TS, B G L) /#1278, 7S, bl CB (L) mE e, 2k (5 LL) /#2248
819 ] 1 g 75 P A D P L L AR 10KVIH 448 (487K) 3 5938 6997. 3 FFS. Kk CE L) R 7S, Kl (5 1l /#2748

820 [ ) i 7 A4 HL 8 ) [ R E L B A LOKVIH- 428922 K 1t 2% [ 5855. 6 6997. 3 F 7S, il CE L) B e, Sl G L) /#1 R48, B 7. Sl CE L) 78, 200t CFF L) /#2124
821 [ ) g 7 A4 HL 8 ) [ R L B A 10kVIH 22 28 K52 o 6096. 2 6997. 3 TS, ik B LD 7. ekl CE LD /#1248, B 70, Zml G5 1) B 7a. Skl G5 /#2878
822 ] 1 7 75 P A D ] o i e 7l L 0 ) LOKVH P28 KR 4k 7058. 8 8333.9 FFS. Ik (e p) REFS. A (o) /#1278, 7S, 4t (el o) R 78, it kot (il o) /#2228
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823 il 4 g 75 A4 FL A D ] o i e vl HhL 2 ] 10KV B 2k KA 4k 9607. 3 9560. 6 FAS. Ik (e b REFS. A () /#1272, 7S, St (el ) pE 7. oty kot (il o) /#2228

824 ] 1 g 75 FL A ) ] o i e 7l L ] 10KVt Jb 2k Kk 4k 8241.5 8781.2 FFS. Ik (e h) REFS. AR (o) /#1278, 7S, 4t (el o) R 78, ity kot (il o) /#2128

825 ] 4 g 75 FL A D ] o i e 1l L ] 10KVl 43 2k K5k 4k 6346.5 6928 FFE. ik (e P REFS. sl (il o) /#1278, 7S, 4t (el o) R 7. v ot (il o) /#2228

826 ] 1 g 75 P A D ] o i e 7l L 2 ) 10KVl 4 28 K5k 4k 9159 8781.2 FFE. Ik (e P REFS. sl (il o) /41 22728, 7S, it (el o) R 70, oy ot (il o) /#2248

827 s I 78 FL A D ] o 7 75 L L A ] LOKVAL i 4% 4k 3640. 3 3464 7S R (P 78) 7 8. SR (6 78) /#1048, w78, OUR (76 78) 7l 8. X0 (78 78) /#2148

828 [ A FEME L2 A JIUNDIEEEPN£24 %t 4268.5 4936. 2 TS Tl CEF L) B 78, ROk CEF LD /#1278, 78, RT3k G LD F 7. ST Bl G L) /#2148
829 [ ) i 7 A4 L 8 ) o8 176 75 B ik A ) 10KV 2k S 5320.9 6096. 6 T, AR (P 78) B 7. IR (P 7S) /#1748, B 78, IR (P 75) 70, XORG (P 75) /#2178

830 ] 1 g 75 FL A D Y L L AR 10KV 4 2% 4k 4317.3 4936.2 B 7S AT Bt (5 L) R 70, RT3 (Ll ) /#1748, B 7. XU I3 (&7 L) B 78, XU 3k G L) /#2348
831 ] o0 i 78 kL A ] o7 76 75 B ik A ) 10KV 4= 2% S 5778 5906. 1 T, AR (P 78) B 7. SR (P 78) /#1 48, B 70, XX (P 75) R 70, XUR; (P 75) /#2848

832 il I g 75 FL A D ] o 8 75 Lk L A ] LOKVAURE 2% 4k 5172.9 5906. 1 A R (P 78) 7 78, WU (6 78) /#1048, w78, XUR (76 78) i 8. XU (78 78) /#2148

833 g 75 H A D o 8 75 L L A ] 1OKVXUIT 2% 4k 4300.5 4763 7S R (VG 78) P 7. W0 (6 78) /#1 E4%, B 7. SR (U 78) #E 78, SURE (V6 75) /#2124

834 [ g e v 24 ) FEWE L2 gt H A LOKVRURIZE S 4608. 5 4936. 2 T 78 U Sk C& L) FE 78, XUk CEF LD /#1378, R 78, R0 sk CE L) R 70, XU 3735 G5 L) /#2148
835 [ %) g 7 A4 L 8 ) FEFE L B A 10KV 2k 53 4456 4936.2 FFE. Uk CE L) B 78, RO 3k CEF L) /#1278, B 78, BRI 53k G LD R 78, ST Il CEF L) /#2148
836 [ ) g 7 A4 HL 8 ) R FRE L B AT 10KV 2k 53 4278.9 4936.2 T, Uk CE L) B 78, ROk CEF L) /#1278, B 78, SR I3k G 1L R 78, ST Bl CEF L) /#2248
837 sl I g 75 FL A D ] o 7 75 L L A ] 10KV B 2% # 3048.8 3464 7S XA (P 78) 7 78, SR (6 78) /#1148, w78, OUR (76 78) i 8. X0 (78 78) /#2148

838 g 75 P A D ] o 8 7 L e A ] 10KV [ 2% 4k 4187.4 4763 7S R (PG 75) P 70 W0 (6 78) /#1 4%, B 7. 0UR S (P 78) B 78, SUR (B 75) /#2154

839 [ g e A v 24 ) B W LBt HL A LOKVIU % 2k 53 4417.6 4936. 2 T 78 AU Sk CE L) FE 78, XU 3k CE LD /#1378, R 78, R0 sk CE L) R 70, XU 3735 G5 L) /#2148
840 [ ) i 7 A4 FL 8 ) FEFRE L B A 10KV N2k 53 4419.8 4936.2 FF. Tk CE L) B 78, BRIk CEF L) /#1278, B 78, SR I3k G LD R 78, SR Il CEF L) /#2124
841 ] o0 i 75 kL A ] 1o 76 75 B ik A ) 10KV 2% 7 4076.7 4763 T ARG (P 78) B 7. SR (P 78) /#1148, 70, SR (P 75) B 70, XURE; (P 75) /#2278
842 I g 75 FL A D ] o i S L L A LOKVE AR £k K5tk 4k 6193.6 7742 7S, Sk 3k () i . S (R ) /42 K, B . Y o (P ) 7 . S (R D) /%1 A

843 i I g 75 L A D ] o e S L el A ] 10KV 4k 4k 6338 7742 T 70 ik 3 (g ) g . Sl 3t (i ) /42 A%, P . Y i (P ) 1 . e o (D) /1

844 ] 1 7 75 A4 FL A ) ] o 43¢ g L Hht 2 ) 10KV P2k AN 0 8746.9 A FRE AT, Rk /#L1E, A, R . F /a2

845 ] I g 75 FL A D T o 43¢ g L it 0 ] 10KVEI T4k AN 0 8781.2 A FRE AT, Rk /#L1E, A, RN A F /a2

846 ] 1 g 75 FL A D ] o 43¢ g L bt 8 ] 10kVFHE £k AN 0 8781.2 A FRE AT, Rk /# 1E, A, E R A F /a2

847 [ 1) i 7 A4 HL 8 ) PR 5 Bl ik v 4 ) 10KVRE 2L N 0 6529. 6 7S R TS R /41 A, B SRR R S /2 A

848 A 78 FL A D ] o e S L el A ] 10KV i 2k K5k 4 7977.1 7742 7S, Sk 3 () i . e 3t () /42 A%, B . Y i (P ) P . S s (R D) /%1 A

849 il 4 g 75 A4 FL A ) T o 43¢ g L it 8 ] 10k VR AR 2k 4 0 6529. 6 70, Rk . g/ #1 A

850 ] 1 g 75 FL A D ] o e S L L ) 10KV T 2k K5k 4k 6636.9 7742 FFS. Sk (i 50) T 70, Rl (R 0) /#2708, 7S Sl (R ) i 7. g i (Rl ) /#1278

851 ] 1 g 75 FL A D ] o e S L L 10K VR K2k KL 4k 7606 7742 FIFS. Sk (50 T 70, el (R ) /#2578, W 7S Sl (R ) P 70, S i (Pl ) /#1274

852 ] 1 g 75 P A D ] o 43¢ g L it 1 ) 10KV Ik 2k AN 0 8781.2 A FRE AT, Rk /# 1A, M. RN A F /a2

853 il I g 75 FL A D ] o e S L L A ] 10k Vg b 2k K12k %k 6234.8 7742 7S, Sk 3 () i . et () /42 A%, B . Y i (P ) 7 . S (R D) /1 A

854 il 4 g 75 A4 FL A D ] o 43¢ g L et 28 ) 10kVEfb 4k AN 0 8781.2 A F R A, Rk /#L 1 A, M A, RN A F /a2

855 ] 1 7 75 P A D T o 43¢ g L i 0 ] 10KV 1L — 2k AN 0 6529. 6 A FRE AT Rk /#L1E, A, RN A F /a2
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856 il 4 g 75 A4 FL A D ] o e 0 L L A ) 10KV B 2k KAk 4k 8406. 4 7742 A 3k (i 50) T 7. Sl (R ) /#2708, WS Sl (g ) i 0. S i (Rl ) /#1278
857 ] 1 g 75 FL A ) ] o e 0 L L ] 10KV 2k 4k 8112.7 9058. 4 70, gk (R ) B 7S, Ik ik (R ) /#2324

858 ] 4 g 75 FL A D ] o 43¢ g L it 8 ] 10KV 2k AN 0 8781.2 A FRE AT, Rk /41, A, RN A E /a2

859 ] 1 g 75 P A D ] o e S L L 10KV 2R 2k K Ik 4k 8585. 4 7742 FFS. Sk (0 T 70, Rl (R ) /#2278, W AS. Sl (R ) i 0. S i (Rl ) /#1278
860 s I 78 FL A D ] o i S L L A ] 10kVFHE{ 2k %k 4652.8 4953.5 B 7S, THeb ok () w70, Tk (R #0) /42 148, B 7a. THeh il (FE#6) #E 7. THebd (R ) /#1124
861 g 75 H A D ] o i S L L A ] 10kVF R4k 4k 2983.5 3585. 2 W 7S, Tk (R0 w70, Tl (R 36) /#2 4%, w7, Tl (R #6) 7. T (R ) /#1124
862 [ ) i 7 A4 L 8 ) ] o g 7 L ik L 4 ) 10kVTHifE2k S 3267.5 4700 T THehuk (R ) B 70, THehl (RE ) /#1E748

863 ] 1 g 75 FL A D ] o e S L L 10kV Tk 2k 4k 3762.5 3585. 2 FIFE. TH sk (P 30) R 70, THebasls (R 0) /#2578, M 7S, ThHehanl (R 0) rE 8. THad sk (R ) /#1248
864 ] 1 g 75 FL A D ] o e S L L ) 10kVFF K 2% 4k 2731.5 2840.5 FFE. Fh sk (7 36) R 70, THebasl (R 0) /#2578, R 7S, THhanl (R 0) mE 8. FHid sk (R 6) /#1248
865 il I g 75 FL A D ] o i S L L A 10kVFHHI 2k %k 3452.8 3481.3 B 7S, THeb ok () w70, Tk (B #0) /#2148, B 7a. THeh il (RS #6) #E 7. THebsd (R0 /#1124
866 g 75 H A D ] o e S L L A ] 10KV 2 4k 2503. 1 2909. 8 FI 7S, THEb sk (R E0) w70, Tl (R 36) /#2 4%, P 7. Tl (R #6) e 7. T (R ) /#1124
867 ] 4 g 75 4 FL A ) ] o e 0 L A L A ] 10KVFF X2k %k 3242.3 3585. 2 FIFE. TRk (P 350) RE 70, THebasl (R ) /#2278, R 7S, Tkl (R 0) rE 70, THad sk (R 6) /#1248
868 ] Y g 75 FL A D ] o e S L L ] L10KVTFAR 2% 4k 560. 2 1108.5 FIFE. THedk (P 36) R 70, THebasl (R 0) /#2578, M 7S, THehal (R 0) mE 8. THad sk (R 6) /#1248
869 ] 1 g 75 FL A D ] o e S L L A 10KVTH 2k 4k 3527.3 3481.3 FFE. FHh sk (P 6) RE 7S, THebl (R 0) /#2578, B 7S, THhal (R 0) mE 8. THid sk (R 6) /#1248
870 sl I g 75 FL A D ] o i e 7l HhL 2 ] 0KV 2k KMtk 4k 3497.2 3637.2 FFS. Tk (e rp) RE 78, F- 0l (il o) /81 2728, 7S, -0l (el o) A 0. Tt (il o) /42 1228
871 g 75 P A D ] o i e vl e 2 ] 10KV HI £ K524 4k 3538.3 4416.6 7S, Tk (el o) w7, T Bt (i o) /41 2%, w0l (g o) i 7. Tl (g ) /2 14
872 ] 4 g 75 FL A ) ] o i e 7l HhL 2 ] 10KVF-Ff 2k K5k 4k 2505. 4 2598 FIFS. Tk (e b RE 7S, F- 0l (il ) /#1278, 7S, -l (el o) A 7. -t (il o) /#2228
873 ] I g 75 P A D ] o i e 1l L 2 ] LOKVT i 28 K32k 4k 4442.6 4416.6 FIFS. Tk (e b RE 7S, T-0hils (il o) /81 22728, 7S, Tl (el o) mE 8. Tt (il o) /#2248
874 ] I 75 FL A D ] o i e 7l L 2 ) 10kVF-3 2k K5k 4k 3891. 2 4416.6 FFS. Tk (e rp) RE 7S, F- 0l (il o) /41 22728, R 7S, Ol (el o) A 8. Tt (il o) /#2228
875 I g 75 FL A D ] o i e 7l HhL 2 L0KVF L2k Rtk 4k 5069. 7 5196 FFS. Tk (e p) RE 7S, F- 0l il o) /81 2728, 7S, -0l (el o) A 0. -t (il o) /42 128
876 i I g 75 L A D ] o i e vl 1 e 2 10kVF =2k Kk 4k 3163.5 3637.2 FFS. Tk (e ) R 70, F- 0l (o) /81 2728, 7. -0l (il o) i 0. -t (il o) /42 22
877 ] 1 7 75 A4 FL A ) ] o 3 2 EL I L A ] 10kVAL A 2k K5k 4k 8298.2 8088. 4 A AL h (G 20) M 7S, SRALSS G ) /#2578, M 7S, ALl G 20) rE7e. ALl (E%0) /#1148
878 ] I g 75 FL A D ] o 3 2 EL L A ] 10k VAL 5 2% 4k 7868. 6 9578 A WAL (G 20) R 7S, AL S Gl 2e) /#2578, M 7S, ALl G 2) mE 8. ALl (%0) /#1248
879 ] 1 g 75 FL A D ] o 2 e EL L ] LOKVAL 42k KMtk 4k 3366. 3 3654.5 FIFS. ALh (%) M 7S, AL S G ) /#2578, M 7S, Akl G 20) mE e, Ik (% 20) /#1248
880 I g 78 FL A D ] o i S L L A 10kVAb 44k 4k 4834.6 5681 78, AL (R ) w70, AL () / # 1 124%, P 7E. SRAL S, (P 0 FE 75, SAbsh (B / #2324
881 A 78 FL A D ] o 3 2 EL L L A ] 10KVAL AR 2k K5k 4 3176 3654.5 B 7S, IRAb s G B 0. ALl GE42) /42 148, B 70, ALl GE22) M 7t SRALN, G 2%0) /#1124
882 il 4 g 75 A4 FL A ) ] o i 7 1l 3 Bk e A ) 10K VAL s 28 K452k 4k 8589. 3 9578 FFS. AL e, ALk /42 1A, M AS. AL A, AL /81 34

883 ] 1 g 75 FL A D ] o e S L L ) 10k VAL % 2% 4k 5974.5 5715.6 FFE. AL (R0 R 70, IRAL sl () / # 178, R 7S dAL ol (R ) A 70, ALt (R 36) / # 2 4%
884 ] 1 g 75 FL A D ] o 3 2 EL L ] 10kVAL H 2k K5k 4k 7945 8088. 4 FIFS. ALk (%) M 7S, AL S GiEe) /#2578, M 7S, Akl G 20) mE e, Ik (% %0) /#1248
885 ] 1 g 75 P A D P L L AR 0K VAL 2k KMtk 4k 8599.9 10045. 6 FFE. AL CEF L) REFS. AL CEF L) /#1278, 7S, Skt CBY 1) rE 78, Akt CE L) /#2248
886 il I g 75 FL A D ] o 3 2 EL L L ] 10k VAL BE 2 4k 6064. 6 6910.7 B 7S, SRAbh G ) B 0. AL G 42) /42 148, B 0. ALl GE22) M 7E. SRALN, G 20) /#1124
887 il 4 g 75 A4 FL A D o0 7 1Ly L A ] 10kVAL HL£E92 1K B2k 4k 9686 10045. 6 FAS. 3ALE CEF L) R 78, AL CEF L) /#1278, R 7S dALat CBY 1) rE 8. Akt CE L) /#2248
888 ] 1 7 75 P A D o0 7 1Ly L L ] 10kVAL iR 2924 K B2k 4k 8036. 5 10045. 6 FFS. SALE CEF L) R 7S, AL CGEF L) /#1278, 7S, dAbant CBY 1) rE 78, bt (5 LL) /#2278
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889 il 4 g 75 A4 FL A D o0 7 1Ly L A ] 10kVAE 7K 2923 K 15 2k 4k 8045. 5 10045. 6 FAS. AL E CEF L) 78, AL CEF L) /81 22728, R 7S dALat CBY 1) rE 8. Akt CE L) /#2248
890 ] 1 g 75 FL A ) P L B A ] L0kVALHF 9 13K 5t 2k 4k 7238.1 7707. 4 FFS. SALE CEF L) RE 7S, AL CEF L) /#1278, 7S, Skt CB 1) RE 78, bt (5 LL) /#2248
891 [ R R A E] | 0 7 L D A L 10KVALEE I £ Kbtk 4k 8353. 1 9578 FIFS. AL Fe. ALk /82 1A, M FS. AL R A, AR /6134

892 [ g e LA T | 0 R 7 L IR A L e T0KVALEE T 2K titisk 4k 8621. 1 9578 FFS. AL e, ALk /42 1A, M FS. AL R A, AL/ 61 34

893 s I 78 FL A D ] o 3 2 EL L L A ] TOKVALAIZE K 12k %k 9085 9578 B 7S, SRAbE G ) w78, ALl G 42) /42 148, B 7a. ALl G 22) M 7E. IRALN, G 20) /#1124
894 g 75 H A D o0 7 Ly L ] 10kVAEHi 4 CGnidl) KBk 4k 5152.9 5196 FAS. AL CEF L) R 7S, SRALSE CGEF L) /#1278, 7S, ALl CBY 1) rE 8. Akt CE L) /#2248
895 ] 1 g 75 4 FL A ) o0 7 1Ly B L ] L0kVAL BT k923 K5t 2k AN 0 5802. 2 2. B 378 sk G LD REF0. BT Il G L) /41 22788, 7S, M 7 it G L) P 7. R ik (1) /4232
896 ] 1 g 75 FL A D ] o 2 o EL L ] 10kVALF£k912 4k 6955. 3 8088. 4 FIFS. ALk (%) M 7S, AL S G ) /#2578, M 7S, ALl G 20) mE e, Ik (% 20) /#1248
897 ] 1 g 75 FL A D ] o e S L L ) 10k VAL Rk 4k 7441.1 7742 FFE. AL (P 0) R 70, IRAb s () / # 1278, 7S dAant (R ) A 70, ALt (R 36) / # 2 248
898 il I g 75 FL A D ] o 3 2 L L A ] 10kVALFE 4 K5tk 4k 7656. 3 8088. 4 B 7S, SRAbE G ) B 70, ALl G 4e) /42 148, B 70, AL G 22) M 7E. IRALN, G 20) /#1124
899 g 75 H A D ] o e S L L A ] 10kVALS 2% 4k 8090. 5 7742 FFS. AL (R 30) 70, IRAL 3 () / # 178, M 7S ALt (R ) i 0. Akt (g 38) / # 2 48
900 e e A I W ES 2l e A 1 P A SR LOKVALF- TT 2 K 1tk S 8559.3 9578 . AL 7. ALk /42 A, T A, AL S 7S, AL /41 3 A

901 [ P pg LA E] | 0 7 L E DA H 10KVALF T 2Ktk 4k 9074.7 9578 FIFS. AL Fe. ALk /82 1A%, M FS. AL R A, ALWInh /6134

902 ] 1 g 75 FL A D ] o e S L L A 10kVAL R ZE4k 4k 7916.8 7620.8 FFE. AL (P 0) R 7S, IRAL sl () / # 1278, 7S ALt (R ) A 70, ALt (R 36) / # 2 248
903 sl I g 75 FL A D R L B A 10kVAL S 4 K5tk 4k 7775 8919.8 B 7S, SRAb G CE L) B 78, ALt C& L) /#1 R4%, B e, AL CE L) #E e, AL, C& 1) /#2124
904 g 75 P A D R L A AR L1OKVALHZL KA EL 4k 6165.9 7707. 4 A ALE CEF L) RE 7S, AL CGEF L) /#1278, 7S, ALt GBY 1) rE 8. 3kt G5 l) /#2248
905 e e A I W ES 2 e /A 1 P A SR 10k VAL TT 28 Ktk 53 9806. 7 9578 7. AR 7. dbibh /82 AR, B A, AL R AL A /1 AR

906 R FE LA R | FE R A L 2 AR R f e 10kVAE 4 T 2R Ktk 53 10713.9 9578 T AL R Fe. Lk /42 A, FE A, AL S 7S, AL/ H1 32 A

907 ] I 75 FL A D FE o0 L Bl A ] 10KVAEIIZE GRAED Rk 4k 9277.4 9560. 6 FFE. SALE CEF L) RE 7S, AL CGEF L) /#1278, 7S, Skt CB 1) mE 78, bt CE L) /#2248
908 I g 75 FL A D Y L B A 10KV [m] 2% K54k a 0 10045. 6 F7S. [k CE L) B 78, el CE L) /42 4%, B e, ml el CEF L) B TS, [ CEF L) /#1124
909 i I g 75 L A D ] o 3 2 EL L L A ] 10kVAL 54 2 K5k 4k 9400 11015.5 7S, SRAb s G ) v 0. AL G 42) /42 148, P 7u. AL G 22) #E 7. IRALN, G 20) /#1124
910 [ P e LA ]| 0 e 7 R L 2 DR A e 10KVAL A 1T £ K tif 4k 9796. 3 11188.7 FFS. AL Fe. ALk /82 14, M 7S, AL R 7. AL /6134

911 e e A= I W ES 2 e /A 1) P A SR LOKVABJH T 2Rtk 53 10332. 4 11188.7 . AL R Fe. ALk /42 A, FFS. AL S 7S, AL /41 32

912 ] 1 g 75 FL A D Y L B AR N EIARE PN 23 4k 7671. 1 7707. 4 FIFE. 3ALE G5 L) REFS. AL CGEF L) /#1278, R 7S, Skt C& L) rE 8. Akt (& l) /#2248
913 R FE LA =] | FE 0 A A L 2 W B H e 10KVABHE TT 2k K1tk S 10889. 1 11188.7 70, ALl 7. ALt /42 1A%, . AL R 7S, ALt/ A

914 [E P FE LA =] | FE R S A L 2 R f e L0kVALAE T 2R K2k 53 10843.7 11188.7 70, AL 7S ALt/ 42 1A, BT, AL R 7S, ALt/ 1 A

915 il 4 g 75 A4 FL A ) ] o e 0 L L A ] 10kVALAA T 5 4k 6801.9 7742 FFS. AL (R 0) 7 70, IRAL s () / # 178, W 7S ALt (R ) i 0. IAbot (g 38) / # 2 148
916 ] 1 g 75 FL A D ] o e S L L ) 10kVALAA T 25 4k 6632. 7 7620.8 FFE. AL (R0 R 70, IRAL sl () / # 178, R 7S dAL ol (R ) A 70, ALt (R 36) / # 2 4%
917 [ P LA E] | 0 7 L E D A i o 10kVAL 3L 1T £ Kbtk 4k 10384 11188.7 FIFS. AL Fe. ALk /82 1A, M FS. AL R A, ALWinh /6134

918 [ o e LA E] | 0 R 7 R L IR A L e 10kVAE 3L [ 2Ktk 4k 8951 11188.7 FFS. AL Fe. ALk /42 1A, M FS. AL FE A, AL/ 61 34

919 [ P pE e LA E] | 0 7 L A E D A 10K VAL 4 1 £ Ktk 2k 4k 7662. 4 9578 70, AL 7S ALt /42 1A, BT, AL R 7S, ALt/ H1 A

920 [ ol g e L A ]| o e 7 R L 2 IR AR e 10kVAL R T 2Ktk 4k 9012.9 9578 FAS. AL e, ALk /82 1A, M AS. AL A, AL /61 34

921 ] 1 7 75 P A D ] o 3 2 EL kL A ] 10kVAL 28916 %k 7426.9 7672.8 A ALh (G 20) R 7S, AL G ) /#2578, M 7S, ALl G 2) rE 78, ALl (%0) /#1248
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922 il 4 g 75 A4 FL A D ] Y 3 2 EL R A D 10kVAL T 2k K5k 4k 8311.9 9578 A AL (G 22) M 7S, SRAL S G ) /#2578, M 7S, ALl G 20) mE 0. Akl (%0) /#1748
923 e /A N W e /A 197 R A S TOKVRTh £ K52 3 8600. 5 9578 T, PR R T, SR /42 A, P A, PR RS FS. IR R /61 32

924 ] 4 g 75 FL A D ] Y 7 75 L Y A D 10KV RUER — 2k “k 6005. 4 7326.4 FIFE. R, (P 70) rE 70, KRS (P 78) /#1278, i 7e. RV (76 75) rE 0. KU (P 78) /#2248
925 ] 1 g 75 P A D ] Y 7 75 L Y A D 10KV JAUAR — 2k 4k 5953.9 7326.4 FFS. RS (P 70) rE 70, JRUELES (B 75) /#1278, i 7e. RV (76 75) rE 0. KU (P %) /#2248
926 [E PR R FE LA w0 S A L 2 R H e TOKV R 26 Kl 2k 4k 7671.4 9578 B 7S, A TS SR /42 AR, R . MR R R 7S SRR /R A

927 [ P g e LA E] | 0 e 7 R L DR A s LTOKVJR i 28 K152k %k 8054. 1 9578 70 S TS SR /2 A, P . SRR 7S R/ A

928 e /A N W 2 /A 197 R A S LOKV R 128 K2k 23 7662. 4 9578 T, PR R T, SR /82 A, P A, PR RS TS, IR R /61 32

929 R FE LA R | FE 0 A L 2 R B H e LOKVRITITZE Kk o 9023.2 9578 T, PR T, SR /82 A, T A, PR R RS FS. IR R /61 32 A

930 ] 1 g 75 FL A D ] Y 7 75 L A D 10KV AU — 2k %k 7741 7326.4 FFE. R, (P 70) mE 70, JRUELSS (B8 78) /#1278, i 7s. RS (76 75) rE 0. XU (P 78) /#2248
931 il I g 75 FL A D i Y 7 75 Ll A D 10KV A — 2k 4k 8494.8 7326.4 A AU, (P 70) mE 70, JRUELSS (B 78) /#1728, M 7s. R (76 75) rE 0. XU (P %) /#2248
932 g 75 H A D X i o A A D LOKVRMRZE K5 EL 4k 3810. 1 5490 35KV KA Hist R AS. KR () /#1248

933 [ P e LA E] | 0 e 7 R L 2 DR A H oo 10KV 2 K ik 4 8899. 5 9578 FIFS. SRR FE. SRR /62 1A, M FS. B R R AT, SR R /61 AR

934 [P FE LA R | FE 0 A L R R r e 10KVR £ K15 2% o 8930.4 9578 T, PR R T, SR /42 A, P A, PR R RS FS. IR R /61 32 A

935 T 9 7 76 A4 HhL 8 ) o7 76 75 B ik A ) 10kVRIT 2k # 5417.8 7326. 4 . R (P 75) B 7. KU (P 78) /#1 2748, B 7a. RURH: (PE 75) R 7a. R (P 75) /#2848
936 sl I g 75 FL A D Y 7 75 Ll A D 10KV RUIF— 2 4k 6735.4 7326.4 A AU, (P 70) RE 70, JRUELSS (B 78) /#1728, i 7s. AU (76 75) rE 0. XU (P 78) /#2248
937 g 75 P A D Y 7 75 L Y A D 10KV A2 4k 5861. 1 7326.4 A R, (P 70) mE 70, JRUELSS (B 78) /#1728, i 7s. JRUBL (76 75) 0. U (P 70) /#2248
938 ] 4 g 75 FL A ) ] oY 1 75 L Y A D 10kVRA % 2k %k 5104. 4 6148.6 A R, (P 70) R 70, KBS (8 78) /#1278, i 7s. RV (PG 75) rE 70, KU (P 78) /#2248
939 ] I g 75 P A D ] Y 7 75 L Y A D 10kVR % — 2k 4k 5558. 1 6148.6 A R, (P 70) rE 70, JRUELSS (B8 78) /#1278, mi7s. RV (76 75) rE 0. KU (P %) /#2248
940 ] o0 i 75 kL A ] ) 1) e 7l ik v 4 ) 10KV 26 K i 2k 4 2545.2 3600 35KV RV L 7. KR (T ) /#1348

941 [ P A E] | 0 e 7 A L 2 ] IR DR AL i 10KV A 53 T2 Ktk % 7662. 4 9578 7S, A TS SR /42 AR, B . SRR R 7S SRR /R A

942 [E PR p e A w1 A A L 2 R H e 10KV A TTER Rtk & 7662. 4 9578 70 SR TS SR /42 AR, P . B R 7S SRR /R A

943 [ R e A F] | 0 i 7 A L 2 ] DR AL i e 1OKVIRUBE 125 K2k 4k 10817 9578 FIFS. AU T SR /42 AR, P T SRR R AS. SRR /R A

944 R P T R | FE 0 A L 2 SR r e LOKVRELZE K2k 3 10538. 6 11188.7 T, PR R T, SR /82 A, P A, PR RS FS. IR K /61 32

945 R FE LA R | FE 0 A L 2 R A H e 10KV =128 K2k o 8291.2 9578 T, BRI T, SR /82 A, T A, PR R TS FS. O R /61 32

946 R FE LA =] | FE 0 A A L 2 W B H e 10KV =112k Ktk 5 8394.3 9578 B 7S, AU TS SR /42 AR, R . SRR R A SRR /R A

947 A 78 FL A D Y g i L L A D 10KV A 2% 4 7575. 1 7742 FIFS. vl (R ) P 70, v o il (R ) /42 1%, B 7. e o i (P ) P G 18 bl (P D) /1
948 il 4 g 75 A4 FL A ) ] o4 g S L A L A D 10KV 5 4% 4k 5251.5 4953.5 FIFS. ek (P 0) A 70, 2 il (R ) /#2278, M7 e il (R i) 0. Wt =l (R ) /#1272
949 ] 1 g 75 FL A D ] X g S L A L A D 10KV i 4k 4k 5877. 1 6598.9 FIFS. ek (P ) R 70, 2 2l (R ) /#2178, 7. e il (R ) R 0. Wt =i (R ) /41 A
950 ] 1 g 75 FL A D ] Y g S L A L A D 10KV ¥h 2% 4k 6282. 4 5681 FIFE. ek (P 0) R 70, 2 il (R ) /#2178, 7. e il (R D) R 0. Wt ol (R 8) /#1274
951 ] 1 g 75 P A D ] Y g S L Y L A D 10KV iR 2k 4k 4911.3 4953.5 FIFS. el (P ) R 70, e il (R ) /#2578, B 7S. e sl (R D) R 0. Wt =i (R ) /#1278
952 il I g 75 FL A D ] Y g S L A D 10KV s 2k 4k 7651. 4 7742 FIFS. vl (R ) P 0. v o il (R ) /42 1%, B 0. e o i (P ) P TG 18 ol (P D) /1
953 il 4 g 75 A4 FL A D ] o4 g S L A L A D 10kViEzk 2k %k 6150.8 4953.5 FIAS. ek (P 0) A 70, 2 il (R ) /#2578, M AS. e il (R ) 0. e =l (R ) /#1278
954 ] 1 7 75 P A D ] o4 g s L A R A D 10KV 4k 4k 4725.7 4953.5 FIFS. ek (P ) R 70, 2 2l (R ) /#2178, I 7S. e sl (R ) I 0. Wt =l (R ) /81
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955 il 4 g 75 A4 FL A D ] o e 0 L L A ) 10kViE z 2% 4k 3962. 8 4953.5 FIFS. ek (P 0) A 70, 2 il (R i) /#2578, WA e il (R ) 0. e =l (R ) /#1278
956 ] 1 g 75 FL A ) ] o 3 2 EL kL ] 10KV B2k K32k 4k 5091. 8 7300 FIFE. LSS GE%E) MIFS. MIESS GE%) /#1E7%

957 ] 4 g 75 FL A D ] o 43¢ g L it 8 ] 10KV FE 2k AN 0 5594. 4 FIFS. E BT N6k /# 1A, M AS. BN R A /a2 A
958 ] 1 g 75 P A D ] o 43¢ g L it 8 ) 10KV 42k AN 0 6529. 6 FIFS. E BRI, B 06k /81 1A, M AS. BN R T /82 A
959 ] ) o 7 A3 HL 8 ) o 5 Bl B ik v A ) 10KV X4 T2 a 0 6529.6 FIFS. SGU R FE. S/ 41 AR, B, R TS B N /2 A
960 g 75 H A D ] 0 3 2 EL L ] 10KV g2 4k 4639. 6 5400 FIAS. MCIENE GEZE) WA, MES) GE%) /81 E4

961 ] 1 g 75 4 FL A ) ] o 3 2 EL kL ] 10KV 2% 4k 4722.1 5400 FIFE. NCIENE GE%E) MIFS. MIESS GE%) /#2178

962 ] 1 g 75 FL A D ] o 43¢ g L it 0 ] 10KV A1k AN 0 6529. 6 FIFS. E BT, S k81 1A, M AS. BN R A /e
963 ] o0 i 78 kL A ] ] o 3 2 EL L A ] 10KV K2k S 4320 5400 T, MRS GE2) BT, M (E ) /H2EA

964 [ ) i 7 A4 HL 8 ) [ o0 32 22 Bk A 10KV 372k S 6427.6 7300 TS MHENE GEZD) FF. ML %) /214

965 g 75 H A D T o 43¢ g L e 2 ] 10KV X 2k AN 0 6529. 6 FIAS. E B . N6k /81 1A, WA RN A /e A
966 ] 4 g 75 4 FL A ) ] o 3 2 EL kL A ] 10KV R 2 4 4856. 1 5400 FIFE. MCIENE %) W78, MIESS GE%) /#1E7%

967 ] Y g 75 FL A D ] o 2 2 EL L ] 10KV £ 2 K5t 4k 4490. 1 7300 FIFS. NEIENE G2 W78, MRS GE%) /#2%

968 ] 1 g 75 FL A D T o 43¢ g L it 8 ) 10KV — 2 AN 0 5992.7 FIFS. E BRI FE. 0k /8 1A, M AS. BN R T /e A
969 [ ) i 7 A4 HL 8 ) o 3 Bl ik v 4 ) 10KV 5 % s 0 5594. 4 7. SIGUN R FE. S/ 41 AR, B . SR TS B N /2 A
970 g 75 P A D ] o 43¢ g L e 2 ] 10kVOb 2k AN 0 6529. 6 w78, A () B 78, Ok ((BE) /#1342 48

971 ] 4 g 75 FL A ) ] o0 7 7 1l 3 B A ] 10KVOBALZE KR %k 6419.9 6581.6 A PROLEE I TS, (k82 14, M 7S, (ROGHEFE 7. DRkl /#1 3248
972 ] I g 75 P A D ] o 43¢ Bl L it 8 ] 10kVIE AR 2 AN 0 6529. 6 78, Ak (1) B 78, Atk ((CB) /#1348

973 ] I 75 FL A D ] o i 7 1l 3 B L e A ] L10KVIE A 2R K5k 4k 6691. 6 6581. 6 FIFS. PROLBE R TS, (k82 1A, M FS. (RGN FE 7. DRt/ #1324
974 [ R A ] 1) g 7 717 35 B e 8 ) LKV SR R 2R & 8079 8919.8 7S, ARG 7S ROt /42 1A, BT, PRGN B 7S, SOt /H1 A
975 i I g 75 L A D ] o 43¢ g L e 8 ] 10KV 3 2k AN 0 8365. 6 w78, A () B 78, Ok ((B) /#1348

976 ] 1 7 75 A4 FL A ) ] o0 7 7 1l 3 Bk e A 10KV 2k KLk 4k 13717 14375. 6 FIFS. RGBT TS, (k82 14, M 7S, (RGN FE 7. DRkl / #1348
977 ] I g 75 FL A D ] o0 7 7 1l B B L e A 10KV — 2k KLk 4k 11569. 5 11188.7 FIFS. PROEBE R TS, (k82 14, M 7S, DROBHE R 7. DRt/ 813248
978 ] 1 g 75 FL A D ] 0 i 7 1l 3 Bk L A ) 10KV JRF 2k K5k 4k 9816. 4 9578 A, OB TS, (k82 1, M FS. (RGN FE 7. DRt/ #1324
979 T 7 i 7 A4 L A ) ] ) o 7 71 5 B e 8 ) TOKVIE I — 28 Kisi 2k & 8940. 7 9578 7S, ARG 7S RO /42 AR, BT PRGN B 7S, (RO /H1 A
980 [ R A ] ) g 7 1 5 B L 8 ) LOKVItk T 2 Rtk 53 10837. 6 11188.7 7S, ARG 7S ROt /42 1A, BT, PRGN R 7S, (Ot /H1 A
981 il 4 g 75 A4 FL A ) ] o i 7 1l 3 Bk e A ) 10KV e — 28 KAtk 4k 10363. 4 9578 FAS. PROGHE TS, Gk /82 1%, M FS. (RGN FE 7. DR/ 81 3248
982 ] 1 g 75 FL A D ] 00 7 7 1l 3 B L e A ] 10KV el — 2k KBt 2k 4k 4364.8 5456 FIFS. ROLBE R TS, (k82 14, M 7S, (RGN FE 7. DRt/ #1348
983 [ g e v 24 ) ] ) i 7 11 5 B L 2 ) 10kVo B2k 53 8818.2 9578 T, BROGEFIF0. (RO /#2148, P70, (RGu e 78, fR Gl /41 3248
984 ] 1 g 75 P A D ] 9 g 78 1l A B A D 10KVIE A2k 4k 8538.3 9577.5 FIFS. ROEBE R TS, (Rl /82 1A, M FS. (RGN FE 7. DR/ 81 3248
985 il I g 75 FL A D o 43¢ g L e 0 ] 10Vt L2k AN 0 6529. 6 78, A () B 78, Ok ((CB) /#1348

986 il 4 g 75 A4 FL A D ] o i 7 1l A Bk e A 10KVl 28 KAk 4k 8219.1 9578 FAS. PROGHE T TS, Gk /82 1A, M A8, (RGN FE 7. DR/ 81 3248
987 ] 1 7 75 P A D ] o i 7 1l 3 B L L A ] 10KV L =25 K ik %k 9497. 4 9578 FIFS. ROLBE R TS, (k82 14, M 7S, (ROGHEFE 7. DRt/ #1348
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988 I g e A v 24 ) L ) g 7 7 5 B A L 2 ) L0V L — 2R K M2k S 11002. 5 11188.7 T, BROGEFIFE. RO /82 48, F 70, (RO G 78, TRt/ 41 3248

989 [ ) i 7 A4 FL 8 ) [ R L B A 10KV 2k 53 5907. 1 6997. 3 FATT. Gkl CE LD B 78, Skl CE L) /#2748

990 ] 4 g 75 FL A D ] o e S L L LOKVAREE T £ 4k 3915.7 3810.4 FIFS. ARk (P 0) R 70, AR () /#2578, 7S, ARl (R 0) mE 70, (R () /#1248
991 ] 1 g 75 P A D ] o e S L L TOKVAREE T £ 4k 5090. 8 4953.5 FIFS. AR e (P 0) R 70, PR () /#2578, 7S, AR pR 0l (R ) mE 8. (R (R 3 /#1248
992 s I 78 FL A D ] o i S L L A ] 10kVERTE 2k %k 3366. 7 3481.3 B 7S, ARk (R ) w70, ARk (R #) /#2148, w 7a. AR 1R il () 7 7E. AR (P D) /#1124
993 g 75 H A D ] o i S L L A ] 10kVAR K2k 4k 3101.3 2840.5 FFS. ARFEE (FE350) 70, AR (R ) /#2178, 7S, AR Rl (R ) 0. AR (R 36) /#1248
994 ] 1 g 75 4 FL A ) ] o e 0 L A L ] L1OKVARAIZE 4k 3332 3481.3 FIFS. AR FEE (P 0) RE 70, PR3 (R ) /#2178, M 7S, ARl (R ) RE 70, AR s (R 36) /#1248
995 ] 1 g 75 FL A D ] o e S L L 10kVAR N2 4k 3029. 6 2840.5 FIFS. ARFEE (P 0) R 70, PR3 (R ) /#2578, 7S, AR R0l (R 0) mE 70, (R () /#1248
996 ] 1 g 75 FL A D ] o e S L L ) LOkVER L 2 4k 3214 2840.5 FIFS. ARFEE (P 0) R 70, PR3 () /#2578, 7S, ARl (R ) mE 0. (R (36 /#1248
997 il I g 75 FL A D ] o i S L L A 10kVER T2k %k 2529.9 2840.5 BI7S. ARk (R ) w70, ARk (R #6) /#2148, w 7a. AR 1R i (R #6) e e, AR (P D) /#1124
998 1) o 7 A4 HL 8 ) ] o o 7 S ik A 7 10kV 382k 53 2022. 18 6529. 6 W70, LA ((CBle) w78, ToAg sk ((CBR) /#1348

999 ] 4 g 75 4 FL A ) T o 43¢ g L it 0 ] 10KV F BELE AN 0 6529. 6 F7E. FAEE (1B B 78, FoAE s ((BR) /#1348

1000 | WAL A E ] o 8 75 L L A ] 10KV SUIBZK916 K 15tk 4k 5029. 5 4763 FIFE. Nk (P 70) RE 7S, SO (FE78) /#1278, B 7S, SOl (B 75) mE 7R, SOl (B 70) /#2248
1001 | WAL A ] o 8 75 L L ] IAPE: £24 4k 5475. 1 6096. 6 FIFE. Nk (P 70) REFS. SO (B 78) /#1278, B 7S, SOl (8 75) mE 7R, SOl (B 70) /#2548
1002 [ R A o7 76 75 B i A 10KV S HR£R926 K ik & 4010.9 4763 BIFE. Mk (PG 78) B 70, %k (F5 78) /#1 B4%, BE7n. SOk (P 75) B 78, SO (B 75) /#2154
1003 | EM AL A E ] o 8 7 L e A ] 10KV UM 4k 4545. 4 4763 B 7. SOl (PG 78) B 7. SOk (6 78) /#1 B4%, B . SOl (P 70) B 78, SO (B 75) /#2154
1004 | WAL A ] o 8 75 L L A ] 10KV ST 4k 6193.3 7326.4 FIFE. vk (F70) M 7S, SO (HE78) /#1728, B 7S, SOl (B 75) R 7R, SOl (P 78) /#2248
1005 | WAL A E ] o 8 75 L L A ] 10KV SR 2 4k 3880. 1 4763 FIFE. Xk (P 70) RE 7S, SO (FE78) /#1278, BIFS. SOl (B 75) mEFa. SOl (P 70) /#2248
1006 | EMFEEFHLH A ) 1) e 7l ik v 4 ) TOKVHU 26 K i 2k S 8980. 1 9562. 7 FAFT. R R 7O, I Rl /82 A, P FS. W T 7S i ot /61 32 A

1007 | EMEERHLHE AR FE ] 1) e 7l kv A ) 10KV 2k K i 2k 4k 7877 9562. 7 7S, P 7. T b/ 42 AR, BT, e eh R A i eh /R A

1008 | EMFEE ML A ) 1) e vl ik v 4 ) 10KV 28 K A5 2% 4k 9485. 2 9562. 7 70, T PR R A T ot /42 AR, R . e A e et A

1009 | M Eg R L HL A A ] 1 e 7l 3k v 24 ) 10KVHHT £ KI5 2% s 7650. 2 9562. 7 FAFT. R R Fe. 1 bl /82 A, P FS. W o A i vt /61 32 A

1010 | HE MR AL A A ) 1) e 7l ik v A ) 10KV 2228 KI5k 53 8258.4 9562.7 T R R FE. 1 Rl /82 A, P FS. W A i ot /61 32 A

1011 | EMEERME AR ) 1) e 7l ik v 4 ) NP2 NG o 9086. 8 8781.2 FAFT. R R Fe. 1 Rl /82 A, P FS. e o 7S i ot /61 32 A

1012 [ R A FE ] 1) e 7 ik v A ) 10KV el 26 K i 2k S 8726 8781.2 B 70, I P 7. T ok /42 AR, R, b R 7S i eh /R A

1013 [ R A ) 1 e vl kv 4 ) NG PN 2 53 9722.3 9562.7 B 7S, I PP 7. T /42 AR, R . b R 7S e eh /R A

1014 | MR AL A A ] 1 e 7l 3k v 24 ) TOKVHT XL KI5 2% 53 10289. 3 9562. 7 AT T R R 70, 1 bl /82 A, FE A, W o A i vt /61 32 A

1015 | EME AL A E T o i e 7l L 0 ] 10KV A 4328 KAk 4k 6631.4 7413 FFS. e PP TS, i Rk /82 1A, R AS. T TP T i eht /61 3R

1016 | EMFEEFHLH A ] o0 7 7 1l e P L A 10KVA FR2k914 KMtk o 8607.3 9560. 6 7S, ] R U A VAR /25 AR, P T T AR S AL T AR /1 AR

1017 | EWE AL A ] o0 i 7 1l e P AL L A ] 10KVZR 146915 K 1514k 4k 7825 8569.9 P FS. VA AR A AR/ 2 A, A T AR L A AR /15

1018 | MM A E ] o0 i 7 1l e P L A [ RIEE PN 4 9249.9 11188.7 7S, T R A VAR /25 AR, P T T AR S A T AR /1 AR

1019 | WAL A ] 0 i 7 1l e P L A L1OKVZR SR 2L KL 4 10196. 1 9560. 6 7S, T 2R A VAR /25 SRR, P . T AR S AL T AR /1 AR

1020 | EWEEFEALHE A ] o0 i 7 1l e P L A ] L1OKVZR g2k KAk 4k 8627 9560. 6 B 7S, ] R U TS VAR /25 AR, P T T AR S AL T AR /1 AR
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1021 | WAL A ] 0 i 7 1l e P L A L0KVAR 5 £ KI5t 4 7690.7 9560. 6 7S, T 2R A VAR /25 SRR, P . T AR S AL T AR /1 AR
1022 | EWEFEALHE A ] o0 i 7 1l e P L A ) 10KVAR 2k 4k 6052. 4 7153.2 7S, ] R TS VAR /25 AR, P T T AR S A T AR /1 AR
1023 | EMEERHLHE AR ] o0 7 7 117 e P AL L A ] 10kVA 7 2k924 KMt 2k o 9359.9 9560. 6 7S, ] R A VAR /25 AR, P T T AR S A T AR /1 AR
1024 | EMEERHLHE AR ] o0 i 7 1l e P AL L A ] 10KVZR K2k KAk 4k 7988.7 9560. 6 BIFS. R U B A VAR /25 SRR, P TG T AR S A T AR /1 AR
1025 | EWEFRALE A ] o0 7 7 1l e P L A TOKVZR 2 26 KAk 4k 8951 11188.7 7S, ] R U A VAR /25 AR, T T T AR S R A T AR /1 AR
1026 | EWERALE A ] o0 i 7 1l e P L A D L10KVR Fh £ KAk 2k %k 7628.5 9560. 6 P 7. R P AR AR 0/ 2 AR, WA TR AR o e L AR /15 A
1027 | EWE AL A ] o0 i 7 1l e P L A ) 10KV Fh— 2 KAk 2k %k 6997. 6 8746.9 B 7S, ] R TS VAR /25 R, T T T AR S A T AR /1 AR
1028 | EMEFEALHE A E ] o0 7 7 117 e P AL L A ] L1OKVZR L K3 4k 7595.5 8746.9 7S, ] R 0 A AR /25 AR, P T T AR S A T AR /1 AR
1029 | EMEERHLHE AR ] o0 i 7 1l e P L A ] 10KV bd — 2k K5tk S 8951 11188.7 BIFS. R U B A VAR /25 SRR, P T T AR S R AL T AR /1 AR
1030 | EM AL A ] o0 7 7 1l e P L A 10KV AR el — £ K A5k 3 8951 11188.7 7S, R U A VAR /25 AR, P T T AR S R A T AR /1 AR
1031 1) o 7 A4 HL 8 ) ] o 7 7 1 e PP A3 e 4 ) 10KV AR 2R KI5tk 53 10682. 9 11188.7 T AR 0 70, AR/ 25 A, WA, T AR AL AR /1 A
1032 | WAL A ] o0 7 7 1l e P AL L A ] 10KVZR AL — 2RIk 4 9579.8 11188.7 FIFS. ] R TS VAR /25 AR, T T T AR S AL T AR /1 AR
1033 | EMEER ML AR ] o0 7 7 117 e P L A 10KVA R 2919 KMt 2k o 7648. 5 9560. 6 7S, ] R U A VAR /25 AR, T T T AR S A T AR /1 AR
1034 | [EWEEFALHE A ] o0 i 7 1l e P AL L A ] L10KVA 5 2 K5k 4 9895.9 9560. 6 A VA AR A AR/ 24 AR, WA T AR L AR /15
1035 [ ) i 7 A4 HL 8 ) o 3 Bl ik v 4 ) 10kV="jp2k s 0 6529. 6 FIFS. =0k (1) B 7S, =Tk ((B) /#1348

1036 | EWERALE A E ] o 43¢ g L e 2 ] 10KV=AR 2k AN 0 6529. 6 7S =T ((CBlE) B 7S, =T ((B) /#1324

1037 | WAL A ] o 43¢ Bl L 2 ) 10kV="Hp%k AN 0 6529. 6 7R =0k (1) B 78, =3k ((B) /#1348

1038 I g e e v 24 ) o 5 Bl 4 ik v 4 ) 10kV=302% A 0 6529. 6 T, =0k (A B) 70, =TTk (A Be) /#1748




